

# SUTHERLAND DISTRICT CRICKET CLUB, INC. 50TH ANNUAL REPORT & BALANCE SHEET 2014 - 15

# SUTHERLAND DISTRICT CRICKET CLUB POIDEVIN-GRAY SHIELD PREMIERS 2014-15



Back row: Trent Smith, Shayne Smith, Ryan Almond, Adam Whatley, Lachlan Maddinson, Tom Doyle, Matthew Bradley (Coach) Front row: Jamie Brown, Jonathan Rose, Tom Pinson, Jack Leaning (Capt), Ben Dwarshuis, Riley Ayre, Daniel Fallins

# SUTHERLAND

# **DISTRICT CRICKET CLUB**

**INCORPORATED** 

## 50th ANNUAL REPORT

and Financial Statements

**SEASON 2014-15** 

### POIDEVIN-GRAY SHIELD PREMIERS

FIRST GRADE SEMI-FINALISTS

THIRD GRADE QUALIFYING FINALISTS
FIRST GRADE LIMITED OVERS QUARTER-FINALISTS

### NOTICE OF ANNUAL GENERAL MEETING

You are cordially invited to attend the 50th Annual General Meeting of Sutherland District Cricket Club, to be held at JD's Bar & Grill, Level 1, 1-7 Cronulla Street, Cronulla, on Sunday 12 July, 2015 at 2.00p.m.

### **BUSINESS**

- 1. To confirm the minutes of the 49th Annual General Meeting.
- 2. To receive and consider the Annual Report of the Management Committee and the Financial Statements
- 3. To elect the Patron of the Club.
- 4. To consider the following special resolution, moved by Mathew Duff and seconded by Tom Iceton,
  - "That Matthew Bradley be elected a life member of Sutherland District Cricket Club, Inc."
- 5. To consider the following special resolution, moved by Evan Atkins and seconded by Steve Rixon,
  - "That Mark Chapman be elected a life member of Sutherland District Cricket Club, Inc."
- 6. To consider the following special resolution, moved by Tom Iceton and seconded by Mathew Duff,
  - "That Phil Jaques be elected a life member of Sutherland District Cricket Club, Inc."
- 7. To elect the office-bearers of the Club and the other members of the Management Committee.
- 8. To elect one (1) delegate to the New South Wales Cricket Association.
- 9. To elect two (2) delegates to the Sydney Cricket Association.
- 10. To elect an auditor or auditors.
- 11. To present premiership caps to members of the Poidevin-Gray Shield team, Premiers for 2014-15.
- 12. To deal with any general business.

Visitors are most welcome, but please note that only playing and non-playing members who are financial as at 30 April 2015, plus life members, are eligible to vote or nominate for office.

EVAN ATKINS Secretary

17 June 2015

### **OFFICE BEARERS**

### Patron Bob Every

PresidentDeputy PresidentSteve RixonMathew Duff

SecretaryTreasurerEvan AtkinsTom Iceton

### Committeemen

Paul Burg, David Cush, Brian Hall, Bob Manning, Nathan Whittingham

Club Coach Shane Duff

### **Assistant Coaches**

Paul Burg, Adam Fleming, Daniel Rixon, Steve Rixon, Phil Weatherall

### Poidevin-Gray Shield Coach

Matthew Bradley

### A.W. Green Shield Coaches

Jack Leaning (Head coach), Daniel Rixon (Assistant coach)

### **Chairman of Selectors**

Phil Weatherall

Delegate to New South Wales Cricket Association Tom Iceton

Delegates to Sydney Cricket Association, Inc. Evan Atkins, Tom Iceton

Delegate to Sutherland Shire Cricket Association Mathew Duff

Delegate to Sutherland Shire Junior Cricket Association David Cush

Honorary Auditor Adrian Craig

**Life Members, NSWCA** John Dyson (2002), Bryan Hazell (1977), Tom Iceton (2005),

Glenn McGrath (2008), Steve Rixon (1996)

Life Members, SCA Tony Clark (2009), David Givney (2004)

Life Members, SDCC Evan Atkins (2010), Grahame Barry (1992), Merv Black (1985)\*,

Tony Clark (2002), Geoff Coleman (1998), Julia Coote (1988), Ted Cotton (2000)\*, Alan Cramond (1985), Barry Davison (1988)\*,

Bob Duff (2005), Mathew Duff (2009), David Givney (1997), Geoff Glover (1994), Bryan Hazell (1972), Tom Iceton (1988), Brett Johnson (2006), Keith Meadows (2003), Harry Peters (2006), Steve Rixon (2010), John Smythe (1972), Kevin Tuite (2002)

stove ranon (2010), somi sinjane (1972), revin

<sup>\*</sup> Deceased

### **Playing Members**

Joel Almond	Stephen Cush	Sibghat Khan	Shayne Smith
Ryan Almond	Colin D'Arcy	Steve Kourouche	Steven Smith
Mark Andersson	Rory Darkins	Jack Leaning	Trent Smith
James Arnold	Scott Dawes	Nathan Loder	Ryan Thomson
Riley Ayre	Tom Doyle	Dylan Lowy	Shaun Thornton
James Bills	Pat Driscoll	Lachlan Maddinson	Will Vandermaal
Joel Brockley	Ben Dwarshuis	Ryan Maguire	Alex Watkiss
Kyle Brockley	Angus Fallins	Devlin Malone	Hayden Watson
Jamie Brown	Daniel Fallins	Steve Milliken	Shane Watson
Jayden Brown	Nathan Fitzgerald	Scott Pickering	Callum Weatherall
Kurt Brown	David Givney	Tom Pinson	Adam Whatley
Mitch Brown	Hunter Gregory	Daniel Rixon	Nathan Whittingham
Matthew Burg	Josh Horner	Jonathan Rose	Ben Williams
Joel Burnett	James Hoy	Peter Saroukos	Chris Williams
Patrick Burns	Matthew Hughston	Nick Sharman	Matt Wright
Liam Casey	Mitchell Johnson	Dylan Smith	Joshua Zywietz

### **Non-Playing Members**

Glen Bailey	Ian Everett	Jason Holley	Mark Preddey
Paul Bourke	Bob Every	Ken Hudson	Craig Rice
Ray Brennan	Paul Fisher	Kevin Humphreys	Kerry Richards
Paul Burg	Adam Fleming	Stuart Jaques	David Russell
Peter Carpenter	John Fleming	Peter Jeffery	Gordon Shrubsole
Mark Chapman	Bevan Gardner	Lindsay Joyce	Peter Smith
Col Christie	Stan Gilchrist	Bob Manning	Brian Stephen
Graham Chudleigh	Ron Gray	Graeme Marston	Paul Venn
Adrian Craig	Lisa Griffiths	Bob Mills	Graham Warry
David Cush	Brian Hall	Ian Napper	Phil Weatherall
David Dillon	Jamie Hall	Ken Newman	Rod Whatley
Shane Duff	Blake Hard	Matthew O'Brien	Trent Woodhill
Graham Earley	Sid Harris	Tony Parker (dec'd)	Jason Young

### **Cadet Members**

Nick Amos	Jack Dwarshuis	Alex Lee	Troy Whittaker
Elijah Bagnall	Nathan Harvey	Harry Tattersall	
Tom Derrick	Dylan Koprivec	Austin Waugh	

### NOMINATION OF MATTHEW BRADLEY FOR LIFE MEMBERSHIP

Matthew Bradley joined Sutherland in 1991-92, when he played five matches in AW Green Shield. The following season, he was captain of the AW Green Shield team that won the premiership. He also played a full season of grade cricket, split between 4th and 5th Grades, scoring 558 runs. Combined with his 320 runs in AW Green Shield, his overall season aggregate was 878 runs – at the time, the fourth highest in the Club's history. He moved quickly through the grades, scoring his first century for the Club in 3rds in 1993-94 and finishing the season in 2nds, while also playing Poidevin-Gray Shield. In 1994-95, he scored his first century in 2nds and made his 1st Grade debut on 4th February 1995 – player #172.

In the Club's breakthrough season in 1995-96, Matthew played part of the season in 1st Grade before finishing the season as a member of the 2nd Grade premiership team. The following season, he bounced back with 544 runs at 68.0 in winning his second premiership in 2nds, whilst also scoring 170 runs in 1sts, 166 in L/O and 165 in P-Gs – a total of 997 runs. This included a century in the L/O semi-final, two in 2nds and one in P-Gs. In 1997-98, he was a member of our second 1st Grade premiership team, scoring 612 runs.

On 9th October 1999, Matthew scored the then club record score of 212 not out in 1st Grade, breaking the Club's 1st Grade record score of 168 that had been set by Norm O'Neill in the Club's first match in 1965. It was also at the time the Club's highest score in any grade. He continued to be a prominent member of the 1st Grade team and played in the premiership 1st Grade Limited Overs team in 2002-03. He had a season off in 2005-06 through work commitments and then returned to be a member of the premiership 3rd Grade team in 2006-07. This resulted in a return to the top grade in 2007-08, followed by his best season in 1sts the following season when he scored 780 runs. His performances this season resulted in him winning the Ted Cotton Memorial Award for Players' Player of the Year. In 2009-10, he won his second 1st Grade Limited Overs premiership and played in the 1st Grade final when we were defeated by St.George. He announced his retirement after the final, but made two cameo appearances the following season to help out when we were short – scoring centuries both times in 3rds and 5ths.

In all grades for the Club, Matthew played 341 matches (the fifth most for the Club) and scored 10723 runs (third highest career aggregate) at an average of 30.7 including 17 centuries. He also took 166 catches in all grades (second most for the Club). In 1st Grade, he played 205 matches (third most for the Club) and scored 6085 runs (fourth highest career aggregate) at an average of 27.4, with 8 centuries. He captained the Club in 41 matches, including 15 in 1st Grade. He played in 7 premiership teams and was part of the Club Championships in 1997-98 and 2001-02.

Matthew played for NSW Under 17s in 1993-94 and was selected in the Australian Development Squad at the end of the Australian Championships. In 1995-96, he played for NSW Under 19s and then Australia Under 19s (where his teammates included Brad Haddin and Chris Rogers, among others). He played for NSW Colts for three seasons, from 1995-96 to 1997-98.

When the Imparja Cup for indigenous players came into prominence in the early 2000s, Matthew played for NSW and was named as captain of the ATSIC Chairman's XI that played the Prime Minister's XI at the end of the 2001-02 and 2002-03 seasons, top scoring on each occasion with 74\* and 83. These performances led to him being selected for the Prime Minister's XI that played England in 2002-03 and India in 2003-04.

As a coach, Matthew had minor specialist roles in 2007-08 and 2008-09 and was then assistant club coach in 2010-11 and 2011-12. He coached the AW Green Shield team for four seasons from 2009-10 to 2012-13, making the finals each season and culminating in an appearance in the final in the last season. He also coached the Poidevin-Gray Shield team to premierships in 2011-12 and the season just finished, while the other season he was P-Gs coach, 2012-13, we lost in the quarter-final.

Matthew also served on the management committee for one year in 2007-08.

Matthew's contribution to Sutherland DCC over a period of 24 years as a player, captain, coach and committeeman has been considerable. He is a most worthy candidate for life membership of the Club and I am delighted to nominate him. He deserves your unanimous support.

**MATHEW DUFF** 

### NOMINATION OF MARK CHAPMAN FOR LIFE MEMBERSHIP

Mark Chapman first played for Sutherland in AW Green Shield in 1980-81 and played a couple of matches in 4th Grade at the end of the season. The following season, he started in 5ths and scored his only century, a magnificent innings of 125. He played the rest of the season in 4ths, taking 20 wickets with his left arm spinners. 1982-83 was another season of mostly 4ths, but then he was on his way up the grades, playing 3rds, then 2nds in 1983-84 and making his 1st Grade on 19th January 1985. He played the next 8 seasons exclusively in 1st Grade, taking 248 wickets in that time. These performances earned him selection in the NSW 2nd XI in 1986-87 and NSW Colts in 1986-87 and 1987-88. His best season was in 1990-91, when he took 43 wickets at 21.3

Mark lost a bit of form in 1993-94 and he was dropped to 2nds towards the end of the season. However, he bounced back and played the full season in 1sts in 1994-95, taking 27 wickets. This was to be his last full season, as business commitments forced him to retire after two matches in 1995-96, thus missing out on the chance to be a part of what turned out to be out first 1st Grade premiership.

In all matches for Sutherland, Mark played 257 matches and took 428 wickets at an average of 25.4. He also scored 2662 runs at an average of 17.5 and took 100 catches. In 1st Grade, he played 158 matches and took 296 wickets at 26.4, the most by a slow bowler in 1st Grade. He also scored 1344 runs at 16.2. He captained 1st Grade for 3 matches in 1987-88. His playing record was recognised when he was named as the spin bowler in the "Best Team of the Half Century" at the 50th Anniversary Dinner in March.

Mark served as spin bowling coach for five seasons, from 2009-10 to 2013-14. He also served on the management committee for a total of 12 years. He was a committeeman from 1989-90 to 1993-94 and from 2002-03 to 2005-06. In 2006-07, he took over as Secretary and held this position for three years until 2008-09. He was also a delegate to the Sydney Cricket Association for two years from 1990-91 to 1991-92.

Mark's contributions to Sutherland DCC over a 35 year period has been immense. He played for the Club for 16 consecutive seasons and he coached for five seasons. His 12 years on the management committee is the equal ninth longest period served in the Club's 50 year history.

I am proud to have been a friend and teammate of his over that time and I believe that he is a very worthy candidate for life membership. I strongly commend his nomination to you and ask that you give it your unanimous support.

**EVAN ATKINS** 

### NOMINATION OF PHIL JAQUES FOR LIFE MEMBERSHIP

Phil Jaques joined Sutherland from Wollongong in 1996-97, having played for NSW Under 17s the previous season. He was selected in 2nd Grade and was immediately successful, scoring 593 runs at 37.1. He also scored a century in his first season of Poidevin-Gray Shield. He made his 1st Grade debut on 4th October 1997, but struggled early on and was dropped back to 2nds. He showed what he was made of, responding with a score of 208 just before Christmas and that was the last time he was seen in 2nds. Over the next five seasons from 1998-99, his season aggregates in 1st Grade were 788, 775, 548, 717 and 902 (3730 runs at 41.0), as he first reached Sheffield Shield selection for NSW and then established himself as a regular member of the team.

Once Phil was an established member of the NSW team, his first grade appearances became less frequent. However, he certainly made the most of them, scoring 2342 runs at 66.9 from 2003-04 to 2006-07 with 9 centuries. This included the memorable day at North Sydney Oval on 3rd February 2007, when Phil scaled heights only once seen before in the history of Sydney grade cricket. He pulverised the North Sydney attack in amassing 321 runs off 257 balls, with 31 fours and 12 sixes. The only score above this on the list of highest scores in grade cricket is 335 by the legendary Victor Trumper in 1902-03. At the time, he had a four innings sequence for us of 183\*, 23, 131 & 321 – 658 runs at 219.3.

Having made his Test debut for Australia in 2005-06, Phil became a regular member of the side in 2007-08, playing 6 Tests against Sri Lanka & India and scoring 561 runs at 56.1, with 2 centuries & 4 half-centuries. He then toured West Indies where he played all 3 Tests, scoring 245 runs at 40.83 including a century in his last innings. He subsequently suffered a debilitating back injury on the tour of India at the start of the 2008-09 season, which saw the end of his all too brief Test career. In 11 Tests, he had scored 902 runs at an average of 47.47 with 3 centuries.

After undergoing back surgery, Phil was faced with a long, arduous rehabilitation period. Whilst he was unable to pick up a bat in anger, he spent this time working with our batsmen in all grades in the old practice nets, helping to refine techniques and approaches to building an innings. This was done without fanfare or recompense and resulted in Phil being awarded the Club Person of the Year Award at the 2009 presentation night.

In 2009-10, Phil fought his way back into the NSW team on the back of an outstanding season for us, scoring 766 runs at 85.1. He continued to play 1st Grade until his retirement at the end of the 2013-14 season. His final 1st Grade career record stands at 203 matches (fifth highest) and 9383 runs (most for the Club) at an average of 45.8, with 22 centuries. He also took 112 catches in 1sts (most for the Club). He has also scored the most runs for the Club in Poidevin-Gray Shield, with 1027 run at 46.7, including the record score for P-Gs of 170\*.

In all grades, he played 258 matches and scored 11512 runs (second most) at an average of 45.3, with 25 centuries. He captained the Club in 57 matches, including 40 in 1sts. He was a member of premiership teams in 1st Grade in 1997-98, 1st Grade Limited Overs in 2002-03 & 2009-10 and 2nd Grade in 1996-97.

Phil made his debut for NSW in 2000-01, batting at number 10 due to a late call-up on the morning of the match and making an urgent flight to Brisbane, where he arrived in the lunch break with NSW in trouble at 8/70. He scored 40 in difficult circumstances and went on to have a magnificent first class career. He played 200 first class matches, scoring 16035 runs at an average of 48.30, with 8 double centuries and 36 centuries. This included 106 matches in county cricket over nine seasons, where he took advantage of his British passport to play for Northamptonshire, Yorkshire, Worcestershire and Nottinghamshire.

Phil was Club Coach in his last two seasons with the Club in 2012-13 & 2013-14. He gave the job total commitment and was subsequently appointed as an assistant coach of the NSW team plus coach of the NSW Under 17s in 2014-15. He has recently been appointed as Head Coach of Queensland for the next three seasons.

Phil's contribution to Sutherland DCC has been tremendous. He is the best performed batsman in our 1st Grade history, recognised by his selection in the "Best Team of the Half Century" at the 50th Anniversary Dinner. More than that though, he always made himself available to play 1st Grade whenever possible, even though other NSW players declined the opportunity to play for their clubs due to their first class workload. He also withstood offers from other clubs early in his career to stay with Sutherland. His efforts as Club Coach were much appreciated, as was his voluntary assistance during his injury recuperation period. It gives me much pleasure to nominate Phil for life membership of Sutherland DCC and I urge you to give him your unanimous support.

**TOM ICETON** 

### To the members of SUTHERLAND DISTRICT CRICKET CLUB, INC.

The Management Committee has much pleasure in presenting for your consideration and adoption the Fiftieth Annual Report and Financial Statements.

### **SEASON SUMMARY**

The highlight of the club's 50th season was winning its second Poidevin-Gray Shield premiership in four seasons with a dominating series, well led by Jack Leaning and coached by Matthew Bradley. Jamie Brown had a superb all-round season with 470 runs and 13 wickets and he thoroughly deserved the Margaret Mann Award. Nathan Fitzgerald and the first grade team had a successful campaign, making it to the semi-final and being beaten by the strong Manly team. Mitch Brown had a strong season and was the eventual winner of the James A Daly Award. Nathan Fitzgerald was again the leading wicket taker in his first season as captain and experienced performer Matt Hughston had a good season with the bat. It is probably fair to say that when the teams were announced at the start of the season, firsts on paper looked a solid outfit but they genuinely out performed this year, winning several close matches which is a positive sign for coming seasons. We are fortunate to have depth in our spinning department and, together with an experienced core, we should hopefully see some consistent performances in the coming seasons.

Second grade would be disappointed finishing in the bottom half of the table but skipper Nathan Whittingham will be better for the experience next season. Third grade performed well and made it to the qualifying final and were beaten by Penrith. Good seasons from Joel Burnett with the bat and Pat Burns with the ball, skipper Kurt Brown should be pleased with his side's performance throughout the season.

Matt Burg's young fourth grade team gained valuable experience this season and did well to win six games. There were some positive signs from the young side and they will look to improve next season. Fifth grade also lacked experience and finished at the bottom of the table – notwithstanding the efforts of Steve Kourouche as skipper. The players who have now finished boys cricket experienced grade cricket for the first time and will benefit now from their first season experience.

This year, our AW Green Shield team won three out of seven matches played and there was some pleasing signs as the season progressed. We have had a good record in recent seasons in this competition and, whilst this season was average in terms of games won, it is imperative these players get a good introduction to grade cricket and a taste of what they can expect in grade cricket. The side was coached by Jack Leaning and managed by Mark Vandermaal.

Off the field, the highlights of the club's 50th season were the Golf Day held at Woolooware Golf Club on 14 November (with 123 players including 70 current or former players), the Player Reunion Day at GMO the following day (with Nathan Fitzgerald taking 9-102 for an exciting 11 run win over Sydney) and the 50th Anniversary Dinner at Doltone House on 6 March. The dinner was attended by about 400 people, with Alan Jones as Master of Ceremonies and Michael Clarke as special guest. Steve Smith and Shane Watson were also popular guests, while Stan Gilchrist and Brian Booth provided an historical perspective of the club's first match in September 1965. At the end of the night, the "Team of the Half Century" was announced, with team members being presented with specially commissioned honour caps. Norm O'Neill and Ted Cotton were represented by their daughters Kristen Davidson and Lisa Griffiths, while Andrew Hilditch and Glenn McGrath were unable to attend. Full details of the team are set out elsewhere in the annual report.

### **TEAM POSITIONS**

	2014-15	2013-14	2012-13	2011-12	2010-11
Club Championship	9th	5th	3rd	3rd	10th
First Grade	3rd	9th	2nd	11 <b>th</b>	11th
Second Grade	15th	17th	8th	7th	17th
Third Grade	5th	5th	3rd	<b>PREMIERS</b>	4th
Fourth Grade	11 <b>th</b>	3rd	10th	<b>PREMIERS</b>	9th
Fifth Grade	20th	3rd	19th	3rd	13th
Poidevin-Gray Shield	<b>PREMIERS</b>	5th	5th	<b>PREMIERS</b>	9th
A.W.Green Shield	13th	2nd	2nd	4th	6th

### **MILESTONES**

A number of notable career milestones were achieved this season:-

Matthew Hughston	300 matches in all Grades	(12th player to do so)
Daniel Rixon	250 matches in all Grades	(21st player to do so)
Joel Burnett	250 matches in all Grades	(22nd player to do so)
Nathan Fitzgerald	200 matches in all Grades	(43rd player to do so)
Daniel Rixon	200 matches in 1st Grade	(5th player to do so)
Josh Zywietz	100 matches in 3rd Grade	(6th player to do so)
Joel Burnett	6000 runs in all Grades	(24th player to do so)
Matthew Hughston	6000 runs in 1st Grade	(6th player to do so)
Matthew Hughston	2000 runs in 1st Grade Limited Overs	(2nd player to do so)
Nathan Fitzgerald	400 wickets in all Grades	(9th player to do so)
Nathan Whittingham	250 wickets in all Grades	(30th player to do so)
James Bills	250 wickets in all Grades	(31st player to do so)
Scott Dawes	250 wickets in all Grades	(32nd player to do so)
Daniel Rixon	450 wicketkeeping dismissals in all Grades	(1st player to do so)
Daniel Rixon	400 wicketkeeping dismissals in 1st Grade	(1st player to do so)

Congratulations to all players on these outstanding achievements.

### **CLUB RECORDS**

There were four Club Records broken during the season:

Jamie Brown	470 runs in Poidevin-Gray Shield	(Poidevin-Gray Shield Record)
	) 103 for 6th wicket partnership vs Sydney University (Round 10)	(1st Grade L/O Record)
Joel Brockley ) Jamie Brown )	105 for 7th wicket partnership vs Mosman (Round 3)	(1st Grade T20 Record)
Jamie Brown ) Jonathan Rose )	134 for 5th wicket partnership vs North Sydney (Round 5)	(Poidevin-Gray Shield Record)

### NORM O'NEILL CUP

Following the passing of Norm O'Neill towards the end of the 2007-08 season, Sutherland and St.George resolved to play for the Norm O'Neill Cup each season in first grade matches only (excluding finals). In addition, it was decided that the player of the match would be awarded the Norm O'Neill Medal, with the decision made by the umpires.

This season, we played St.George in a limited overs match at Hurstville Oval in the last game before Christmas. Chasing St George's 9/245, Riley Ayre hit a six off the second last ball of the match, taking us to 7/251, so the cup is now proudly on display in the clubhouse.

### **COACHING AND PRACTICE FACILITIES**

This season, Shane Duff was appointed head coach with Daniel Rixon as assistant. Paul Burg and Adam Fleming were the specialist bowling coaches, while Steve Rixon assisted whenever he was available. We are fortunate to have former players filling coaching roles within the club; it helps build a good culture and the experience they pass on is invaluable. Again this season, Bob Duff and David Cush carried out the important role as net co-ordinators ensuring smooth, well planned sessions. Matthew Bradley coached the Poidevin-Gray Shield team, while Jack Leaning coached the AW Green Shield team.

The nets at Glenn McGrath were again top class with Peter O'Hara and Nathan Varley diligent in their preparation of practice pitches, ensuring that they remain true and consistent.

### REPRESENTATIVE PLAYERS

Steven Smith – Australia (Tests, ODI & T20I)

Shane Watson – Australia (Tests, ODI & T20I), NSW Ben Dwarshuis – Sydney Sixers, NSW Futures League Riley Ayre – Australia Under 19, NSW Under 19

Daniel Fallins – NSW Under 19 Jonathan Rose – NSW Under 19 Devlin Malone – NSW Under 17

### **Steve Smith**

Steve had an amazing season for Australia. He was appointed the 45th Australian Test captain when Michael Clarke was ruled out of the last three Tests of the series against India. He won the Allan Border Medal, the Test Player of the Year and the One Day International Player of the Year (only the third time that a player has won all three major awards in the one year. He finished the Test series in the West Indies as the world's best Test batsman in the ICC rankings. He scored centuries in each of his first three Tests as captain, only the second player after Alastair Cook to have done so. He became the first player for any country to score centuries in his first Test and first ODI as captain, when he scored 102\* against England at Bellerive. His scores in the Test series against India were 162\* & 52\*, 133 & 28, 192 & 14 and 117 & 71 - an aggregate of 769 at an average of 128.17. This is the highest aggregate in a four Test series in Test history and he is the second player after Jacques Kallis to score centuries in each match of a four Test series. He won the Player of the Match award in 3 of the 8 Tests played during the season. He won the Player of the Match award in 4 of the 20 ODIs that he played. He was Player of the Series in the Test series against India, the ODI series against South Africa and the ODI tri-series with England & India. He hit the winning runs in the World Cup final against New Zealand at the MCG (with Shane Watson at the other end) and was subsequently named in the ICC Team of the World Cup.

In summary, Steve played 8 Tests, scoring 1226 runs at an average of 102.16 with 5 centuries and 5 half centuries, and 20 one day internationals, scoring 1072 runs at an average of 71.47 with 4 centuries and 7 half centuries.

### Shane Watson

Shane had another mixed season for Australia after starting the season late due to an injury sustained in the IPL. He played 6 Tests for 274 runs at 27.40 and 14 ODIs for 430 runs at 35.83. After being dropped for a match in the World Cup, he bounced back with a couple of crucial innings in the latter stages of the Cup and was at the non-striker's end when Steve Smith hit the winning runs in the final.

### Ben Dwarshuis

Ben made his senior representative debut when he played three matches in the Big Bash League for the Sydney Sixers. He took 4 wickets at an average of 23.75 and bowled quite impressively in a tough form of the game for bowlers. He has subsequently been awarded a full State contract in the NSW contract list for 2015-16.

### **SOCIAL MEDIA**

This season we continued weekly updates and communication via the website and the Team App, but we also introduced a Facebook page and started using Twitter to keep our digital platforms up to date. More communication is being done through social media and there is a strong expectation from sponsors that clubs now project themselves into social media. The various addresses are as follows:

Website – www.sutherlanddcc.com Facebook – www.facebook.com/sutherlanddcc Twitter – @sutherlanddcc

### SUTHERLAND SHIRE COUNCIL

The Club is grateful to Council for its continued efforts in maintaining the three grounds we play on. We would like to thank each groundsman – Peter O'Hara, Nathan Varley and Gary Webster – for their preparedness to improve each ground and in particular for their efforts to enable us to be able to play when rain intervened.

We would particularly like to thank John Rayner (General Manager), Stephen Bourke (Director, Community & Recreation), Brad Whittaker (Manager, Active Communities), Grant Willoughby (Manager, Parks Operations), Kirin Lindop (Sport & Recreation Project Officer) and Daniel Ristic & Emi Skopal (Sport & Recreation Officers) for all their assistance throughout the season.

### NSWCA, SCA and NSWCUA

The Club is once again grateful to the staff of Cricket NSW for their guidance and assistance throughout the season. Roy Formica (SCA Competitions Manager) and Bruce Whitehouse (SCA Secretary) in particular were always available to assist us as required and are always looking for ways to improve the competition and standard of grade cricket in Sydney. This season was the second season under the leadership of John Warn (Chairman of CNSW) and Andrew Jones (CEO), resulting in another very successful season for NSW.

We are also most appreciative of the efforts of the NSW Cricket Umpires & Scorers Association who officiate in our matches each week. The standard remained high throughout the season and we appreciated the feedback they gave us.

### **DELEGATES TO NSWCA AND SCA**

The Club's delegate to the NSWCA was Tom Iceton, while the delegates to the SCA were Evan Atkins and Tom Iceton. This was Tom's 31st year as a club delegate to NSWCA/SCA – covering 26 years as a club delegate to NSWCA and 29 years as a club delegate to SCA. Tom continued to be one of only three club delegates to the SCA who have been delegates for all of the 29 years that the SCA has been in existence (the others being Doug Cole from North Sydney and Ron Wright from Parramatta). It was Evan's fourth year as a delegate to SCA. In addition, Evan served his second year on the SCA Committee of Management. Ray Brennan also served his 14th season as Chairman of the AW Green Shield Selection Sub-committee.

### THE LOCAL ASSOCIATIONS

The Club appreciates and acknowledges the work done by the Sutherland Shire Cricket Association (President Noel Taplin and Secretary Mike Mooney) and the Sutherland Shire Junior Association (President Roy Amos and Secretary Brett Bryant). We enjoy good relationships with both of these local associations and they continue to be a good source of players for the Club.

The Club continues to be focussed on providing pathways to local players and juniors into grade ranks and beyond. The trials are advertised on the website and through the local associations and we support and encourage as many shire cricketers to attend as possible.

Mat Duff was the delegate to the SSCA and David Cush to the SSJCA.

### **SPONSORSHIP**

We are again very appreciative of all the sponsors that support our Club – without your support we would not be able to provide the level of facilities and support to cricket in the Shire as we do.

Sutherland Mazda were again our principal sponsor, with their logo on the front of all playing, training and casual shirts. This continues to reflect a great relationship that has developed over the past 9 years and the fact that club members, family and friends have continued to actively support their business. We are most grateful to Phillip Diab (Dealer Principal) and Peter Fattore (Financial Controller) from McGraths and Grahame Earley (Mazda Australia) for their ongoing support.

Sutherland District Trade Union Club ("Tradies") continued to be a major sponsor, being sponsors of both our Poidevin-Gray Shield and AW Green Shield teams. This was the 10th year that Tradies have been a sponsor. Their ongoing support of the development of elite youth cricket is most appreciated and we look forward to their continued support.

Coles Supermarkets continued as a sleeve sponsor this season. We are grateful for the assistance of Bob Every. This was the fourth year that Coles have been a sponsor.

Rydges Cronulla and JD's Bar & Grill Cronulla continued as sponsors of the club this year. Former SDCC player Bob Mills also continued as a sponsor through Torquay Hotel Hervey Bay, while current player Nathan Fitzgerald continued as a minor sponsor through TLE Menai. This season, we also had new sponsors in Lanham Financial Advisory (through Peter Lanham) and Taren Point Hotel (through licensee Stephen Cush).

Again we thank all our sponsors and ask that all club members support their businesses as they support your club.

### **OBITUARIES**

The following people connected with the Club passed away during the year:

### Fred Barry (message posted on website 26 June)

It is with deep regret that we advise of the passing of Fred Barry, father of life member Grahame Barry, on Tuesday, aged 90. Fred had been unwell for some time. To Grahame, his mother Jocelyn and his brothers & sisters, we extend our sincere condolences.

### **Bob Green** (message posted on website 20 July)

The Club reports with regret the passing of former lower grade player Bob Green last Friday morning, after a long battle with illness. Bob played for the Club in our first season, 1965-66, playing 1 match in 2nds and 14 in 3rds. He was the leading run-scorer in 3rds with 362 runs at an average of 25.86, including two scores of 63. He also took 14 catches as wicket-keeper and 4 catches in the field. We extend our sincere condolences to Bob's family.

### **Tony Parker**

Tony passed away on 8th April after a long battle with illness. He had been a non-playing member of the Club since 2004-05, when Matt came back to play for us. During the three seasons that Matt played 2nd Grade, Tony was a great help around the team helping with whatever needed to be done off the field. He was a great support to Matt during his grade career with Randwick and Sutherland, summed up by Matt's final comment in his 2nd Grade report in 2006-07 when he was retiring:

Last but not least to my father for all of his time, effort and support over my 16 years over grade cricket. Thanks Dad.

We extend our sincere condolences to Matt and his family.

### TED COTTON MEMORIAL AWARD FOR PLAYERS' PLAYER OF THE YEAR

This award was inaugurated by the Management Committee in 2001-02. It perpetuates the memory of Ted Cotton, a life member of the Club who passed away in March 2002. It is voted on by each team after each round, on a 3-2-1 basis.

This season, Mitch Brown won the award comfortably, scoring three points in the last round to win by four points. Joel Burnett, Dylan Smith and Shayne Smith finished equal second.

Previous winners of the Award are listed in the Records section of the Annual Report.

The full pointscore for 2014-15 is as follows:

- 20 Mitch Brown
- 16 Joel Burnett, Dylan Smith, Shayne Smith
- 14 Angus Fallins, Alex Watkiss
- 13 Scott Dawes, Matthew Hughston
- 12 Ryan Almond, James Arnold
- 11 Lachlan Maddinson, Devlin Malone
- 10 Alex Clegg, Ben Dwarshuis, Will Vandermaal, Hayden Watson, Matt Wright
- 9 Jayden Brown, Nathan Fitzgerald, Dylan Lowy, Steven Milliken, Ryan Thomson
- 8 Daniel Fallins, Jack Leaning, Trent Smith, Adam Whatley
- Joel Almond, Tom Doyle, Josh Horner, Scott Pickering, Jonathan Rose, Peter Saroukos
- 6 Mark Andersson, Joel Brockley, Rory Darkins, Mitchell Johnson, Chris Macnamara, Josh Zywietz
- 5 Kurt Brown, James Hoy, Nathan Loder, Tom Pinson
- 4 Jamie Brown, Pat Burns, Pat Driscoll, Daniel Rixon, Chris Williams
- 3 Liam Casey, Grant Davies, Adam Fleming, Will Fraine, Steve Kourouche, Phil Weatherall, Nathan Whittingham
- Riley Ayre, James Bills, Matthew Burg, Sibghat Khan, Shaun Thornton, Callum Weatherall
- Colin D'Arcy, Hunter Gregory, Oliver Selby, Ben Williams

### JAMES A. DALY MEMORIAL AWARD

This Award was inaugurated in 1974-75 by the Management Committee to commemorate the work performed for Sutherland Shire cricket by the late Jim Daly. The Award is conducted during the regular season only (i.e. excluding performances in semi-finals and finals, plus first grade limited overs matches played on Sundays) – points are awarded for runs, wickets, catches and stumpings. The points system is on a sliding scale, to give more reward for better performances. For example, 50 runs scores 55 points, while 100 runs scores 115 points. Similarly, three wickets scores 45 points, while six wickets scores 120 points.

This year's winner was Mitch Brown, who scored 870 points, from Shayne Smith in second place on 810 points, while Alex Watkiss was third on 742.

Previous winners of the Award are listed in the Records section of the Annual Report.

The full pointscore for 2014-15 is as follows:

870	Mitch Brown	415	Mitchell Johnson	240	Shaun Thornton
810	Shayne Smith	404	Joel Almond	238	Colin D'Arcy
742	Alex Watkiss	403	Alex Clegg	215	Pat Driscoll
735	Dylan Smith	397	Dylan Lowy	211	Hunter Gregory
674	Ben Dwarshuis	395	Mark Andersson	168	Callum Weatherall
643	Joel Burnett	395	Steve Kourouche	136	Chris Macnamara
634	Nathan Fitzgerald	394	Rory Darkins	135	Ryan Maguire
609	Lachlan Maddinson	390	Devlin Malone	102	Grant Davies
603	Matthew Hughston	385	Peter Saroukos	99	Adam Fleming
598	Jonathan Rose	380	Matt Wright	84	Stephen Cush
593	Ryan Almomd	375	Pat Burns	83	Kyle Brockley
575	Daniel Rixon	366	Matthew Burg	73	Phil Weatherall
563	Jack Leaning	361	Nathan Whittingham	70	Liam Casey
561	Will Vandermaal	359	Sibghat Khan	69	Oliver Selby
543	Adam Whatley	354	Steven Milliken	48	Ben Williams
540	Hayden Watson	343	Scott Pickering	47	Steve Smith
513	Scott Dawes	330	Will Fraine	38	Nick Sharman
510	James Arnold	324	Tom Pinson	18	Ed Adcock
508	Chris Williams	323	Josh Zywietz	15	Mason Neale
482	Angus Fallins	319	Joel Brockley	14	Brendan Drury
481	Daniel Fallins	304	Nathan Loder	1	David Givney
462	Jamie Brown	294	Ryan Thomson	1	Jordan Wilson
457	Jayden Brown	290	Josh Horner	0	Elijah Bagnall
439	Trent Smith	<b>28</b> 2	Kurt Brown	0	Austin Waugh
431	Tom Doyle	260	James Hoy		
416	James Bills	251	Riley Ayre		

### MARGARET MANN MEMORIAL AWARD

This Award was donated in 1994-95 by Claude Mann in memory of his late wife Margaret. The Award is for the Under 21 Player of the Year, based on performances in Grade and Poidevin-Gray Shield matches (excluding the matches referred to above). The points system is the same as that used for the James A. Daly Memorial Award.

The winner of this season's Award was Jamie Brown, after a dominant Poidevin-Gray Shield performance, on 1272 points, with Adam Whatley in second place on 1018 points and Jack Leaning third on 962 points.

Previous winners of the Award are listed in the Records section of the Annual Report.

The full pointscore for 2014-15 is as follows:

1272	Jamie Brown	482	Angus Fallins	240	Shaun Thornton
1018	Adam Whatley	457	Jayden Brown	238	Colin D'Arcy
962	Jack Leaning	415	Mitchell Johnson	215	Pat Driscoll
950	Ben Dwarshuis	404	Joel Almond	211	Hunter Gregory
918	Jonathan Rose	403	Alex Clegg	1 <b>68</b>	Callum Weatherall
888	Shayne Smith	397	Dylan Lowy	145	Ryan Maguire
742	Alex Watkiss	390	Devlin Malone	83	Kyle Brockley
722	Lachlan Maddinson	380	Matt Wright	69	Oliver Selby
642	Daniel Fallins	359	Sibghat Khan	48	Ben Williams
621	Tom Doyle	354	Steven Milliken	15	Mason Neale
599	Trent Smith	330	Riley Ayre	14	Brendan Drury
598	Ryan Almond	330	Will Fraine	1	Jordan Wilson
561	Will Vandermaal	294	Ryan Thomson	0	Elijah Bagnall
540	Tom Pinson	290	Josh Horner	0	Austin Waugh
510	James Arnold	260	James Hoy		-

### KEN GARDNER MEMORIAL AWARD

This Award was donated in 1995-96 by the Gardner family in memory of the late Ken Gardner and the work he did for junior cricket in the Shire. The Award is for the Under 16 Player of the Year, based on performances in A.W. Green Shield matches. The points system is the same as that used for the James A. Daly Memorial Award.

This year's Award was won by James Arnold, with Harry Tattersall in second place and Troy Whittaker third.

Previous winners of the Award are listed in the Records section of the Annual Report.

The full pointscore for 2014-15 is as follows:

340	James Arnold	176	Callum Weatherall	72	Nick Amos
242	Harry Tattersall	157	Elijah Bagnall	35	Austin Waugh
241	Troy Whittaker	109	Dylan Koprivec	31	Nathan Harvey
189	Will Vandermaal	105	Jack Dwarshuis	20	Tom Derrick
183	Alev Lee	103	Mitchell Johnson		

### **BOB EVERY ENCOURAGEMENT AWARD**

The Bob Every Encouragement Award was introduced in 2007-08, following an offer from Bob Every (1st Grade player #22), with the recipient each year to receive \$1,000 from Bob. The award is decided by the Committee in conjunction with Bob. Factors to be taken into account include on-field performance, training attendance, involvement in off-field activities and any study or career development that the player may be undertaking.

Previous winners of the Award are listed in the Records section of the Annual Report.

After taking all of these factors into account, the Committee and Bob agreed that this year's winner of the Bob Every Encouragement Award would be Jamie Brown.

### TOM ICETON CLUB PERSON OF THE YEAR AWARD

This award is determined by secret ballot election involving all Committee members. It is open to all players, volunteers, non-playing members and life members, being the Club's presentation for outstanding work other than the usual playing or administrative duties. Previous winners are listed in the records section of the Annual Report.

This year's winner was Sue Whatley, for helping with lunches and afternoon teas at 1st Grade and Poidevin-Gray Shield matches throughout the season, plus helping with the 1st Grade Limited Overs final which we hosted at GMO.

Other nominations for the award this year were Allison Brockley, Tracey Doyle, Brad Loder, Lee Prescott, Kylie Smith and Phil Weatherall.

For and on behalf of the Committee of Management EVAN ATKINS, Secretary

### DAVID GIVNEY - THE END OF AN ERA

The following items were posted on the club website during the season:

### 16th December – Two Significant Anniversaries

On Monday 16th December, 1974, Sutherland played Penrith at Howell Oval in round 1 of the 1974-75 AW Green Shield competition.

Sutherland batted first and declared at 0/241 off 38.3 overs (8 ball overs). The two Sutherland batsmen were Ken Hudson (151no) and Peter McMahon (81no). The rest of the batting order as listed in the scorebook was Robert Aldous, John Wagner (capt), Dean Ferguson, Steve Jones, Bruce Booker, David Ritchie, Robert Richardson, Peter Noakes & David Givney (w/k).

In reply, Penrith finished the day on 5/133 off 57 overs. The wicket-takers were Bruce Booker (1-28), Robert Richardson (1-18), David Ritchie (1-14), Peter McMahon (1-5) & John Wagner (1-19). David Givney took one catch as wicket-keeper.

This was David Givney's debut match for Sutherland DCC. Today therefore marks the 40th anniversary of Doc's debut for SDCC. It is also the 40th season in which Doc has played at least one match for SDCC – he missed all of 1981-82 and most of 1982-83 while he was completing his medical residency in Armidale, returning in time to play the last match of 1982-83. Round 5 was his 525th match in all grades for the Club.

On Saturday 16th December, 1989, Glenn McGrath made his first grade debut for SDCC – thus today is also the 25th anniversary of Millard's first grade debut. This is what Colin Clowes, the CNSW librarian, sent to me:

Back in 1989, 16th December was a Saturday and the first day of the eighth round. Sutherland played Sydney University at Caringbah. Sutherland batted first and Glenn's contribution to its 164 was 0 not out, i.e no contribution. He opened the bowling and off three overs, two of which were maidens, had 0-3 at stumps with Uni 0-23. On the second day, 23rd December, he took his figures to 22-8-30-3 and with Mark Chapman (15-6-24-3) and Tony Clark (18-4-37-3) bowled Sutherland to what I would have thought was an unlikely win, University being dismissed for 137.

### David Givney retires (23rd March)

On Saturday 14th March 2015, David Givney played his final cricket match for Sutherland DCC, thus drawing down the curtain on a career that began 14,699 days earlier on Monday 16th December 1974 at Howell Oval in an AW Green Shield match. Club President Steve Rixon marked the occasion with a brief speech at Tonkin Oval before the start of play.

Doc played 527 matches in all grades and scored 12,559 runs, with 11 centuries and 52 half-centuries. He captained in 275 matches, winning 5th Grade premierships in 1999-00 & 2000-01. His 5th Grade teams also made the final in 2006-07, semi-finals in 1995-96, 2001-02 & 2007-08 and qualifying finals in 1998-99 & 2004-05. He was also 2nd Grade captain when we made the semi-final in 1991-92.

Much has been written and said about Doc over the 40 years that his career spanned. All that needs to be said now is "Well played, Doc!!"

### SUTHERLAND DISTRICT CRICKET CLUB, INC.

### **BALANCE SHEET AS AT 30 APRIL 2015**

	2015 \$	2014 \$
ACCUMULATED FUNDS	\$ 209,210	\$ 163,533
Represented by:	=====	=====
CURRENT ASSETS Cash at bank & on hand Term deposit Receivables GST receivable Function deposits	27,909 150,000 15,218 0	110,000 25,160 1,195
Inventory - caps, clothing & equipment - at cost	3,945	•
	197,072	148,649
NON-CURRENT ASSETS Plant & equipment - at cost - acc. depreciation	(27,316)	47,473 (21,477)  25,996
TOTAL ASSETS	217,229	174,645
CURRENT LIABILITIES Trade creditors Income in advance GST liability	(7,222) 0 (797)  (8,019)	
NET ASSETS	\$ 209,210	\$ 163,533

### SUTHERLAND DISTRICT CRICKET CLUB, INC.

# INCOME AND EXPENDITURE STATEMENT FOR THE YEAR ENDED 30 APRIL 2015

	\$	2015 \$	2014 \$
INCOME			
C.A. club funding grant Cap & clothing sales 50th Anniversary Dinner 50th Anniversary Golf Day Interest received Membership subscriptions & playing fees N.S.W.C.A. grants - general - coaching Social activities & fundraising (net) Sponsorship & donations Sundry income		14,060 6,019 45,326 2,224 4,123 17,164 17,200 15,800 2,971 44,345 182	15,318 2,407 0 0 5,112 11,847 16,538 15,214 1,867 49,598 2,170
TOTAL INCOME		169,414	120,071
Less: EXPENSES			
Advertising Bank fees CA grant expenditure Club functions Clubhouse expenses Coaching & development Depreciation Electricity Foxtel, internet & website expenses Indoor net hire Insurance Match expenses Player expenses Postage & telephone Premiers' Dinner Presentation night Printing & stationery Purchases - caps & clothing Purchases - cricket equipment Repairs, maintenance & grounds Sponsorship support Statutory lodgement fees	0 822 14,060 1,074 510 39,242 5,839 5,387 1,418 2,540 318 891 3,755 397 668 2,509 2,004 24,303 12,670 763 2,035 77		9,591 551 15,318 441 2,625 39,037 8,106 6,306 1,393 1,773 318 480 6,064 368 232 1,800 1,980 19,086 10,784 5,343 2,133 168
Sundry expenses Trophies & presentations	1,389 1,066		1,003 1,341
TOTAL EXPENSES		123,737	136,241
NET OPERATING SURPLUS FOR YEAR		45,677	(16,170)
Accumulated funds 1 May 2014		163,533	179,703
ACCUMULATED FUNDS 30 APRIL 2015		\$ 209,210	\$ 163,533

### SUTHERLAND DISTRICT CRICKET CLUB, INC.

### STATEMENT BY THE COMMITTEE

In the opinion of the members of the Committee:

- (a) the accompanying income and expenditure statement is drawn up so as to give a true and fair view of the result of the Club for year ended 30 April 2015;
- (b) the accompanying balance sheet is drawn up so as to give a true and fair view of the state of affairs of the Club as at 30 April 2015; and
- (c) at the date of this statement there are reasonable grounds to believe that the Club will be able to pay its debts as and when they fall due.

Signed in accordance with a resolution of the Committee.

STEVE RIXON

TOM ICETON

Dated at Caringbah this 23rd day of June 2015.

### SUTHERLAND DISTRICT CRICKET CLUB, INC.

### **AUDITOR'S REPORT TO MEMBERS FOR YEAR ENDED 30 APRIL 2015**

I have audited the accompanying financial statements in accordance with Australian Auditing Standards.

The Club receives a proportion of its income from social activities and sale of goods, food and refreshments. Prior to the initial recording of such income in the accounting records, no accounting control can be practically established over the recording of or completeness of all income received. My examination of income has been restricted to amounts recorded in the accounting records of the Club.

Subject to the matter referred to above, in my opinion the accompanying balance sheet and income and expenditure statement are properly drawn up so as to give a true and fair view of the state of affairs of the Club at 30 April 2014 and the results of the Club for the year ended 30 April 2014.

ADRIAN CRAIG Chartered Accountant

Dated at Sutherland this 27th day of June 2015.

### **LEADING PERFORMANCES -- 2014-15**

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
M.Brown	18	17	1	129 *	660	41.3
M.Hughston	18	18	2	126	589	36.8
Shayne Smith	17	16	3	93	576	44.3
J.Burnett	16	16	1	110	565	37.7
A.Whatley	18	17	0	115	507	29.8
D.Smith	17	15	2	145	506	38.9
C.Williams	18	18	2	91	484	30.3
<b>B.</b> Dwarshuis	14	12	2	110	440	44.0
D.Rixon	18	15	3	95	429	35.8
W.Vandermaal	13	14	1	134 *	427	32.8
J.Rose	14	15	1	65	396	28.3
L.Maddinson	15	16	0	90	389	24.3
R.Almomd	15	14	0	83	368	26.3
Jamie Brown	17	15	3	122 *	366	30.5
M.Wright	15	16	0	93	355	22.2
T.Doyle	15	16	2	51 *	351	25.1
P.Saroukos	14	14	1	67 *	345	26.5
J.Leaning	12	12	1	86	334	30.4
J.Brockley	16	16	0	78	327	20.4
J.Arnold	15	16	0	46	325	20.3
K.Brown	13	13	3	58 *	303	30.3
A. Watkiss	16	15	5	84	300	30.0
Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
	1110001100	0.015	11101010	10010	** 1011013	rrorago
N.Fitzgerald	18	241.4	43	846	33	25.6
A.Watkiss	16	190.0	38	526	30	17.5
H.Watson	11	159.4	41	396	26	15.2
S.Dawes	13	155.5	39	407	25	16.3
D.Fallins	17	171.4	11	767	23	33.3
D.Malone	7	94.2	11	316	22	14.4
Jayden Brown	13	118.0	21	454	22	20.6
P.Burns	16	169.2	34	553	21	26.3
J.Bills	16	176.3	27	601	21	28.6
D.Lowy	13	112.5	20	366	20	18.3
A.Fallins	14	125.2	23	429	20	21.5

### FIRST GRADE

Firstly, I want to congratulate everyone involved in the first grade season, and that includes the players, coaches, family members and most of all to our volunteers. People such as Allison Brockley, Phil Weatherall and all of our committeemen put in countless hours to make sure we had every chance of success and enjoyment on our weekends. And weekends at GMO could not have happened without the tireless efforts of Sue Whatley, Jackie Fallins, Kylie Smith, Pauline Dwarshuis and Louise Ayre. I know there were many more people that put their hand up in times of need so if I have missed you I apologise. Thank you to everyone.

It is fair to say that at the beginning of this season, expectations of a top 6 finish were not high and by some we were written off as a mid to lower table team. Coming off the back of a fairly ordinary season and losing key players, coupled with a very lean preparation and build up, we set some very clear goals based around making sure we kept improving and sticking together throughout the tougher periods.

From the first grinding win at Fairfield in round 1, we could see something new and different about this group. The talent was never under question, but what we lacked in experience we made up for it by being one of the most competitive, enthusiastic teams in the competition. This is a team that never knows when it is beaten, and even when it is will keep pushing for a miracle. Likewise when we got on top we stayed there, and by the end we played like a top 4 team.

The end result of a semi-final berth didn't happen by fluke or accident; we fought hard for every bit of success and the players in it know where they want to go and are quickly learning how to get there. It was a team effort in every sense of the word, with every player making critical contributions throughout the year, never relying on one or two key players every week. I am proud of every player in this group, and know if they keep sticking together there will be plenty of silverware in Lynnvale over the next decade.

### **Chris Williams**

Head came back into the side permanently this summer and impressed from early on. Renowned for his stoic defence, the one day series saw him add a few new strings to his bow and expand his stroke play, which opened up more scoring opportunities in 2 day cricket as well. Played some vital innings throughout the summer and set up a great platform for the guys around him, especially early in the season when things weren't going so well. Head was great around the group and helped out the younger players every chance he got and has really found his feet at this level after showing plenty of potential in seasons gone by. Should kick on and go up another gear next season.

### **Joel Brockley**

Brocks began the season opening the batting in 2 day cricket and as always looked a classy batsman who can handle any bowling attack. Found the going tough in the long form and didn't finish the way he would have liked. He showed his class and talent against a strong Mosman attack when we were 6/52 chasing 171 in a T20 game. With 65 from 32 balls he almost did it on his own, bar a handy cameo from Jamie Brown.

### **Adam Whatley**

The Gumboot is a guy that I am extremely happy to not have to play against. He fears no one and can have the first drop on the edge of his seat and umpires and bowlers ducking for cover. Has a very solid defence when in the mood and makes getting to 50 look like a walk in the park. When he cracks his first ton I think the floodgates will open, and there is no limit to what he can do in the future. Adam is also a very handy bowler that gives 100% every time he

steps on the field. One of the best entertainers I've had the pleasure to share a dressing room with, we all look forward to sharing in every success that comes his way.

### **Jack Leaning**

Jack is one of the most fiercely competitive cricketers we have seen at Sutherland, so for a guy so dedicated I think his results with the bat would have been more disappointing for him than anybody. Thankfully for us he never let it slow him down and his commitment never wavered. Whether he's facing the new ball, bowling to a guy on 120 or getting in the faces and under the skin of the opposition, Jack wants to be involved in every moment of the game. Definitely a guy you want on your side and is showing his class with regularity for Yorkshire at the moment.

### **Matthew Hughston**

"Thou shall not pass" is the right hander's motto, and Perm's reputation around Sydney as the prize wicket of the Sharks has not wavered over his many, many years. His innings at St George turned his season and that of the team, and his hundred at Gordon was probably more significant in the way he supported the much, much younger Shayne Smith following an early collapse. Perm's experience is invaluable and his on-field support and enthusiasm could not be matched all season. Set the example for all to follow in the field and when he was called on for a bowl he did what he needed for the team. This team needs Taka for as long as we can hold on to him, and I get the feeling his best season might be yet to come.

### Mitch Brown

Cliffy had a big summer, and it's no coincidence that the initiative he took to get fit for his wedding had a huge impact on his cricketing results. Browny laid the foundation for our batting group in the first two months of the season and announced himself as a leader to the younger batsmen around him. His breakout hundred at Manly was a sight to behold, a spectacle that had some opposition fielders hoping he'd never get out. The umpires awarded him man of the match in a losing side and he even voted for himself in the players' player, eventually taking out the trophy at the Presentation Night. As always he took some big wickets in big moments and did the hard yards when we needed him. Everything Mitchell does on a cricket field is "easy on the eye"; let's hope he keeps it that way and sticks to his fitness regime throughout married life.

### **Peter Sarouokos**

Pete got off to a flyer out at Fairfield and is a supremely talented natural sportsman. Thrives on facing the best and beating the best, and unfortunately circumstances away from cricket curtailed his season somewhat. I am looking forward to seeing the best of Pete again next summer because those good days make a big difference to this team. Is Mark Waugh-like in his disdain for spin bowling and it's always a pleasure to watch him take a spinner down. Great value in the dressing room, especially when his passion is on display during a lengthy fines meeting.

### Jamie Brown

Following a season out of the game I think Jamie's results would have surprised even himself. He carried his early PG form into some big innings for our side and is another guy who is very good to watch when he is set. His maiden hundred was a brutal display of cutting and cover driving – sometimes from outside leg stump. Missed a few games mid-way and unfortunately the break stalled his rhythm and prevented him from asserting himself on the competition, but when he got back into regular cricket he finished the season strongly. As we all know Jamie is a quality spin bowler who was a victim of the team's success and wealth of spin bowling talent. Will go to another level again next summer.

### **Shayne Smith**

Shayne is another guy that returned to the top grade at the Sharks this year and would be proud to say he earned every bit of his success. Shayne has a home grown technique that bowlers find difficult to counter, and plays with a level of calmness and patience beyond his years, as shown so memorably during his 50 under huge pressure at Gordon. He can be a quiet sort of guy at times but when he opened up displayed great knowledge and understanding of the game, and his sharp wit and sense of humour has the dressing room in stitches. In a team full of all-rounders, Shayne is one that could be picked on either his batting or bowling and gets an amazing array of variation through the subtleties of genuine off spin bowling and will take bags full when luck turns his way.

### Ben Dwarshuis

Benny had another season interrupted with injuries, but thankfully nothing too major. It was exciting for all of us to see him debut in the Big Bash and showed us why during his game breaking spell against Randwick, which eventually propelled the team into the finals from an impossible position. He is a rare talent and played some damaging innings through the middle order this summer and as a natural leader will be key to future success at the Sharks. Has a wonderful cricket brain and his bowling will improve with the added stability in his life.

### **Dan Rixon**

Another player who showed what stability can do to a man's cricket. Had a season to remember with the bat and fell agonisingly short of a maiden ton at home to Parramatta in an innings that took the game away from the Eels. Dan found a knack of taking the heat out of the end of an innings, none more poignant than his swashbuckling 65\* at Gordon. Perhaps not his strongest season behind the stumps but still managed to take his 400th wicket keeping dismissal in 1st Grade, an amazing achievement that highlights his commitment to SDCC and his team mates. Dan's dedication to training is on display every week and is always favourite to take out the coaches' award. Suggestions have been made to name the award after him already.

### **Dylan Smith**

Dylan is an easy going natural cricketer, who is possibly the easiest guy in the club to captain. He understands the team needs at all times and showed how valuable he is going to be in the years to come. Another guy that fears nothing and nobody, Dylan made significant contributions with the ball early on against Saints and propelled us to a defendable score under pressure in the qualifying final against Easts.

### Riley Ayre

Hard to find a bad word about Riley, and even harder to find a word out of his mouth at the start of the season. Thankfully Riley started to come out of his shell and showed glimpses of just how good he is going to be. His bowling is skilful and clever, but it's his mental toughness under pressure that separates him from the rest of the pack. Riley dominates batsmen in short form cricket and started to do the same in 2 dayers at the end of the season. Once Riley moves to Sydney and starts full time training his game will take off. We are all looking forward to seeing him knock out mountains of runs next summer, because he definitely has the ability to.

### **Dan Fallins**

Fish is a player that epitomised what our team stood for this summer. After winning us the game in round one, his form dipped a little but with each knock he came back tougher and backed himself more and more every week. These huge leaps culminated in an amazing short spell under pressure against Randwick that turned an impossible situation into a win. Took down some big names, and showed he wasn't going to take a step back against the likes of

Crosthwaite when things got heated. Showed at St George and Blacktown that he has the ability to eventually make his way into the middle order as a batsman.

### Tom Pinson

Pinny has all the attributes that every fast bowler desires; he's tall, strong, fast and a little bit nuts. Perfect combo. Really got thrown in the deep end this season and shouldered a lot of the responsibility that came with missing Dwarshuis and a few others, but when things didn't go his way early on he went back and worked twice as hard and is a very exciting prospect for the club. His performance in the semi-final on Manly Freeway was pretty special in a dead rubber situation, and should give him the confidence to know he can bowl at the best in the competition.

### Nathan Whittingham

Whits performed exceedingly well when he was called upon, even though the dedicated 2nd Grade skipper was hard to pry away from his team. Is a player that wants to do everything he can to win and whether it's a succession of boundaries or a strong southerly sweeping him off his feet, he will keep coming back into the contest all day long.

### Devlin Malone

The best debut in 1st Grade I can remember since Steve Smith, and a match and season cruelly cut short by a recurring back injury. Dev has the confidence and ability to go as far as he likes in this game, and now that he has received the right advice and treatment we can get excited about his prospects again. Can't wait to see what's next.

### **Shane Watson**

Continues to put the dressing room to shame and has been told to keep his shirt on in future. Always gives 100% when he pulls on the sky blue and offers great support and advice.

### **Steve Smith**

Great to have him around even if only for a day. Smithy brings zero ego to the team and may not be aware, but it means a lot to the team to have him come back and put in like he does for the Sharks.

### **Steve Cush**

Sorely missed, it was great have Cushy back for a couple of weeks through the T20s. Haven't given up on seeing him here full time next year.

Thanks again to everyone involved and I wish everyone well for the next season; finishing 3rd puts a target on our back and the rest of the comp will be coming for us, so we will just keep getting better and be ready for anything that comes our way

NATHAN FITZGERALD

### 1ST GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
M.Brown	18	17	1	129 *	660	41.3
M.Hughston	18	18	2	126	589	36.8
C.Williams	18	18	2	91	484	30.3
D.Rixon	18	15	3	95	429	35.8
Jamie Brown	16	14	3	122 *	348	31.6
A.Whatley	15	14	0	54	324	23.1
J.Leaning	11	11	1	82	248	24.8
B.Dwarshuis	10	8	1	79	236	33.7
D.Fallins	17	13	3	37	154	15.4
R.Ayre	12	9	3	17	68	11.3
N.Fitzgerald	18	11	4	17 *	50	7.1

Also played: Shayne Smith 5-4-1-70\*-154-51.3, Steven Smith 1-1-0-42-42-42.0, P.Saroukos 2-2-0-45-57-28.5, D.Smith 6-4-1-41-67-22.3, J.Brockley 4-4-0-48-76-19.0, N.Whittingham 2-2-0-19-19-9.5, T.Pinson 8-4-1-11\*-21-7.0, D.Malone 1-DNB.

Highest scores: M.Brown 129\* v.Manly-Warringah, 104 v.North Sydney, 79 v. Fairfield-Liverpool, 74 v.Bankstown, 68 v.Sydney, 53 v.Eastern Suburbs; M.Hughston 126 v.Gordon, 79\* v.St.George, 72 v.Sydney University, 66 v. Randwick Petersham, 56 v.University of NSW; Jamie Brown 122\* v.Sydney; D.Rixon 95 v.Parramatta, 65\* v.Gordon, 53\* v.Sydney University, 50\* v. Blacktown; C.Williams 91 v.Sydney, 71\* v.Northern District, 61 v.University of NSW, 52 v.Parramatta; J.Leaning 82 v.Parramatta; B.Dwarshuis 79 v.Blacktown, 65\* v.Randwick Petersham; Shayne Smith 70\* v.North Sydney, 53 v.Gordon; A.Whatley 54 v.Sydney University, 53 v.St.George, 52 v. Northern District.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
N.Fitzgerald	18	241.4	43	846	33	25.6
B.Dwarshuis	10	90.5	14	325	11	29.5
Jamie Brown	16	62.0	13	215	7	30.7
D.Fallins	17	21.4	11	767	23	33.3
J.Leaning	11	85.4	4	341	9	37.9
M.Brown	18	145.0	20	503	13	38.7
R.Ayre	12	1546.0	26	534	12	44.5
T.Pinson	8	80.0	12	348	6	58.0

Also bowled: D.Malone 6-2-12-3-4.0, D.Smith 25-3-108-5-21.6, A.Whatley 21.2-1-113-2-56.5, Shayne Smith 77-20-174-3-58.0, N.Whittingham 38.2-4-161-1-161.0, C.Williams 1-0-5-0, M.Hughston 7-1-42-0.

Best bowling figures: N.Fitzgerald 9-102 v.Sydney, 4-27 v.Fairfield-Liverpool, 4-39 v.Northern District, 4-74 v.Eastern Suburbs (Qual final); D.Smith 4-29 v. St.George; B.Dwarshuis 4-48 v.Randwick Petersham; D.Fallins 4-54 v.Gordon.

Wicketkeeping: D.Rixon 18 catches, 4 stumpings.

Catches: N.Fitzgerald 8, J.Leaning 8 each; D.Fallins 7; Jamie Brown, A.Whatley, M.Hughston 5 each; R.Ayre, D.Smith, C.Williams 3 each; M.Brown, P.Saroukos each; J.Brockley, T.Pinson, Shayne Smith, N.Whittingham 1 each.

### LIMITED OVERS COMPETITION

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
M.Hughston	5	5	1	79 *	177	44.3
C.Williams	5	5	1	71 *	169	42.3
A.Whatley	5	5	0	54	211	42.2
D.Rixon	5	4	1	53 *	77	25.7
M.Brown	5	5	0	53	104	20.8
D.Fallins	4	3	1	24	34	17.0
J.Leaning	5	5	1	22	60	15.0
D.Smith	3	3	1	15	26	13.0
Jamie Brown	3	3	0	21	33	11.0
B.Dwarshuis	2	2	0	17	19	9.5
N.Fitzgerald	5	2	0	4	5	2.5
R.Ayre	3	2	2	12 *	23	

Also played: N.Whittingham 1-1-0-0-0.0, D.Malone 1-DNB; T.Pinson 3-DNB.

Highest scores: M.Hughston 79\* v.St.George, 72 v.Sydney University; C.William 71\* v.Northern District; A.Whatley 54 v.Sydney University, 53 v.St.George, 52 v. Northern District; D.Rixon 53\* v.Sydney University; M.Brown 53 v.Eastern Suburbs.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
D.Malone	1	6.0	0	212	3	70.7
D.Smith	3	14.0	1	74	4	18.5
N.Fitzgerald	5	43.4	4	183	8	22.9
J.Leaning	5	23.3	0	107	4	26.8
D.Fallins	4	19.1	1	139	5	27.8
R.Ayre	3	23.0	1	124	3	41.3

Also bowled: B.Dwarshuis 14-1-57-1-57.0, M.Brown 27-1-116-2-58.0, A.Whatley 2-0-24-0, N.Whittingham 5.2-1-33-0, Jamie Brown 4-0-46-0, T.Pinson 12-2-66-0.

Best bowling figures: D.Smith 4-39 v.St.George; N.Fitzgerald 4-39 v.Northern District; D.Malone 3-12 v.Northern District; D.Fallins 3-66 v.Sydney University.

Wicketkeeping: D.Rixon 1 catch, 2 stumpings.

Catches: N.Fitzgerald 4; J.Leaning 2; R.Ayre, D.Fallins, M.Hughston, D.Smith, A.Whatley, C.Williams 1 each.

### **TWENTY20 COMPETITION**

Batting	Mts	Inns	NO	H.Score	Runs	Ave	Balls faced	Strike rate
S.Watson	1	1	0	37	37	37.0	43	86.05
D.Rixon	4	4	1	58 *	91	30.3	67	135.82
Jamie Brown	4	4	1	35	73	24.3	63	115.87
J.Brockley	4	4	0	65	97	24.3	66	146.97
R.Ayre	2	2	1	10 *	20	20.0	25	80.00
S.Cush	3	3	0	35	43	14.3	48	89.58
N.Whittingham	4	2	1	10 *	12	12.0	14	85.71
B.Dwarshuis	4	4	0	39	42	10.5	39	107.69
N.Fitzgerald	4	3	2	6	9	9.0	10	90.00
P.Saroukos	4	4	0	18	33	8.3	36	91.67
M.Brown	4	4	0	13	23	5.8	35	65.71
A.Whatley	4	4	0	5	15	3.8	17	88.24
D.Fallins	2	1	1	7 *	7		5	140.00

Highest scores: J.Brockley 65 (32) v.Mosman; D.Rixon 58\* (39) v.University of NSW; B.Dwarshuis 39 (22) v.University of NSW; S.Watson 37 (43) v.St.George; Jamie Brown 35 (24) v.Mosman; S.Cush 35 (35) v.Randwick Petersham.

Bowling	Mts	Overs	Mdns	Runs	Wkts	Ave	Econ rate
Jamie Brown	4	9.0	0	86	4	21.5	9.56
R.Ayre	2	8.0	0	44	2	22.0	5.50
M.Brown	4	12.0	0	91	4	22.8	7.58
A.Whatley	4	9.0	0	73	2	36.5	8.11
N.Fitzgerald	4	15.0	0	110	2	55.0	7.33
N.Whittingham	4	16.0	0	118	2	59.0	7.38
D.Fallins	2	6.0	0	51	0		8.50

Best bowling figures: Jamie Brown 2-24 v.Mosman; M.Brown 2-27 v.St.George.

Wicketkeeping: D.Rixon 3 catches, 1 stumping.

Catches: N.Fitzgerald 3; Jamie Brown, N.Whittingham 1 each.

### **SECOND GRADE**

Firstly, I would like to congratulate both 1st Grade and PGs on their respective successes for the season. Both sides were the shining lights for the club this year, particularly PGs with their wealth of talent. It is always a great measure of any side to look at the talent of the players that couldn't make the side and the PGs side this year was no exception.

In 2nd Grade, after a disappointing season last year, those players that had to endure it most definitely did not want to see a repeat this season. However, with the loss of a number of experienced players for varying reasons resulting a relatively fresh faced 2nd Grade side, this year was always going to be somewhat of a learning year for the side as a number of players adjusted to the rigors of higher grade cricket.

We finished the season in 15th place with 6 wins and a draw from 15 games. Some of the wins were remarkable team efforts and most of the losses left us always with questions of what-if? There was only a solitary game in which we were comprehensively beaten, all others seemed to be a case of us beating ourselves through lack of experience. Every game we played we had an opportunity to win the game, sometimes multiple opportunities, yet we continually failed to convert.

### **Team Highlights**

Fortunately, it was not all doom and gloom as we managed to unearth a number of young talents who will form not only the core of a successful 2nd Grade side in the short term, but the core of a successful 1st Grade side in the future. There were also a couple of memorable wins, the first being against St George in round 7, who at the time were undefeated. Batting first on a very dry GMO deck, we scraped our way to 180 with Tom Doyle's 46 the only highlight. The pitch was beginning to crumble significantly by the end of our innings. Saints raced to 47 without loss off the first 11 overs. Luckily, we had 4 spinners in our side and they combined to bowl Saints out in the next 36 overs to finish all out 166. The spirit, effort and attitude in the field that day had been missing from the side for a couple of years.

The second and biggest team highlight was the last ball victory against Easts in round 9. Batting first, we finished on a par score of 263 thanks to Lachy Maddinson 90, Shayne Smith 58 and some handy lower order runs. Easts were a side stacked with first grade experience and were always going to take the game to the line. Trent and Shayne Smith picked up 3 wickets each to leave the game in the balance with two overs remaining and Easts needing 12. A couple of missed opportunities and with a six being struck from the final ball of the second last over, the game swung massively in the favour of the boys from Bondi, needing 4 to win from the last over 9 down. Lachy Maddinson with ball in hand only conceded 2 from the first 5 deliveries of the over, one ball remained, Easts required 2 for victory 1 for a draw, stand in skipper James Bills brought the fielders in like bees round a honey pot, Maddison bowled full and straight and it was squeezed to Joel Burnett at mid-on who threw the stumps down at the non-striker's end to claim an unlikely victory.

### **Individual Performances**

### Batting

Our batting let us down on a number of occasions this year, however there were some highlights.

**Shayne Smith** took a while to find his feet in 2nd Grade this season but once he did he had a real breakout year, scoring 320 runs at 40 in 10 games. The heavily tanned Smith brother also chipped in with 10 wickets. Shayne showed a great deal of maturity with the bat this year, often digging us out of holes and his 93 against finalists Manly was pure class; batting for almost two sessions after going in at 4/50 chasing 280, Shayne almost got us over the line. Hopefully he can kick on next year and cement a 1st Grade spot.

Jono Rose had a fairly mixed season producing a number of starts but failing to find a big score. With 396 runs at 28, Jono's season would have looked very different if he had've converted a couple of those starts. A lot of pressure was placed on Jono this year as he was often the most experienced bat in the top order. His keeping in the second half of the season was outstanding, pulling off a number of screamers and finishing with 27 dismissals. Jono provided one of the funnier moments of the year, turning up to GMO for a one-dayer only to realise that we were in fact playing at Waitara. Jono arrived just in time for the start of the game, just as we had concluded wicket keeping trials in the change room and it was decided Pete would be keeping barehanded until Jono arrived. The pain didn't end there for Jono, arriving back at his car at the end of the day's play to discover a parking ticket.

**Dylan Smith, Scott Pickering** and **Ryan Almond** shared the majority of our all-rounder roles during the year, each having success with both bat and ball. Dylan on his day can tear apart a second grade attack but similarly to Jono got plenty of starts but failed to kick on. Picko's return to cricket was quite timely as we really needed another old head around. Picking up almost where he left off a couple of years ago, all the strokes were still there; unfortunately work commitments were still hampering his availability for most of the season. Ryan was really 'Rocks or Diamonds' this year, played some terrific innings to claw us back from dire positions and also bowled some terrific spells, conversely he threw his wicket away a couple of times in tight situations. Scorched has the ability to be successful in higher grades, just sometimes lacks the application.

Tom Doyle and Lachlan Maddinson shouldered most of the opening role for the season, which was a big ask for them given their age and lack of higher grade experience. They are both better suited to the middle order particularly Tommy who in the second half of the season really showed the damage he could do to an attack particular in the one day format. Lachy is becoming a handy off-spinner with a knack for breaking partnerships, something always seems to happen when he has the ball, just needs to work on his control.

**Pete Saroukos** by his own admission didn't have a great season, starting in 1st Grade and ended up in 3rd Grade. Pete played the majority of the year in 2nds and struggled for form and consistency throughout. Pete always seemed to find a way to get himself out. The Greek provided a comical highlight by forgetting his whites, claiming it was only a 20 minute round trip home to get them and then returning an hour and a half later just before lunch.

### **Bowling**

Our bowling at various stages throughout the year kept us in games, unfortunately too often we were defending small targets. There were a few standouts.

**Devlin Malone** was far and away our best bowler despite only playing 6 games. 19 wickets at 16 in his first season of 2nd Grade and made some long established top order players look all at sea with some ripping leg breaks and wrong-uns. Karl produced some stunning displays to tear

through opposition teams. Injury cut his season short unfortunately, and the team lost its greatest attacking weapon.

**Trent Smith** was the only common element all year of our pace attack and tried his guts out every week. There were glimpses throughout the year that Trent is starting to find his feet in the higher grades and it is easy to forget how young he still is. Can swing the ball both ways and provided some more than handy contributions with the bat.

Tom Pinson and James Bills were the other part of our opening partnership. Tom had a patchy season, at times he didn't know where they were going and standing at second slip to him became a nightmare. He found his mojo again in the second half of the season and against Randwick bowled with some serious heat and venom including claiming the scalp of a county batsman by straight up beating him with pace and bounce. Billsy had in injury interrupted season and really struggled for any rhythm or penetration. As it currently stands he will be hanging up the boots after a number of seasons leading the 2nd Grade attack. Injury looks to have finally got the better of him.

### **Cameos**

Joel Burnett only played 4 games in 2nd Grade this season as family and work commitments took their toll. As a former captain of the side and a long term higher grade player Joel's experience when in side was invaluable, especially for me to lean on. Joel will be hanging the boots up this season to focus on family life, his contribution to the club over the last 10 years has been significant both on and off the field.

Adam Whatley took the opportunity to open the batting with both hands, plundering 115, 46, 22 at a run a ball in the opening three rounds and round 4 saw him selected in 1st Grade. Gumboot had a stellar PGs season scored two hundreds, and unfortunately I don't think we will see much more of him in 2nd Grade again.

**Ben Dwarshuis** played a couple of games including round 4 against Sydney where he single handedly destroyed the opposition with a powerful 110, followed up with a scarily quick 4-17 in which one of the batsmen asked the umpire for advice, the umpires' response was "don't get hit". Ben also introduced the club to pickle juice with the claims that it wards off cramping.

**Simon Doyle** the super sub was always there in a time of need. Having to overcome often non-suitable footwear (we offered shoes however there was none that would fit his size 7 feet!), Simon provided a great deal of entertainment for his wife Tracey on the sidelines, cheering him on between bursts of laughter. It was only discovered after a couple of games that our Super Sub was in fact red/green colour blind!

### A Big Thank you to:

The Mums and Dads that were on deck all year to assist in the kitchen and with scoring – Sue Whatley, Tracey and Simon Doyle, Brian and Vanessa Malone, Kylie and Darren Smith, Sue Whittingham, John Bills. The standard of our afternoon teas is something that always gets mentioned in the captains meeting after the game.

Brian Hall for helping out with drinks every week, and Bob Manning for keeping the change rooms and clubhouse in pristine condition.

To our Number One supporter and ever optimistic scoreboard attendant **Lee Prescott**, Lee does a tremendous job week in week out with the scoreboard and is always upbeat no matter how dire the game situation has become. Lee was assisted by **Reverend Phil** who also helps out around the place in any way possible, and **Ronnie Gray**.

**Tom Iceton** the engine room of the club. When Tom finally moves on they will need 4 blokes to replace him. Kept me on my toes all year with the administration side of things and always around to lend a hand in any way possible.

Our Chairman of Selectors Phil Weatherill did an outstanding job ensuring fairness and equality in selections every week.

It has been an absolute honour to captain this side for the club's 50th season and it is something I do with a great deal of pride. There is some special talent in this side and I hope that I can continue to play my part in nurturing that going forward.

See you next year.

**NATHAN WHITTINGHAM** 

### 2ND GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
Shayne Smith	10	10	2	93	320	40.0
S.Pickering	6	5	0	74	152	30.4
D.Smith	8	9	0	53	266	29.6
J.Rose	14	15	1	65	396	28.3
L.Maddinson	14	15	0	90	378	25.2
T.Doyle	15	16	2	51 *	351	25.1
T.Smith	15	15	5	34	209	20.9
P.Saroukos	11	11	0	56	221	20.1
R.Almond	6	6	0	45	115	19.2
N.Whittingham	13	11	5	27	92	15.3
J.Bills	10	9	0	44	122	13.6
D.Malone	6	6	2	9	35	8.8
T.Pinson	8	6	3	8	18	6.0
J.Brockley	5	5	0	11	27	5.4

Also played: J.Leaning 1-1-0-86-86-86.0, A.Whatley 3-3-0-115-183-61.0, B.Dwarshuis 3-3-0-110-136-45.3, W.Fraine 1-1-0-32-32-32.0, M.Andersson 1-1-0-26-26-26.0, J.Burnett 4-4-0-52-88-22.0, Jamie Brown 1-1-0-18-18-18.0, N.Loder 1-2-0-7-14-7.0, A.Watkiss 2-2-1-3\*-6-6.0, P.Burns 3-3-0-7-7-2.3, K.Brown 2-1-0-0-0.0, R.Darkins 1-1-1-38\*-38---, A.Fallins 1-DNB, J.Horner 1-DNB.

Highest scores: A.Whatley 115 v.Fairfield-Liverpool; B.Dwarshuis 110 v.Sydney Shayne Smith 93 v.Manly-Warringah, 69\* v.Sydney University, 58\* v.Eastern Suburbs; L.Maddinson 90 v.Eastern Suburbs, 62 v.Blacktown, 51 v.Bankstown; J.Leaning 86 v.Gordon; S.Pickering 74 v.Manly-Warringah; J.Rose 65 v.Blacktow 54 v.Sydney, 53\* v.Randwick Petersham; P.Saroukos 56 v.North Sydney; D.Smitl 53 v.Sydney; J.Burnett 52 v.University of NSW; T.Doyle 51\* v.Randwick Petersham.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
D.Malone	6	88.2	9	304	19	16.0
R.Almond	6	24.2	0	115	6	19.2
L.Maddinson	14	43.4	4	210	10	21.0
S.Pickering	6	37.5	8	130	6	21.7
T.Pinson	8	78.1	13	273	12	22.8
D.Smith	8	47.5	8	143	6	23.8
T.Smith	15	131.3	25	422	15	28.1
Shayne Smith	10	88.1	8	351	10	35.1
N.Whittingham	13	192.5	43	502	13	38.6
J.Bills	10	101.0	14	408	9	45.3

Also bowled: B.Dwarshuis 11-4-17-4-4.3, J.Leaning 9-2-32-3-10.7, A.Whatley 18-2-58-2-29.0, A.Watkiss 15-3-35-1-35.0, P.Burns 32-9-94-2-47.0, T.Doyle J.Burnett 0.4-0-9-0, P.Saroukos 2-0-18-0, R.Darkins 3-0-24-0, Jamie Brown 4-0-25-0, A.Fallins 4-0-25-0.

Best bowling figures: B.Dwarshuis 4-17 v.Sydney; R.Almond 4-34 v.Northern District; D.Malone 4-53 v.Bankstown, 4-58 v.Sydney, 4-68 v.Fairfield-Liverpool; T.Pinson 4-55 v.Parramatta; L.Maddinson 4-59 v.St.George.

Wicketkeeping: J.Rose 21 catches, 6 stumpings; M.Andersson 1 stumping.

Catches: T.Doyle 8; N.Whittingham 7; L.Maddinson, S.Pickering 5 each; T.Pinso Shayne Smith 4 each; P.Saroukos; J.Bills, N.Loder, D.Malone 2 each; R.Almond, P.Burns, B.Dwarshuis, D.Smith, T.Smith 1 each.

#### THIRD GRADE

Another consistent performance by the 3rd Grade team saw us finish 5th after the regular season and qualify yet again for a finals series, unfortunately going down to the Panthers in the qualifying final and thus ending our season.

I am extremely proud of the team's efforts throughout the season, their attitude and camaraderie on and off the field was outstanding. Being my first year as captain, it made my job a lot easier with three club legends plus ex-captains in the team, Joel Burnett, Josh 'The Chief' Zywietz and Scott 'The Guzzler' Dawes; their help and support was always there.

No doubt there were memorable moments, four games in particular stood out that could have been defeats but our never say die attitude and the will to win steered us across the line.

Round 4 vs Sydney was a terrible day one for the Sharks with six dropped catches! The only highlight was Watto collecting 3/37 off 17 overs, with the Tigers 8 down at stumps. Resuming on day two, the Tigers batted on and declared at 9/302 after 83 overs; losing two overs on the change over meant the equation was 303 off 75 overs. What a turnaround from day one! The batting display was fantastic, with Lodes steadying the ship at the top of the order with a solid 83 and handy contributions from the middle order. I made 57, Mags 48, Josh Horner 23 and Ryan Almond 30 setting up victory. Let's not forget Burnsy strolling out 9 down with only 4 runs needed in the last over! Cool as a cucumber, Burnsy shuffled down the pitch to a spinner and cracked it through the covers for a boundary.

Round 6 vs Parramatta with the pitch looking a bit dicey Parra won the toss and no surprise decided to bowl. In trouble at 5/63 it was the lower order to the rescue with Ryan Almond 22, Mark Andersson 21 and a great knock by Rory Darkins 39 not out off 114 balls really gutsy to help scrape to 151. Day two saw the pitch a little better than day one, so bowling well was very important to have a chance of victory. Not the best start, Parra were steady and at 3/70 we needed wickets fast! A couple of more wickets had them 5/107. With the game in the balance, the Sharks applied the pressure and Parra collapsed, losing 5/11 to be all out 118. Burnsy 4/49 off 18 overs and Watto 4/37 off 16 overs were the pick of the bowlers.

Round 12 vs Manly big game at the business end of the season, being a top six clash with the Waratahs sitting in third position and us in fifth. After winning the toss and bowling on a greenish pitch, we started positively with Billsy bowling consistent lines and picking up an early wicket. Alex Watkiss was the pick of the bowlers, taking 4/39 off 17 overs. Great support also from 'The Chief' taking 2/18 off 8 overs and Rory Darkins 2/31 off 11 overs. 'The Chief' had a day to remember with one of the best catches you will ever see fielding at deep cow pulling off a beauty, well done Chief! The catch of the century ended the Tahs innings on 149. In reply we lost two wickets and were 2/35 to close out the day.

Day two arriving back at Manly, we knew it was going to be tough as there was no chance the pitch was going to be a belter. With the top order trying extremely hard to dig in, wickets were starting to fall and at 7/125 it was in the balance. Terrific batting through the middle by the veteran/club legend Joel Burnett set the game up with a gutsy 45. But that man again 'The Chief' was the hero, never in doubt as he steered the Sharks home with a brilliant 26 not out. Always satisfying beating Manly as every time we clash, let's just say their spirit of cricket is top notch.

Round 13 vs Gordon was another top six clash and very important to walk away with a win to cement our spot in the finals with only two rounds to go. Not the most pleasant day to play cricket as it poured during the morning and hence a delayed start with the outfield soaked and

a wet spot near the pitch. After winning the toss and bowling, the Stags were in strife at 4/22, outstanding bowling by former second grader James Bills who picked up 3/25 off 10 overs. Great support by 'The Guzzler' and Burnsy with two wickets each. 'The Chief' wasn't far behind with figures of 0/41 off 6 overs, he was very effective with the short ball. The Stags all-out 145. Horror start for the Sharks, reeling at 3/12! Ryan Almond to the rescue! Opening the batting made a solid 83 under extreme pressure and set us up for a great victory. With Ryan dismissed on the score at 139, it was Josh Horner and 'The Chief' who finished it off.

Playing members of the third grade team:

**Joel Burnett:** Outstanding season by the veteran, leading run scorer with 477 runs with an average of 43.4, which included back to back centuries against Bankstown 101 not out and against Campbelltown 110.

**Joel Brockley:** The Tug Boat started the year in 1st Grade and unfortunately found his way into 3rd Grade, very talented player and no doubt next season will get back into higher grades. Tuggy played 7 games with a total of 224 runs.

**Ryan Almond:** Very consistent year for Ryan this season and deservedly rewarded into 2nd Grade for a few games. Second top run scorer and also handy with the ball, safe as houses in the slips snaring 9 catches.

**Rory Darkins:** Great team man, any situation he would always put the team first. Very handy lower order bat who is capable of batting higher and his consistency with the ball is getting better by the minute.

**Josh Zywietz**: 3rd Grade legend is 'The Chief' with over 100 matches under the belt, puts in 110% with the bat and ball every time.

**Nathan Loder:** Solid as a rock behind the stumps this season, great start to the year with the bat with back to back scores of 54 and 83. No doubt next season will be looking to push into higher grades.

**Josh Horner:** First season in 3rd Grade for Josh, is a player of the future and is a very talented young cricketer. Very handy with the ball averaging 16.5. No doubt the experience he gained will work wonders next season.

**Alex Watkiss:** A great season for the Kiss, starting in fourth grade and by the end of the season played a few games in 2nd Grade. Was the equal second leading wicket taker with 18 wickets at 16.4.

**Scott Dawes:** Another consistent performance by the Guzzler, equal second wicket taker along with the Kiss and had an unbelievable average of 12.7! Can mix cordial the Guzzler, when Brad was absent.

**Pat Burns:** The lion heart Burnsy, leading wicket taker this season with 19 wickets at 24.2. Terrific team man and gives 110% every time he walks out on the field. Hope the big man makes it home from England!

Special mentions go to Mark Andersson, Steve Cush, Hayden Watson, James Bills and Ryan Maguire for their contributions this season.

A big thank you goes to Brad Loder and Nicole Bramah for all their hard work this season. Brad's cordial is the best in Sydney and Nicole is the best scorer in Sydney so extremely lucky to have them both!

To Greg & Vicki Horner and Vicki Almond, thanks very much for preparing and serving arvo tea, much appreciated.

To Duffy and the coaching staff, the amount of time and effort put into training each week was priceless and no doubt helped us get to the finals so thank you gents.

To Phil Weatherall as chairman of selectors, it's not the easiest job going around, but Chunky did an outstanding job, very professional and deserves some recognition. Thanks Chunk.

Lastly, to Tom Iceton as many of us know the club wouldn't be running smoothly without Tom. The amount of work and countless hours he puts in for this great club is unbelievable, thank you very much Tom for making my job a lot easier but sometimes difficult!

See you all next season.

**KURT BROWN** 

#### **3RD GRADE**

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
J.Burnett	12	12	1	110	477	43.4
J.Brockley	7	7	0	78	224	32.0
R.Almond	9	8	0	83	253	31.6
R.Darkins	7	5	3	39 *	63	31.5
J.Zywietz	12	9	3	34	118	19.7
N.Loder	13	13	0	83	221	17.0
K.Brown	15	14	1	57	191	14.7
R.Maguire	9	9	0	48	125	13.9
J.Horner	13	12	2	40	138	13.8
A.Watkiss	10	8	2	13	80	13.3
S.Cush	6	6	0	31	80	13.3
S.Dawes	8	6	1	23	54	10.8
M.Andersson	5	5	0	21	42	8.4
P.Burns	13	9	4	8	31	6.2

Also played: Shayne Smith 2-2-0-80-102-52.0, H.Watson 5-4-1-16-38-12.7, L.Maddinson 1-1-0-11-11-11.0, W.Fraine 4-3-0-9-15-5.0, S.Khan 2-2-0-7-9-4.5, J.Almond 3-2-0-6-9-4.5, C.D'Arcy 5-4-0-8-14-3.5, N.Sharman 4-2-0-2-3-1.5, J.Bills 5-4-0-4-5-1.3, B.Dwarshuis 1-1-1-68\*-38----, P.Saroukos 1-1-1-67\*-67----, S.Pickering 1-1-1-60\*-60----, D.Smith 2-1-1-28\*-28----, D.Lowy 1-1-1-4\*-4----, C.Macnamara 1-DNB.

Highest scores: J.Burnett 110 v.Campbelltown-Camden, 101\* v.Bankstown; 79 v. Northern District, 56 v.Randwick Petersham; R.Almond 83 v.Gordon, 82 v.Fairfield-Liverpool; N.Loder 83 v.Sydney, 54 v.Bankstown; Shayne Smith 80 v.Fairfield-Liverpool; J.Brockley 78 v.Randwick Petersham; B.Dwarshuis 68\* v.Campbelltown-Camden; P.Saroukos 67\* v.University of NSW; S.Pickering 60\* v.St.George; K.Brown 57 v.Sydney.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
S.Dawes	8	90.5	22	229	18	12.7
J.Bills	5	73.3	13	181	12	15.1
A. Watkiss	10	104.0	18	295	18	16.4
J.Horner	13	60.1	10	181	11	16.5
H.Watson	5	59.0	15	151	9	16.8
J.Zywietz	12	101.0	14	383	16	23.9
P.Burns	13	137.2	25	459	19	24.2
R.Darkins	7	62.0	8	264	6	44.0

Also bowled: C.Macnamara 17.1-10-20-3-6.7, K.Brown 10.4-2-42-5-8.4, S.Pickering 7-1-18-2-9.0, D.Smith 29-8-60-5-12.0, S.Khan 3-0-21-1-21.0, R.Almond 51-5-163-5-32.6, J.Almond 22-2-101-3-33.7, L.Maddinson 6-0-37-1-37.0, N.Sharman 38-8-105-2-52.5, Shayne Smith 23-0-95-1-95.0, S.Cush 1.3-0-7-0, J.Burnett 2-0-12-0, N.Loder 5-0-15-0, D.Lowy 11-1-31-0, B.Dwarshuis 7-0-33-0.

Best bowling figures: H. Watson 4-37 v. Parramatta; A. Watkiss 4-39 v. Manly-Warringah; S. Dawes 4-40 v. North Sydney, 4-62 v. Parramatta; P. Burns 4-49 v. Parramatta; J. Zywietz 4-62 v. Bankstown.

Wicketkeeping: M.Andersson 10 catches, 1 stumping; N.Loder 7 catches, 1 stumping; C.D'Arcy 7 catches.

Catches: R.Almond 9; K.Brown, J.Burnett 7 each; J.Horner 6; J.Brockley 5; P.Burns, R.Darkins 4 each; J.Bills, S.Dawes 3 each; W.Fraine, R.Maguire, A.Watkiss 2 each; J.Almond, S.Cush, S.Khan, N.Loder, L.Maddinson, P.Saroukos, N.Sharman, Shayne Smith, H.Watson, J.Zywietz 1 each.

#### **FOURTH GRADE**

The 2014-15 season was a year for rebuilding of 4th Grade, who ended up with a mid-table finish. After being semi-finalists the year before, we only retained three players from this team. Throughout the year, we used a total of 29 players with the majority of these only in their first or second year of grade cricket. With such a young team, these players have benefited from the experience of playing a full year of grade cricket and hopefully they will be better for it in the future. Every player has learnt a lot about what it takes to be successful, and the need to adapt and improve their game to reach their full potential.

Round 1 was a great start to the season with a resounding win against Fairfield-Liverpool, where we fielded our strongest team, with a good mix of experience and youth. With Dylan Smith coming back after a year off, it didn't take him long to get back into the swing of things, looking at ease on his way to 145. This was the last we saw of Dylan for the remainder of the season as he is too highly talented a cricketer for 4th Grade and by halfway through the season he was playing 1st Grade. Oliver Selby and James Arnold chipped in with scores of 64 and 45 respectively. Scott Dawes led the way with the ball taking 4-17.

Round 2 saw a loss of many experienced players to higher grades which resulted in a team of 8 players under 19, and a loss to Bankstown. This lack of experience showed with a number of players getting starts with the bat but not being able to go on with it. James Arnold batted patiently scoring 46 but wasn't supported by anyone else. With the ball, Alex Watkiss and Hayden Watson both took 3 wickets but didn't have enough runs to defend. We were sent back in and were in trouble early but Matt Burg batted patiently on his way to 40 while Alex Watkiss came out swinging and scored 59 runs in quick time.

Round 3 saw Matt Wright bat well scoring 45 and Alex Watkiss taking us to a respectable score with a classy 84. On the second day, Cambelltown-Camden batted very negatively after losing early wickets which led to the game ending in a draw.

Round 4 against Sydney was a close win with our lower order saving us, with Joel Almond falling just short of a half-century, scoring 49 and Dylan Lowy bowling well taking 3 wickets. Alex Watkiss chipped in again with the bat, scoring 40, and then starred with the ball taking 6-48. These first four games were a great start to the year for Alex with both the bat and ball, a result of his continuous hard work at training throughout the past few seasons. This led to Alex working his way up through the grades, including playing a couple of games in 2nd Grade. This was an impressive win as Sydney ended up coming 2nd overall.

Round 5 against Blacktown was abandoned on the second day due to the unfortunate passing of Phillip Hughes.

Round 6 was a very tight win against Parramatta, but could have easily been a second innings loss or outright win, all within one day as the first day was washed out. Dylan Lowy and Jayden Brown started us off well bowling with good pace and swing taking 4-26 and 3-21 respectively. We then passed their score easily thanks to impressive hitting from Sibghat Khan and Will Fraine. After dismissing them again and needing 140 off 25 overs, inexperience under pressure led to Scott Dawes and Jayden Brown holding on for 5 overs for the last wicket.

Round 7 against St George was a game we should have won, but was another example of inexperience chasing runs. Joel Almond was impressive opening the bowling, taking 5-35 and he is one player who will definitely play higher grades. No-one put their hand up with the bat which led to a disappointing loss.

Round 8, 9 and 10 were all losses we would rather forget about. We were convincingly beaten in all three games and this ended our slim chances of making the finals. Our inexperience showed in these games as we were missing someone to steady the ship when there was a collapse. These young guys will learn to bat to the situation in the game but it is all a learning curve and they will be better for it when they are in the same situation in the future.

Round 11 was our closest game of the season against UNSW. We welcomed back Mark Andersson from injury and he showed his class by compiling a score of 84. He showed the guys how to set up an innings and that if you bat 50 overs you are bound to score runs. We defended 186 on a small ground which showed discipline from the bowlers and fielders. Rory Darkins was the pick of the bowlers, turning the game with his leggies taking 2-29. It was good to see his hard work every week at training and on game day payoff.

Round 12 was a tight loss against Manly, who came first at the end of 15 rounds. It was one of those games that could have gone either way but we just didn't win enough of the big moments. After only scoring 124 on a flat Sutherland Oval, with too many batsmen getting starts and not going on with it, which is the story of our season, James Arnold stepped up with his left-arm orthodox to bamboozle the opposition batsmen on the way to 5-13 off 18.1 overs, including 10 maidens. However, the batsmen not giving the bowlers a defendable target saw Manly reach our target 8 wickets down.

Round 13 against Gordon was a close win with batsmen again getting starts but no-one making a big score. Sibghat Khan bludgeoned his way to 41 and Mark Andersson chipping in with 33. We then bowled and fielded well as a team with wickets shared around, leading to a 47 run win. Mark Andersson kept very consistently throughout the year and he is a good clubman always supporting team mates and helping me out whenever possible.

Round 14 saw us convincingly beat Randwick-Petersham at a scenic Coogee Oval. Hayden Watson starred with the ball on Day 1, ripping through the batsmen by bowling a great line and length and swinging the ball on his way to figures of 6-24. We got past their score on day 1 with Matt Wright scoring a well-compiled 52 and Sibghat Khan getting a quick-fire 31. On Day 2, we took a couple of early wickets but an outright win was hard to come by especially on a flat Coogee Oval.

Round 15 was another win against North Sydney and was one of our better all-round games. Although our top five batsmen were all under 17, they showed maturity in setting up their innings which saw Colin D'Arcy score 43, Will Vandermaal 42 and James Arnold 41. With more experience, these guys will kick on to get bigger scores. Dylan Lowy led our attack in taking 5-25 in a fine display of left arm in-swing bowling. It was enjoyable to watch Dylan bowling as fast as he can and swinging the ball consistently throughout his spell. This is something he has been working hard on and it's good to see him get rewards for this.

It was very pleasing to finish the season with three wins. It shows the fight the boys have with their backs against the wall. After such a tough season, it would have been easy to switch off towards the end of the season but they were determined to finish on a high and build towards next year.

I would like to thank all the parents who helped out throughout the season with covers, afternoon tea and scoring. Your assistance made my job a lot easier this year, so thank you.

A special mention to Nicole Bramah and Paul Burg. Nicole was the scorer at the majority of our games at Sutherland Oval, which helped as some of the guys struggled once the score got past 10 as they couldn't count on their fingers. Paul Burg was also at most home games and

would help out with the drinks, afternoon teas, marking the pitch during intervals and ensuring everything ran to plan. Thanks for the help you gave throughout the year, which made my first year as captain a little easier.

Individually the following players deserve a mention. James Arnold, at 15 years of age, showed that he is destined for big things as his batting technique is very solid and his power game will get better with age. It was difficult for him at times this year playing on a slow Sutherland Oval outfield with boundaries hard to come by, but he learnt to rotate the strike by working the ball around.

Matt Wright was the surprise packet of the year. He was one of our most consistent batsmen and as the year progressed, his technique improved considerably which enabled him to hit the ball to areas of the field he previously couldn't. He also worked hard on his fielding technique which saw his confidence improve in the field. This was due to how hard he worked at training and the coaching staff are to be thanked for this as well.

On the bowling side, the majority of our bowlers were only a year or two out of juniors so they are still learning their game. It is pleasing to see so many young pace bowlers coming through and give these guys a few years and they will get even better. The likes of Dylan Lowy, Angus Fallins, Joel Almond, Jayden Brown and our international import Alex Clegg can all bowl with swing and pace and I look forward to seeing them get even better in the next few years.

I would like to thank Phil Weatherall and Tom Iceton for the effort they put in this year to ensure the best teams were on the field and that all bases were covered for each game. They both have very time consuming jobs due to the high player turnover each week and the fact that all sides had first year captains made it even harder.

The coaching staff also put in a big effort this year which showed with a large turnout at training every week. Due to their coaching advice and consistent training, every player has learnt and improved their game. Shane Duff deserves a special mention as he put his hand up last minute to fill the vacancy as head coach and he worked tirelessly to ensure everyone was working hard at training to become a better player.

I would like thank the committee for giving me the opportunity to captain a grade team. It was an enjoyable year where I learnt a lot and I now have a greater appreciation to how hard it is to be a captain or be involved in the running of a cricket club.

To all the 29 players who played 4th Grade this year – thanks. Although this year wasn't as successful as we all had hoped, I trust that you enjoyed your cricket and the experiences we had will help you take your game to the next level. Although we had such a young team and didn't go quiet as well as previous years, everyone was always eager to play in a fun and competitive way. Everyone in the team has the ability to play higher grades and I hope you all reach your potential in the future.

**MATT BURG** 

#### **4TH GRADE**

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
A.Watkiss	4	5	2	84	214	71.3
M.Andersson	7	8	0	84	182	22.8
W.Fraine	10	12	1	38	233	21.2
S.Khan	13	14	1	41	265	20.4
J.Arnold	14	15	0	46	300	20.0
A.Clegg	15	15	4	43	193	17.5
M.Wright	14	15	0	52	262	17.5
C.D'Arcy	8	8	0	43	129	16.1
R.Darkins	6	6	2	18 *	63	15.8
A.Fallins	6	5	3	27 *	30	15.0
M.Burg	15	15	2	40	191	14.7
J.Almond	10	9	1	49	110	13.8
D.Lowy	11	8	2	12 *	49	8.2

Also played: D.Smith 1-1-0-145-145-145.0, W.Vandermaal 2-2-0-42-52-26.0, S.Dawes 5-4-1-27-61-20.3, Jayden Brown 4-4-3-11\*-18-18.0, C.Macnamara 1-1-0-18-18-18.0, L.Casey 3-3-0-37-44-14.7, J.Bills 1-1-0-9-9-9.0, H.Watson 5-4-0-15-35-8.8, K.Brockley 1-1-0-5-5-5.0, R.Thomson 1-2-0-4-5-2.5, B.Drury 2-2-0-4-4-4.0, M.Johnson 1-1-0-0-0-0.0, S.Milliken 2-1-0-0-0-0.0, J.Zywietz 1-1-0-0-0-0.0, O.Selby 1-1-1-64\*-64---, J.Hoy 1-1-1-15\*-15---

Highest scores: D.Smith 145 v.Fairfield-Liverpool; A.Watkiss 84 v.Campbelltow Camden, 59\* v.Bankstown; M.Andersson 84 v.University of NSW; O.Selby 64\* v Fairfield-Liverpool; M.Wright 52 v.Randwick Petersham.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
H.Watson	5	91.4	26	210	15	14.0
J.Almond	10	67.5	12	202	14	14.4
D.Lowy	11	91.5	19	299	18	16.6
A.Watkiss	4	71.0	17	196	11	17.8
J.Arnold	14	61.5	16	164	9	18.2
M.Burg	15	53.4	7	178	. 9	19.8
R.Darkins	6	45.0	1	154	7	22.0
A.Clegg	15	104.1	25	280	12	23.3
A.Fallins	6	51.0	11	175	7	25.0
S.Dawes	5	65.0	17	178	7	25.4

Also bowled: Jayden Brown 28.2-9-59-5-11.8, S.Milliken 12-2-34-2-17.0, S.Khan 20-3-63-3-21.0, J.Bills 2-0-12-0, C.Macnamara 10-5-16-0, L.Casey 5-0-17-0, R.Thomson 8-1-23-0.

Best bowling figures: H.Watson 6-24 v.Randwick Petersham; A.Watkiss 6-42 v. Sydney; J.Arnold 5-13 v.Manly-Warringah; D.Lowy 5-25 v.North Sydney, 4-26 v. Parramatta; J.Almond 5-35 v.St.George; S.Dawes 4-17 v.Fairfield-Liverpool.

Wicketkeeping: C.D'Arcy 11 catches; M.Andersson 5 catches, 2 stumpings.

Catches: W.Fraine 9; M.Burg 8; A.Clegg 6; S.Khan 4; J.Arnold, R.Darkins, S.Dawes 3 each; J.Almond, B.Drury, D.Lowy, H.Watson, M.Wright 2 each; J.Bills, Jayden Brown, L.Casey, A.Fallins, S.Milliken, W.Vandermaal, A.Watkiss 1 each.

#### FIFTH GRADE

2014-15 was a tough initiation to grade cricket for our boys. In contrast to our highly successful season the previous year where we finished one match from the final, we managed just the one win during the regular season and finished bottom of the table.

We commenced the season with nine debutants and, as the season progressed, many others also made their debut – a total of 13. Experience is quite valuable in grade cricket; the boys have taken plenty out of their first season, learning about their individual game, working as a team, and will certainly be better for having the year under their belt.

Despite the one win, there were some highlights throughout the season worth mentioning:

Round 1: vs Fairfield-Liverpool — Despite the highly interrupted pre-season we turned up ready to play at Don Dawson. With 9 players making their debut for the Sharks, we showed plenty of energy, enthusiasm and commitment. After spending 92 overs in the field, we managed to bowl them out for 202. The bowling was terrific, with the first sundry bowled after 58 overs! In his first game back from injury, Pat Driscoll was certainly the pick of the bowlers with 2-14 off 16 overs. In a diving fielding effort, unfortunately he would spend some more time on the sideline recovering. Jayden Brown bowled well for his 3-43. Angus Fallins and Ryan Thomson picked up 2 wickets each in their spells.

Callum Weatherall and Matt Wright got us off to a great start with a 50 run opening stand. Will Vandermaal and Matt then put on 72 before their partnership came to an end. Ryan Thomson entered and helped get the scoreboard ticking along to reach the total in 60 overs. Standouts with the bat were Matt Wright who fell short of a century on debut with 93, and Ryan Thomson with 75. The boys frantically trying to learn the words to the "Shark Attack" courtesy of an SMS as we went along. Unfortunately this would be the only Shark Attack for the season.

Round 2: vs Bankstown – several injuries and player unavailability meant club legends Phil Weatherall and Adam Fleming were called in at the 11th hour to fill in. Another 3 wicket haul for Jayden as well as solid bowling from Chunky with 2. Will scored his first 50 for the season; and Flem's contribution with his left arm orthodox and handy 74 with the stick weren't enough to get us over the line.

Round 3: vs Campbelltown-Camden – in a scorching 36 degrees, we found it difficult to sustain our effort for the whole 80 overs, dropping plenty of catches in the field. Angus Fallins the standout with the ball taking 4-32.

Round 4: vs Sydney – We welcomed back club legend David 'Doc' Givney in his 40th season playing for the club. Unfortunately we chased leather for much of the day and the visitors declared at 5/370. Mitch Johnson and Shaun Thornton got us off to a flyer and we found ourselves 0/50 overnight. Unfortunately a big individual score didn't eventuate, and we fell 70 short. Standouts with the bat were Ryan Thomson 58, Mitch Johnson 57 and James Hoy with 50. Jayden Brown picked up another 3 wickets.

Round 5: vs Blacktown – another scorching day out west, and a cameo by former higher grades player Grant Davies. Defending 123, we managed to skittle the home side for 43 before the end of the first days play in a devastating display of bowling – Grant taking 5-22

and Angus Fallins 3-7. The sad passing of Phillip Hughes earlier in the week meant that week two was cancelled, the match finishing in a draw.

Round 6: vs Parramatta – we continued in the same vein as the week before, dominating the Parramatta batsmen, bowling them out for 184. At 3/156, we were in the box seat to take the win. We managed to lose 7/23, finishing 5 runs short of the Parra total.

Round 7: vs St George – We welcomed back last season's James A Daly winner Chris Macnamara. Continuing his good form he picked up 3-28 in a tight match that came down to the last few overs.

Round 8: vs Northern District – In another one day match, we welcomed another experienced player in Liam Casey joining the team, taking two brilliant catches in the grippers. We struggled to take wickets, and needed to chase down 302 in 50 overs. Angus Fallins was the standout with the bat 59\*.

Round 9: vs Eastern Suburbs – We bowled well containing the home team to 205, Ryan Thomson and Pat Driscoll taking 2 wickets each. Unfortunately our batting let us down and we finished 60 short.

Round 10: vs Sydney University – A tough day in the field, the students posted 7/352 at the end of their 50 overs. Pat Driscoll the pick of the bowlers with 3-44. With a big target ahead and losing a few early wickets, we finished 130 runs short. But the definite stand out performance of our season was this innings by Will Vandermaal. Even though he will say it's the worst he's batted, he can be very proud of his unbeaten 134\*. Coming in at 1/14, he batted out the remainder of the innings, working very hard to score the team's only century of the season.

Round 11: vs UNSW – Another game we should have won, had we batted out our 50 overs. We posted 167 in 43.2 overs. Kyle Brockley, who returned from a long injury, helped the boys take the game to the next level – we played with the Sharks fighting spirit taking the game to the last 7 balls of the allotted overs. Shaun Thornton the standout with a quick fire 44. With the ball Dylan Lowy a strong bowling display with two wickets, and James Arnold 1-15 off his 10 overs.

Round 12: vs Manly-Warringah – In the battle of the beaches we certainly turned up to play. We took to the competition leaders bowling them out for 198. Dominant out-swing bowling by Steven Milliken to take 5-39, accompanied by Pat Driscoll with 2-25. We failed to build partnerships with the bat, and fell 50 short. James Hoy a great performance with the bat 51. An honourable mention to Jordan Wilson who forgot to wear a hat, and no sunscreen, with Doc conducting post match medical to assess the extent of the burns.

Round 13: vs Gordon – Wild weather overnight didn't help our cause, the pitch with plenty of juicy spots, and storm clouds hovering above made for an easy decision to bowl first. Hayden Watson joined us after his break, and bowled tight and taking 2 wickets. But the standout with the pill was Jayden Brown taking 4-37. But we were unable to post a total bowled out for 80.

Round 14: vs Randwick Petersham – We were sent in to bat, and bowled out for 100. Randy Petes took first innings points and sent us back in at tea. The boys showed steel and

determination, and avoided handing them the outright in a gutsy fight. Kyle Brockley 3-43, Steven Milliken 2-10.

Round 15: vs North Sydney – after 40 seasons, and 527 matches playing for the Sharks, Doc announced his retirement. Many family and well-wishers came by Tonkin Oval throughout the morning to celebrate a wonderful career. Unfortunately, we were unable to send him out a winner, bowled out for 96, and the visitors passed the total in 26 overs.

Congratulations Doc on a wonderful career. You are an absolute legend of the club. Thanks for your encouragement, support, friendship and of course humour. You are the epitome of the spirit of cricket, and I, along with many at the club, thank you for the memories we shared over the years. Both on the field and of course the drives to and from matches – recounting the wickets of the day and all things non-cricket, the perfect way to spend a Saturday. Thanks also for turning up to the games this season, and helping out with the scoring.

A special mention must go to Hunter Gregory who managed to take 14 catches from 13 matches.

To the guys who debuted or filled in this season, Doc, Gee, Flem, Guin, Chunky, Liam Austin, Elijah, Mason, Jordon, Ben and Darryl, thanks for making yourselves available throughout the season.

To the wonderful parents who helped make Tonkin Oval the best catered afternoon teas in Sydney Grade Cricket – Shona Thomson, Gina Johnson, Trisha Thornton, Lynelle Milliken, Carmel Vandermaal, Susannah Gregory, Toni Weatherall and Allina Brown. Of course, we can't forget the dads who helped out with the scoring and covers when we needed help – Darryl Thornton, Mark Vandermaal, Peter Thomson and Cameron Gregory.

To the Chairman of Selectors Phil Weatherall – thank you for your efforts throughout the season, not only trying to find players for us at the 11th hour with player unavailability but also putting on the whites to help out with numbers. Thank you for the regular chats and assistance throughout the season.

Tom Iceton – Thank you for all your hard work during the year, ensuring stats were up-to-date each week, not to mention the late changes each week, helping to get the gear to all the players usually on the morning of the game.

To the committee, thank you for the opportunity to lead the club's next generation of Sharks in 2014-15. It has been an absolute honour and privilege in particular in such a significant year for the club, celebrating its 50th season.

Of course to my fellow captains, thank you for your support throughout 14-15, it has been great to lead the club alongside you. A big thank you to the coaching staff, Shane Duff, Adam Fleming, Dan Rixon and Adam Fleming for their efforts throughout the season; also a big thanks to Beau Casson for his specialist spin-sessions. Congratulations to Junior and the PG's boys taking out the title undefeated. Bob Duff and David Cush special mention to you, always finding a time slot for me to have a bat and bowl each training session.

#### **5TH GRADE**

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
W.Vandermaal	11	12	1	134 *	375	34.1
A.Fallins	7	6	1	59 *	137	27.4
S.Kourouche	15	15	6	35 *	205	22.8
R.Thomson	11	12	0	75	224	18.7
S.Thornton	12	13	0	50	207	15.9
Jayden Brown	9	8	3	26	76	15.2
M.Johnson	14	15	0	57	227	15.1
J.Hoy	13	13	0	51	171	13.2
H.Gregory	13	14	2	36	154	12.8
C.Weatherall	13	13	0	36	148	11.4
P.Driscoll	8	6	1	16	30	6.0
S.Milliken	12	11	2	26	49	5.4

Also played: M.Wright 1-1-0-93-93-93.0, A.Fleming 1-1-0-74-74-74.0, H.Watsor 1-1-0-27-27-27.0, J.Arnold 1-1-0-25-25-25.0, M.Neale 1-1-0-15-15-15.0, G.Davie 1-1-0-12-12-0, C.Macnamara 2-2-0-23-23-11.5, P.Weatherall 2-2-0-23-23-11.5 L.Casey 1-1-0-11-11-11.0, K.Brockley 3-3-0-12-21-7.0, B.Williams 3-3-0-13-18-6.0, E.Adcock 1-1-0-3-3-3.0, D.Givney 4-4-0-1-1-0.3, A.Waugh 1-1-0-0-0-0.0, D.Lowy 1-1-1-14\*-14---, J.Wilson 2-2-2-1\*-1---, E.Bagnall 1-DN

Highest scores: W.Vandermaal 134\* v.Sydney University, 61 v.Parramatta, 50 v. Bankstown; M.Wright 93 v.Fairfield-Liverpool; R.Thomson 75 v.Fairfield-Liverpool, 58 v.Sydney; A.Fleming 74 v.Bankstown; A.Fallins 59\* v.Northern District; M.Johnson 57 v.Sydney; J.Hoy 51 v.Sydney, 51 v.Manly-Warringah; S.Thornton 50 v.Sydney.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
A.Fallins	7	70.2	12	229	13	17.6
P.Driscoll	8	80.3	23	224	12	18.7
Jayden Brown	9	89.4	12	395	17	23.2
S.Milliken	12	103.0	15	416	16	26.0
R.Thomson	11	62.0	13	229	8	28.6
W.Vandermaal	11	50.5	4	228	7	32.6
S.Kourouche	15	152.5	29	474	12	39.5

Also bowled: G.Davies 12-3-22-5-4.4, P.Weatherall 13-4-29-3-9.7, J.Arnold 10-4-15-1-15.0, H.Watson 9-0-35-2-17.5, D.Lowy 10-0-36-2-18.0, K.Brockley 19-2-77-4-19.3, A.Fleming 7-1-20-1-20.0, C.Macnamara 20-3-63-3-21.0, E.Adcock 6-0-24-1-24.0, B.Williams 32.3-6-109-2-54.5, J.Hoy 55-2-276-3-92.0, C.Weatherall 34-9-134-1-134.0, S.Thornton 1-0-6-0, J.Wilson 6-2-12-0, A.Waugł 5-0-31-0, E.Bagnall 4-0-48-0, H.Gregory 9.5-1-60.0.

Best bowling figures: G.Davies 5-22 v.Blacktown; S.Milliken 5-39 v.Manly-Warringah; A.Fallins 4-32 v.Campbelltown-Camden; Jayden Brown 4-37 v. Gordon.

Wicketkeeping: M.Johnson 15 catches, 1 stumping.

Catches: H.Gregory 14; W.Vandermaal 6; J.Hoy, S.Thornton 4 each; Jayden Brown, S,Milliken, R.Thomson 3 each; L.Casey, S.Kourouche 2 each; J.Arnold, K.Brockley, P.Driscoll, A.Fleming, C.Macnamara, C.Weatherall, P.Weatherall 1 each.

#### POIDEVIN-GRAY SHIELD

Without sounding arrogant, undefeated Premiers was an appropriate outcome for this very talented team of young cricketers. We went into the prestigious Poidevin-Gray Shield competition as the widely recognised favourites and came out dominant victors. We felt confident that if we turned up with the right attitude for every match we would be the team to beat.

The abbreviated match statistics show how dominant this crop of Under 21 players were. When batting first we posted scores of 248, 297, 276, 263, 291 (Semi-final) and 241 (Final). On the two occasions we had to chase, 145 was overhauled 2 wickets down inside 25 oivers and 182 (Quarter-final) reached 4 wickets down in 30 overs. In the limited overs format of the PG competition, these stats are simply outstanding.

Due to a washout in Round 6 vs Parramatta, we played 5 preliminary matches, scoring 1,229 runs for 29 wickets lost (ave 42.38) and conceding 775 runs while taking 50 wickets (ave 15.50). In the three finals matches, we scored 714 runs for 18 wickets lost (ave 39.67) and conceded 548 runs while taking 29 wickets (ave 18.89). In three of the round matches, we won with a bonus point to highlight our dominance. It was very pleasing to see the boys play to their potential, crushing our opposition along the way.

Nearly all of the boys were part of AW Green Shield teams in recent years that had success but couldn't land a premiership, so a second PG premiership in four seasons was more than satisfying.

Jamie Brown had a tremendous series with bat and ball, finishing with 470 runs (strike rate 82.0) and 13 wickets. He scored his maiden PG century vs North Sydney (109) and took two 5 wicket hauls, the only player in the competition to do so. If the SCA had a player of the series, Jamie would most certainly have won it. His aggregate of 470 broke the previous record for the club of 456, which was set by Andrew Hilditch 40 years ago in 1974-75.

Adam Whatley had a consistent series, scoring 350 runs (strike rate 111.5) and was the only player in the competition to score two centuries. This is the fifth highest PG season aggregate in the club's history. His attack at all cost approach at the top of the order was great to watch and set the tone for many of our innings. Jamie and Adam scored nearly half of the team's runs during the series and deserve special mention. It goes to show that if a couple of batsmen are willing to get their heads down and apply themselves, they can go a long way to securing victory for their team.

Ben Dwarshuis also had an excellent 'team lifting' series. His professional, keep it simple, no nonsense approach was a calming influence on the team and as a senior player within the group he led by example. In his 5th over in the final, he took two wickets in two balls and put the Northern District batsmen under extreme pressure chasing our total of 241.

Trent Smith was once again consistent with the new ball, keeping it full and swinging it toward the slips cordon. He took the first wicket in all but one match, which for his age and relative small stature for an opening bowler was a spirited effort.

Tom Pinson did an outstanding job for the team, taking 13 wickets and was very consistent with his pace, line and length. Tom is improving all the time and I'm predicting with further hard work and practice he will be a big a contributor to 1st Grade teams for many seasons.

Our club has been blessed to gain the services of Riley Ayre from the Upper Hunter Region of NSW. He is a talented young cricketer of great worth and his nous and match awareness will help win many games for Sutherland 1st Grade and PG teams in the future. His bowling completely strangled and controlled opposition teams. A very exciting player and a pleasure to have in the team.

Surprisingly not many chances came Jono Rose's way but when they did he took them with his usual stylish, clean manner. He was again fantastic behind the stumps, driving the team to a high standard in the field. He made good contributions with the bat in the middle order, forming partnerships with top order players that were usually set. He scored 250 runs for the series at the very healthy average of 125!

Jack Leaning captained the team brilliantly and his experience in English County Cricket shone through at times during the series. He showed his class when it mattered, scoring a well compiled, confident 71 in the final, then took 2 wickets and was awarded the Shane Lee Medal for player of the match.

The quality of the team's batting and bowling was of a very high standard but the fielding and catching was great to watch. The boys clearly enjoyed their fielding, which produced some excellent catches and very exciting run outs. Their athleticism and anticipation will hold them in good stead in higher level cricket.

The last four seasons has been a great period in PG's for the club. Not only have we won two premierships, it's the quality of player that has emerged that is most pleasing. Every player has the ability to play and contribute in 1st Grade in the near future and with practice and application I'm sure this will happen.

I would like to thank Allison Brockley for scoring during the series. Unfortunately her son Kyle was unable to play a part due to injury but Allison showed her commitment to travel from the South Coast and support the team.

As usual the team had great support from parents and family and I would like to thank you all for being there to watch, enjoy and spur the boys on. As a player, there is nothing better to look up toward the clubhouse and see a team of Sutherland supporters.

Lastly to all the players, well done and congratulations. You thoroughly deserved this success and were comfortably the best team. Your conduct on and off the field made me proud to be associated with you. Great pleasure and entertainment was gained watching you play. The challenge now is to take this success and good form in to 1st Grade and win yourselves a top grade premiership. With hard work and plenty of practice, this can happen.

**MATT BRADLEY** 

#### POIDEVIN-GRAY SHIELD

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
J.Rose	7	6	4	62 *	250	125.0
Jamie Brown	8	8	1	109	470	67.1
A.Whatley	8	8	1	107 *	350	50.0
J.Leaning	8	8	0	71	249	31.1
T.Doyle	8	8	2	57 *	180	30.0
Shayne Smith	6	3	1	29 *	38	19.0
L.Maddinson	8	7	2	32 *	93	18.6
B.Dwarshuis	6	5	0	45	91	18.2
D.Fallins	7	3	1	22 *	36	18.0
T.Pinson	8	1	0	1	1	1.0
T.Smith	8	2	0	0	0	0.0
R.Ayre	3	2	2	24 *	47	

Also played: R.Almond 2-DNB, R.Maguire 1-DNB. 2-1-1-13\*-13\*---.

Highest scores: Jamie Brown 109 v.North Sydney, 83 v.Hawkesbury, 73 v. Mosman, 56\* v.Penrith, 51 v.Manly-Waringah (Semi-final); A.Whatley 107\* v. Manly-Warringah (Quarter-final), 106 v.Western Suburbs, 63 v.St.George (Semi-final); J.Leaning 71 v.Northern District (Final), 58 v.Mosman; J.Rose 62\* v.North Sydney, 62\* v.St.George (Semi-final); T.Doyle 57\* v.Penrith, 56\* v.St.George (Semi-final).

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
Jamie Brown	8	51.4	3	172	13	13.2
<b>B.</b> Dwarshuis	6	41.0	7	155	11	14.1
J.Leaning	8	27.2	1	106	7	15.1
T.Pinson	8	51.1	4	208	13	16.0
T.Smith	8	52.0	11	208	10	20.8
D.Fallins	7	32.0	2	166	7	23.7
A.Whatley	8	20.0	0	125	5	25.0

Also bowled: L.Maddinson 4-1-14-1-14.0, Shayne Smith 11.3-0-49-2-24.5, R.Ayre 21-3-76-2-38.0, R.Almomd 4-1-14-0.

Best bowling figures: Jamie Brown 5-36 v.St.George (Semi-final), 5-37 v.Manly-Warringah (Quarter-final); T.Pinson 4-39 v.Penrith, 3-16 v.Hawkesbury; D.Fallins 4-43 v.North Sydney, 3-39 v.Western Suburbs; B.Dwarshuis 3-24 v.Mosman, 3-28 v.Western Suburbs, 3-37 v.Penrith; A.Whatley 3-24 v.Hawkesbury.

Wicketkeeping: J.Rose 4 catches, 4 stumpings; R.Maguire 1 stumping.

Catches: J.Leaning 7; Jamie Brown, B.Dwarshuis 4 each; D.Fallins, T.Pinson, A.Whatley 3 each; Shayne Smith, T.Smith 2 each; R.Almond, R.Ayre, L.Maddins 1 each.

#### A.W. GREEN SHIELD

The Green Shield boys were a brilliant group of lads to work with this year. They had a great attitude and worked hard, which made them great fun to coach and to be around as people. One of the most pleasing things to see was the lads enjoying each other's success throughout the tournament. We had some mixed fortunes on the pitch this year, but when the lads played to their potential, we put in some great performances. We won 3 out of our 7 games but were unfortunate not to win more — a couple of times coming up just short to some of the strongest teams in the competition.

We started off with two tough games against Manly and Mosman, where we fought hard, but ended up on the losing side both games. However, we got our competition up and running in the third game at home, with an 80 run victory against Hawkesbury. Thanks to strong contributions from Will Vandermaal (71), Callum Weatherall (38) and Troy Whittaker (32) we reached 6/246 from our 50 overs. Our bowling performance was just as strong as our batting, seeing us bowl Hawkesbury out for 166. The pick of the bowlers was Elijah Bagnall with an outstanding return of 5 overs for 8 runs, taking 4 wickets. It was great to see the lads come together as a team after a couple of tough games and put in a strong match winning performance to go into the Christmas break on a high.

After Christmas we came up against Penrith at Howell Oval. After winning the toss and bowling on a seamer friendly pitch we managed to reduce them to 6/73. The Sharks were dominating the game but a good partnership late on saw Penrith reach a total of 179. Unfortunately, our innings followed the same pattern and we fell to 7/55. But unlike the Penrith innings the Sharks lower order got stuck in and saw us get to 7/101 thanks to a strong partnership from Dylan Koprivec and Jack Dwarshuis before losing our next wicket. The last two wickets fell soon after and saw us bowled out for 146, falling 33 runs short. A disappointing end to a game we should have won.

Our next game was against St George. They batted first and posted a total of 229 on a very good pitch. A total we thought we would have a great chance of chasing down. The pick of the bowlers were Harry Tattersall (3-29 off 7) Alex Lee (2-35 off 10) and James Arnold (2-21 off 7). Unfortunately, our innings never really got going as we kept losing wickets at regular intervals and we were bowled out for 189. The main contributions were from Will Vandermaal (51) and Dylan Koprivec (36no).

Our next game saw a very convincing win for the Sharks away at Western Suburbs. We won the toss on a very bowler friendly pitch and took full advantage of the conditions. Harry Tattersall (2-14) made two early breakthroughs, and our seamers piled the pressure on the middle order. Our spinners James Arnold (0-8 off 10) and Alex Lee (4-18 off 10) continued to keep the opposition under pressure, only going for 26 runs in the next 20 overs whilst picking up four wickets, as well as some excellent fielding which produced two run outs. Troy Whittaker (2-20 off 8.5) then returned to bowl Wests out for 106. The Sharks top order took full control of the run chase and saw us reach the target with ease in the 34th over, with James Arnold (38\*) and Callum Weatherall (23) the two main contributors.

The last game of the tournament was against local rivals Randwick Petersham at home. After a below par competition, the lads and I were very keen to finish on a high with a win and that's exactly what happened! After losing the toss and bowling first on a very good pitch, we managed to restrict them to 5/200. The pick of the bowlers was again James Arnold with a return of 4-33 off 10. Although the other bowlers only took one wicket, they were all economical and bowled with discipline. Our fielding was also of a high standard, none more so than Austin Waugh who produced the best catch I've ever seen running around the

boundary and taking the catch one handed at full stretch. Our batting then got off to a strong start, with a stand of 53 for the first wicket and 55 for the second. The opposition bowlers then put plenty of pressure on in the middle overs, taking a further 5 wickets. However a very good partnership between Dylan Koprivec and Harry Tattersall of 34 saw us home to win the game.

I'd like to thank all the parents for their help and continued support during the season - with a special mention to those making afternoon tea and scoring which helped me enormously! More so to Mark Vandermaal, who was my team manager this year. I can't thank him enough for helping with everything off the field and all the admin duties, which allowed me to concentrate on coaching the kids.

I'd also like to take this opportunity to thank the club for asking me to coach the Green Shield again this year. I had great fun doing it and will hopefully be back to coach the boys again in the future.

**JACK LEANING** 

#### A.W. GREEN SHIELD

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
D.Koprivec	6	5	2	36 *	104	34.7
J.Arnold	7	7	1	38 *	165	27.5
C.Weatherall	7	7	0	47	166	23.7
W.Vandermaal	7	7	0	71	164	23.4
E.Bagnall	5	4	2	11 *	42	21.0
H.Tattersall	7	6	2	23 *	77	19.3
J.Dwarshuis	5	5	1	40	75	18.8
T.Whittaker	7	7	1	32	111	18.5
N.Amos	4	4	0	24	72	18.0
M.Johnson	7	6	0	31	43	7.2
A.Lee	7	4	2	6 *	8	4.0
T.Derrick	3	2	0	4	5	2.5

Also batted: N.Harvey 3-1-0-1-1-1.0, A.Waugh 2-1-0-0-0.0.

Highest scores: W.Vandermaal 51 v.St.George.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
J.Arnold	7	48.0	10	134	10	13.4
A.Lee	7	56.0	9	149	11	13.5
E.Bagnall	5	30.0	2	133	7	19.0
H.Tattersall	7	50.4	5	199	10	19.9
T.Whittaker	7	417.3	2	171	6	28.5
A.Waugh	2	9.0	0	67	2	33.5
N.Harvey	3	20.0	1	79	2	39.5
J.Dwarshuis	5	30.0	4	105	2	52.5

Also bowled: T.Derrick 8-1-59-1-59.0, D.Koprivec 8.3-0-41-0, W.Vandermaal 21-1-78-0.

Best bowling figures: E.Bagnall 4-8 v.Hawkesbury; A.Lee 4-8 v. Western Suburb 3-14 v.Manly-Warringah; J.Arnold 4-33 v.Randwick Petersham; H.Tattersall 3-22 (incl. hat-trick) v.St.George.

Wicketkeeping: M.Johnson 2 catches, 5 stumpings.

Catches: T.Whittaker 7; J.Arnold 4; H.Tattersall, W.Vandermaal 3 each; C.Weatherall 2; E.Bagnall, D.Koprivec, A.Lee, A.Waugh 1 each.

## TEAM RECORDS

### **All Grades**

Highest Team Score Highest Individual Score Best Bowling Figures Highest Batting Aggregate Highest Bowling Aggregate Most Wicketkeeping Dismissals Most Catches by Fieldsman		7/585 321 9-19 975 73 52 20	2nds       v. Nthn Dist (Qual final)       09-10         P.Jaques (1sts)       06-07         P.Lennon (4ths)       65-66         R.Davison (1sts)       95-96         P.Purcell (5ths)       95-96         D.Rixon (1sts)       05-06         S.Hall (5ths)       70-71
	Partr	nerships	
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	R.Furner-T.Cadden N.Maddinson-M.Hughston D.Murphy-S.Pickering S.McInnes-A.Phillips T.Brennan-G.Kenny S.Rixon-G.Horner J.Brockley-B.Marciante Dylan Smith-Shayne Smith J.Burnett-J.Bills A.Phillips-D.Marandola	255 285 284 252 234 261 179 147 183 *	AWG       v. M&S Western       93-94         1sts       v. East Subs (Semi-final) 09-10         2nds       v. Camp'town-Camden 09-10         3rds       v. Bankstown       10-11         4ths       v. Campbelltown       92-93         1sts       v. Parramatta       88-89         2nds       v. Nthn Dist (Qual final) 09-10         P-G       v. Gordon       10-11         * 2nds       v. St.George       11-12         3rds       v. Western Suburbs       03-04
	First	t Grade	
Highest Team S Highest Individual Best Bowling Fi Highest Batting Highest Bowling Most Wicketkee Most Catches by	al Score gures Aggregate g Aggregate eping Dismissals y Fieldsman	6/500 321 9-24 975 60 52 17 nerships	v. North Sydney P.Jaques 06-07 E.Cotton 68-69 R.Davison 95-96 J.Slattery 70-71 D.Rixon 05-06 M.D.O'Brien  v. Western Suburbs 84-85
SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	N.Maddinson-M.Hughston N.Maddinson-S.Cush R.Davison-S.Rixon P.Jaques-J.Young S.Rixon-G.Horner J.Steed-A.Clark R.Every-S.Gilchrist L.Ritchie-B.Stephen D.Rixon-C.Gilmour	285 219 247	v. Eastern Suburbs (Semi-final) v. Penrith 11-12 v. Penrith 88-89 v. Penrith v. Penrith v. Parramatta v. Randwick v. Randwick v. Mosman-Middle Harbour v. Bankstown-Canterbury v. Sydney University 09-10 88-89 68-89 05-06 06-69 10-11
	Secor	ıd Grade	e
Highest Team S Highest Individ Best Bowling F Highest Batting Highest Bowlin Most Wicketkee Most Catches by	ual Score igures Aggregate g Aggregate eping Dismissals	7/585 215 8-10 777 51 50 18	v. Northern District (Qual final) 09-10 D.Murphy 09-10 J.Philip 66-67 R.Davison 85-86 M.Black 73-74 J.Brockley 09-10 D.Celep 01-02

## TEAM RECORDS (cont'd)

## Partnerships

FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	D.Simpson-R.Davison K.Thessman-P.Lynam D.Murphy-S.Pickering J.Packer-D.Rixon K.Brown-J.Burnett J.Burnett-B.Dwarshuis J.Brockley-B.Marciante J.Packer-M.Carroll J.Burnett-J.Bills G.Davies-C.Gilmour	213 202 284 199 179 196 179 144 183 *	v. Mosman-Middle Harbour v. Eastern Suburbs v. Campbelltown-Camden v. Blacktown v. Sydney University v. Blacktown v. Northern District (Qual final) v. St.George (Final) v. St.George v. Bankstown	85-86 01-02 09-10 03-04 12-13 12-13 09-10 95-96 11-12 10-11
	Thir	d Grade		
Highest Team S Highest Individe Best Bowling F Highest Batting Highest Bowlin Most Wicketkee Most Catches by	ual Score igures Aggregate g Aggregate eping Dismissals	391 199 9-45 697 57 34 15	v. Balmain J.Holley P.McCann S.Wishart M.Black M.Morgan A.Phillips	87-88 92-93 70-71 77-78 84-85 06-07 11-12
	Parti	nerships		
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	D. Watson-K. Humphreys T. Woodhill-K. Humphreys B. Kirby-P. Bourke S. McInnes-A. Phillips A. Clark-J. Clark M. Condon-J. Clark A. Hale-D. Mann R. Shawl-D. Coots A. Kay-M. Ray A. Phillips-D. Marandola	252 ° 204 186	v. Parramatta v. Hawkesbury v. Northern District v. Bankstown v. Campbelltown v. Manly-Warringah v. Petersham-Marrickville v. Western Suburbs v. Gordon v. Western Suburbs	86-87 89-90 91-92 10-11 86-87 84-85 87-88 83-84 69-70 03-04
	Four	th Grade	2	
Highest Team S Highest Individ Best Bowling F Highest Batting Highest Bowlin Most Wicketker Most Catches b	ual Score igures Aggregate g Aggregate eping Dismissals	7/465 201 * 9-19 807 59 40 40	v. Mosman * T.Brennan P.Lennon B.Hazell R.Longbottom M.McLeay B.Miller A.Craig	10-11 92-93 65-66 71-72 65-66 66-67 06-07 01-02
	Parti	nerships		
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	A.Craig-M.Ridge A.Griffiths-K.Hatherly L.Dudman-D.Reynolds L.Malin-J.Burnett T.Brennan-G.Kenny D.O'Brien-G.Glover K.Lamb-J.Moffat L.Malin-D.Eaglesham H.Watson-C.Streater C.McCarron-S.Hair	207 234	v. Hawkesbury v. Bankstown-Canterbury v. St.George (Final) v. St.George v. Campbelltown v. Bankstown-Canterbury v. Petersham-Marrickville v. St.George v. University of N.S.W. v. Penrith	03-04 68-69 99-00 06-07 92-93 75-76 76-77 98-99 08-09 02-03

## TEAM RECORDS (cont'd)

### Fifth Grade

Highest Team Score Highest Individual Score Best Bowling Figures Highest Batting Aggregate Highest Bowling Aggregate Most Wicketkeeping Dismissals  Most Catches by Fieldsman			v. Parramatta M.Burg G.Geraghty K.Wilmott P.Purcell S.Gordon J.Wall S.Hall	06-07 11-12 89-90 06-07 95-96 97-98 02-03 70-71
	Partne	erships		
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	A.Dibley-A.Watkiss R.Chivers-K.Wilmott Steven Smith-S.Duff M.Bradley-D.Givney M.Condon-R.Duff J.Green-Steven Oxley Graham Goodman-A.Hilditch G.Horner-J.Beattie D.Eaglesham-C.Pendergast J.Wagner-C.Lawton	179 233	v. Northern District v. Campbelltown-Camden v. Western Suburbs v. Mosman v. University of N.S.W. v. North Sydney v. Mosman-Middle Harbour v.Sydney v. Bankstown-Canterbury v. Bankstown-Canterbury	13-14 06-07 04-05 10-11 92-93 70-71 70-71 12-13 00-01 74-75
	11 <u>A</u> 11	Shire		
Highest Team Score Highest Individual Score Best Bowling Figures Highest Batting Aggregate Highest Bowling Aggregate Most Wicketkeeping Dismissals Most Catches by Fieldsman			v. Ryde C.George E.Rollinson R.Rempt R.Walls A.Schuman E.Rollinson R.Rempt	66-67 68-69 65-66 67-68 65-66 65-66 65-66
	Partne	erships		
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	R.Ward-R.Rempt R.Rempt-G.Hilzinger B.McManus-A.Merritt A.Merritt-D.Gazzard P.McCann-R.Rempt A.Humphries-P.Turner G.Warry-E.Terone K.Edson-P.Venn C.McGinn-G.McCaughan A.Edmondson- G.McCaughan	95 158 124 121 103 97 90 67 78	v. Lane Cove v. Ryde v. University of N.S.W. v. Ryde v. Lane Cove v. Bexley v. Pennant Hills v. Auburn-Lidcombe v. Epping v. Pennant Hills	65-66 68-69 66-67 67-68 67-68 66-67 66-67 68-69
	"B"	Shire		
Highest Team S Highest Individ Best Bowling F Highest Batting Highest Bowlin Most Wicketkee Most Catches b	ual Score igures Aggregate g Aggregate eping Dismissals	8/295 146 8-6 392 45 21 12	v. Pennant Hills * A.Griffiths G.Glover A.Griffiths B.Druery K.Edson A.Griffiths	66-67 66-67 67-68 65-66 66-67 66-67

## TEAM RECORDS (cont'd)

## Partnerships

	Part	nerships		
FIRST: SECOND: THIRD: FOURTH: FOURTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH: Highest Team S Highest Individu		132 96 100 80 70 56 117 57 -Gray SI	v. Pennant Hills  * v. Pennant Hills  * v. Roseville v. University of N.S.W. v. Roseville v. Auburn-Lidcombe v. University of N.S.W. v. Auburn-Lidcombe  * v. Pennant Hills v. Burwood  hield  v. University of NSW  * P.Jaques	65-66 65-66 66-67 65-66 68-69 67-68 65-66 67-68 66-67 65-66
Best Bowling Fi		7-31	G.Barry	
Highest Batting		470	Jamie Brown	74-75
Highest Bowling		28	N.Howard	14-15
	eping Dismissals	22	G.Davison	88-89 88-89
Most Catches by	y Fieldsman	11	D.Holley	90-91
	1 Totasiitai	11	D.Honey	90-91
	Parti	nerships		
FIRST:	S.Peters-M.D.O'Brien	199	v. Waverley	94-95
SECOND:	R.Davison-P.Weatherall	234	v. University of N.S.W.	94-93 87-88
THIRD:	M.Probert-D.Godkin	157	v. Eastern Suburbs	
FOURTH:	P.Clark-P.Wilson	123	v. Waverley	98-99
FIFTH:	Jamie Brown-J.Rose	134	v. North Sydney	81-82
SIXTH:	A.Fleming-R.Shepherd	129	v. North Sydney v. Parramatta	14-15
SEVENTH:	T.Doyle-A. Whatley	148		02-03
EIGHTH:	Dylan Smith-Shayne Smith	148	v. Fairfield-Liverpool v. Gordon	13-14
NINTH:	J.Ford-A.Humphries	114		10-11
TENTH:	M.Heslehurst-T.Moreland	75	v. St. George	70-71
TEITHI.	Will testendist-1. Wioreland	13	v. Sydney University	00-01
	A.W.Gı	een Shic	eld	
Highest Team So	core	2/325	v. M&S Western	93-94
Highest Individu			C.D'Arcy	13-14
Best Bowling Fi		7-13	S. Woodley	81-82
Highest Batting		490	C.Lake	93-94
Highest Bowling		37	A.Hale	86-87
Most Wicketkee	ping Dismissals	22	T.Moreland	97-98
Most Catches by		11	S.Peters	92-93
,				72 73
PID GE		erships		
FIRST:	R.Furner-T.Cadden	255	v. M&S Western	93-94
SECOND:	M.Probert-C.Lake	192	v. Campbelltown	94-95
THIRD:	G.Marston-P.Venn	194	v. Western Suburbs	66-67
FOURTH:	T.Cadden-R.Furner	141	v. Bankstown-Canterbury	93-94
FIFTH:	J.Holley-J.Sheehy	131	v. Fairfield	91-92
SIXTH:	P.Fisher-P.Doherty	91	v. Western Suburbs	68-69
SEVENTH:	J.Dyson-A.Hilditch		v. Petersham-Marrickville	69-70
EIGHTH:	J.Horner-J.Almond	120	v. Manly-Warringah	13-14
NINTH:	S.Newman-B.Dwarshuis	83	v. Fairfield-Liverpool	07-08
TENTH:	J.Wall-T.Barakat	5/ *	v. North Sydney	01-02

### 100 MATCHES IN ALL GRADES

527 D.Givney	215 E.Atkins	151 P.Clark	123 D.Murphy
383 A.Clark	215 G.Coleman	151 M.Gardner	123 Steven Smith
348 M.Ridge	202 A.Hilditch	151 B.O'Dowd	121 D.Russell
346 K.Meadows	196 R.Davison	151 R.Wade	119 G.Glover
341 M.Bradley	195 N.Whittingham	150 R.Bain	119 T.Moreland
333 G.Barry	193 J.Zywietz	150 D.Eaglesham	119 Shayne Smith
324 P.Weatherall	192 S.Člark	150 J.Steed	118 S.Newman
315 L.Dudman	192 I.Everett	150 A.Whatley	116 Jamie Brown
313 M.D.O'Brien	189 J.Young	149 K.Lamb	116 R.Chivers
310 B.Davison	187 S.Duff	147 N.Howard	115 S.Hair
309 J.Holley	185 G.Horner	147 C.Lake	114 M.Preddey
308 M.Hughston	183 J.Tuccia	145 D.McLauchlan	113 W.Moodie
299 K.Tuite	181 G.Murphy	144 Bryan Dawson	112 C.Lucas
295 M.Duff	180 A.Fleming	143 K.Hudson	112 Daniel Simpson
287 J.Packer	179 T.Brennan	143 I.Napper	110 T.Freeburn
271 Justin Kenny	177 C.Christie	143 K.Rynne	110 J.Sands
260 D.Rixon	176 R.Archibald	143 Dylan Smith	109 D.Reynolds
258 P.Jaques	175 A.Mann	142 C.Gilmour	109 I.Stephen
257 M.Chapman	172 M.Lumb	142 R.Shepherd	107 D.Celep
253 J.Burnett	170 H.Reus	138 J.Rafique	107 R.Gilmour
253 D.Mann	168 S.Manning	137 S.Willis	107 L.Ritchie
251 B.Johnson	168 P.Venn	136 C.Hockey	106 G.Davies
247 M.Black	166 S.Boehm	136 L.Malin	106 K.Symons
245 C.Macnamara	166 B.Gorman	135 R.Mills	104 M.Earley
243 D.Holley	164 P.Fisher	134 T.Harvey	104 K.Hatherly
240 A.Craig	163 A.Northridge	132 C.Dodd	104 Trent Smith
240 D.Watson	161 J.Bills	132 L.Joyce	103 G.Bannon
238 K.Humphreys	161 A.Phillips	130 H.Watson	103 A.Humphries
237 T.Iceton	160 S.Pickering	129 B.Hazell	103 R.Rempt
237 C.Williams	160 M.Probert	128 J.Slattery	103 K.Richards
233 L.Fleming	158 G.Bailey	127 M.Jones	103 M.Kelly
231 G.Hilzinger	158 L.Casey	126 M.Heslehurst	102 B.Miller
230 G.Kenny	158 B.Hard	126 K.Rose	102 T.Reynolds
228 G.Marston	157 N.Loder	126 T.Woodhill	101 G.Barron
225 S.Cush	156 J.Clark	125 G.Davison	101 M.Condon
225 J.Dyson	156 J.Dunbar	125 B.Malbon	101 J.McInnes
223 G.Warry	155 J.Brockley	124 K.Brown	100 B.Pratt
222 M.Carroll	155 S.Dawes	124 A.Campbell	
218 L.Ball	153 P.Cox	123 J.Derwent	
217 N.Fitzgerald	153 C.Parsons	123 B.Dwarshuis	

### **50 MATCHES IN ONE GRADE**

First Grade		Second Grade	
214 A.Clark	93 A.Hilditch	167 K.Tuite	68 N.Whittingham
208 M.D.O'Brien	92 A.Campbell	142 J.Packer	65 R.Archibald
205 M.Bradley	90 A.Fleming	139 G.Barry	65 P.Venn
204 D.Rixon	89 L.Johns	129 M.Ridge	64 K.Brown
203 P.Jaques	88 B.Davison	121 D.Givney	64 A.Northridge
194 M.Hughston	84 C.Dodd	110 B.Johnson	62 S.Duff
192 L.Dudman	77 E.Cotton	105 B.Davison	61 L.Fleming
188 J.Young	77 D.McLauchlan	99 G.Coleman	57 S.Boehm
178 J.Holley	77 K.Tuite	99 D.Holley	56 J.Derwent
173 Justin Kenny	72 G.Bailey	89 J.Burnett	56 C.Gilmour
158 M.Chapman	72 P.Clark	88 M.Carroll	56 K.Williams
145 N.Fitzgerald	69 S.Rixon	86 L.Ball	54 J.Bills
143 J.Dyson	69 M.Brown	85 G.Marston	54 S.Manning
126 P. Weatherall	68 Steven Smith	81 C.Williams	53 T.Freeburn
123 M.Black	62 G.Barron	81 J.Brockley	53 R.Waddington
123 S.Clark	61 G.Marston	80 A.Clark	53 P. Weatherall
122 E.Atkins	60 N.Maddinson	80 I.Everett	52 M.Black
122 J.Tuccia	59 D.Murphy	78 D.Celep	52 M.Bradley
122 G.Warry	58 J.Slattery	75 P.Fisher	52 C.Macnamara
119 B.O'Dowd	56 G.McGrath	75 N.Howard	52 F.Timbrell
118 R.Bain	55 R.Every	73 K.Humphreys	50 R.Cartwright
115 G.Barry	54 G.Roden	69 H.Reus	50 D.Russell
114 S.Cush	53 L.Fleming	68 S.Pickering	
108 D.Mann	53 C.Williams		
101 B.Gorman	52 S.Duff		
100 M.Ridge	52 M.Gardner		
97 R.Davison	51 G.Horner		
96 L.Ball	51 J.Packer		
95 R.Wade	51 A.Zampa		
Third Grade		Fourth Grade	
148 M.Duff	65 B.Johnson	169 T.Iceton	66 K.Lamb
137 G.Kenny	62 A.Mann	124 A.Craig	65 B.Hard
121 G.Murphy	59 N.Loder	93 D. Watson	62 J.Burnett
112 A.Phillips	59 M.Lumb	90 C.Macnamara	62 M.Jones
111 J.Zywietz	58 C.Lake	79 R.Chivers	59 J.McInnes
100 D. Watson	55 A.Craig	77 R.Mills	58 J.Dunbar
90 K.Humphreys	55 G.Davison	76 M.Duff	58 M.Ridge
89 Bryan Dawson	53 L.Fleming	72 R.Gilmour	57 G.Glover
87 G.Hilzinger	53 J.Rafique	72 D.Givney	55 M.Lumb
76 D.Holley	52 J.Burnett	70 G.Kenny	55 K.Meadows
75 B.Davison	51 C.Gilmour	68 L.Casey	52 D.Lawrence
73 P.Weatherall	51 K.Hatherly	00 210450)	o 2 Billawionee
72 K.Meadows	50 M.Condon		
FIG. C. 1			
Fifth Grade	50 ID 1		
290 D.Givney	58 J.Dunbar		
161 K.Meadows	56 S.Kourouche		
130 C.Christie	55 S.Dawes		
91 D.Eaglesham	51 M.Jones		
74 K.Rynne	51 R.Mills		
63 G.Horner	50 K.Lamb		
60 S.Hall			

### 20 MATCHES IN AGE COMPETITIONS

Poidevin-Gray Shield			A.W.Green Shield
34 A.Whatley	27 T.Moreland	23 D.Holley	24 J.Horner
33 L.Dudman	27 Dylan Smith	23 D.Murphy	24 M.Probert
32 D.Mann	27 Shayne Smith	23 D.Rixon	23 J.Arnold
31 C.Williams	26 A.Hilditch	23 Trent Smith	23 Jamie Brown
30 J.Brockley	25 D.Russell	22 G.Bannon	23 D.Fisher
30 M.D.O'Brien	25 R.Shepherd	22 S.Hair	23 J.Rose
29 R.Davison	25 L.Talay	22 B.Malbon	22 A.Whatley
29 D.McLauchlan	24 G.Bailey	21 N.Howard	21 K.Hudson
28 M.Bradley	24 L.Fleming	21 S.Manning	20 L.Dudman
28 T.Brennan	24 C.Hockey	21 G.Warry	20 Dylan Smith
28 M.Hughston	24 K.Hudson	21 K.White	20 Shayne Smith
28 P.Jaques	24 M.Lumb	20 G.Davison	·
28 M.Probert	24 C.Parsons	20 I.Everett	
27 J.Holley	23 Jamie Brown	20 D.Reynolds	
27 G.Marston	23 J.Dyson	20 J.Sands	

### **CAPTAINED 50 MATCHES IN ALL GRADES**

Macnamara
Hall
Campbell
Hobden
Tuite
H (

### **CAPTAINED 30 MATCHES IN ONE GRADE**

First Grade 80 J.Dyson 76 J.Young 60 M.Hughston 47 M.D.O'Brien	42 E.Cotton 40 P.Jaques 39 S.Duff 35 S.Rixon	Second Grade 60 J.Burnett 52 G.Barry 48 B.Johnson 43 D.Givney	40 I.Everett 39 B.Davison 39 J.Packer 37 K.Tuite
45 A.Campbell	33 G.Errington 30 J.Bolster	40 A.Clark	30 G.Le Huray
45 I.Napper	30 J.Boister		
Third Grade		Fourth Grade	
92 G.Murphy	49 B.Davison	131 T.Iceton	41 D.Watson
63 M.Duff	33 K.Hatherly	74 A.Craig	32 K.Hatherly
60 A.Phillips	32 B.Dawson	51 C.Macnamara	30 B.Hazell
59 G.Kenny	32 K.Humphreys	42 B.Hard	30 K.Lamb
Fifth Grade			
232 D.Givney	51 S.Hall		
73 C.Christie	44 G.Horner		

## LEADING SEASON PERFORMANCES (INCLUDING L/O & AGE COMPETITIONS)

### **BATTING (800 RUNS)**

<b>D</b> ////////////////////////////////////	110110)	1sts	L/O	T20	2nds	3rds	4ths	5ths	A/B	P-G	AWG	Total
R.Davison	1995-96	975	171		_	_	_	_		_	-	1146
P.Jaques	1999-00	775	-		_	-	_	_		357	_	1132
A.Hilditch	1974-75	638	_		_	_	_	-		456	_	1094
J.Brockley	2011-12	71	-		536	-	_	-		413	_	1020
P.Jaques	1997-98	421	19		326	-	-	_		239	-	1005
M.Bradley	1996-97	170	118		544	-	-	-		165	-	997
P.Jaques	1998-99	731	57		-	-	-	-		208	-	996
Steven Smith	2005-06	429	-		232	155	-	-		180	-	996
K.Hudson	1975-76	-	_		-	433	75	-		59	390	957
Steven Smith	2006-07	796	-		-	-	-	-		155	-	951
M.Hughston	2009-10	964	-		-	-	-	-		-	-	964
Jamie Brown	2014-15	348	-	73	18	-	-	-		470	-	909
P.Jaques	2002-03	902	-		-	-	-	-		-	-	902
R.Davison	1985-86	-	-		777	-	-	-		121	-	898
Steven Smith	2007-08	856	-		-	-	-	-		42	-	898
M.Hughston	2012-13	876	-	3	-	-	-	-		-	-	879
M.Bradley	1992-93	-	-		-	-	281	277		-	320	878
A.Whatley	2014-15	324	-	15	183	-	-	-		350	-	872
M.Bradley	2008-09	780	-	91	-	-	-	-		-	-	871
P.Clark	1981-82	723	-		-	-	-	-		144	-	867
A.Hilditch	1973-74	737	-		-	-	-	-		121	-	858
R.Davison	1988-89	563	-		-	-	-	-		292	-	855
Justin Kenny	1990-91	855	-		-	-	-	-		-	-	855
M.Hughston	2005-06	695	-		155	-	-	-		-	-	850
P.Jaques	2006-07	849	-		-	-	-	-		-	-	849
M.Hughston	2008-09	733	-	22	93	-	-	-		-	-	848
Justin Kenny	1985-86	615	-		-	-	-	-		232	-	847
G.Marston	1966-67	-	-		138	132	111		-	31	432	844
D.Coots	1986-87	-	-		-	64	761	-		19	-	844
J.Young	1997-98	728	102		-	-	-	-		-	-	830
J.Young	2002-03	830	-		-	-	-	-		-	-	830
J.Horner	2013-14	-	-		-	<u>-</u>	43	323			463	829
S.Wishart	1977-78	-	-		49	697	-	-		77	-	823
P.Jaques	1996-97	-	-		593	-	-	-		223	-	816
M.Probert	1998-99	25	-		523	-	-	-		265	-	813
J.Young	1996-97	701	111		-	-	-	-		-	-	812
L.Dudman	2002-03	473	-		89	-	•	-		250	-	812
B.Hazell	1971-72	-	-		-	-	807	-		-	-	807
M.D.O'Brien	2004-05	800	-		-	-	-	-		-	-	800
D.Murphy	2006-07	53	-		391	112	-	-		244	-	800

### LEADING SEASON PERFORMANCES (INCLUDING L/O & AGE COMPETITIONS)

### **BOWLING (60 WICKETS)**

ROMFING (9	O WICKE	18)										
		1sts	L/O	T20	2nds	3rds	4ths	5ths	A/B	P-G	AWG	Total
A.Hale	1986-87	_	_		_	29	39	_		_	37	105
P.Purcell	1995-96	_	_		_			73		_	<i>-</i>	73
S.Edmonds	1967-68	_	_		_	_	6	75	42	_	21	69
P.Mackey	1973-74	_	_		_	_	40	28	12	_	_	68
P.Byrom	1998-99	28	3		11	-	-	-		26	_	68
N.Fitzgerald	2012-13	59	_	8	_	_	_	_		_	_	67
A.Hale	1985-86	_	_	Ū	_	_	45	4		_	17	66
S.Clark	1995-96	45	3		-	_	-			18	-	66
A.Manzie	1969-70		<i>_</i>		14	39	_	_		8	_	61
E.Rollinson	1969-70	_	_			<i></i>	_	61		-	_	61
N.Howard	1988-89	13	_		20		_	-		28	_	61
J.Slattery	1970-71	60	_		20	_	_		_	20	<u>-</u>	60
S.Edmonds	1969-70	-	_		_	22	8	17		13	_	60
S.Edmonds	1970-71	_	_		_	43	4	-		13	_	60
5.Edinonds	1770-71	_	_			73	7			13	_	00
WICKETKER	DINC (40	DICM	I K D D I	<b>C</b> )								
WICKEIKER	LING (40		L/O	T20	2nds	3rds	4ths	5ths	A/B	D C	AWG	Total
		1sts	L/U	120	Ziius	orus	41118	Suis	A/D	P-G	AwG	Total
D.Rixon	2005-06	52	-		-	-	-	-		7	-	59
G.Bannon	1974-75	-	-		11	26	-	-		19	-	56
J.Brockley	2009-10	-	-		50	-	_	-		6	-	56
S.Duff	1996-97	6	5		38	-	-	-		-	-	49
G.Bannon	1975-76	-	-		38	-	-	-		10	-	48
S.Hair	1998-99	-	-		12	19	-	-		17	-	48
J.Brockley	2011-12	-	-		32	-	-	-		16	-	48
L.Ball	1995-96	33	-		14	-	-	-		-	-	47
L.Ball	1998-99	43	4		-	-	_	-		-	-	47
S.Duff	2002-03	47	-		-	-	-	-		-	-	47
J.Brockley	2008-09	-	-	3	28	-	-	-		16	-	47
J.Ford	1970-71	7	-		21	-	-	-		18	-	46
G.Davison	1986-87	-	-		-	24	2	-		-	20	46
D.Rixon	2007-08	46	-		-	-	-	-		-	-	46
G.Davison	1988-89	1	-		2	14	6	-		22	-	45
L.Ball	1997-98	40	5		-	-	-	-		-	-	45
G.Goodman	1971-72	-	-		35	4	_	-		5	-	44
S.Hair	1996-97	-	-		6	28	-	-		10	-	44
D.Rixon	2006-07	35	-		-	-	-	-		9	-	44
D.Rixon	2009-10	44	-		-	-	-	-		-	-	44
D.Rixon	2008-09	36	-	7	-	-	-	-		-	-	43
A.Campbell	1973-74	31	-		-	_	-	-		11	-	42
D.Rixon	2012-13	38	-	4	-	-	-	-		-	_	42
R.Cartwright	1966-67	-	-		41	-	-		-	_	-	41
R.Bain	1965-66	34	-		-	-	-		_	6	-	40
M.Macleay	1966-67	-	_		-	-	40		-	-	-	40
A.Campbell	1972-73	-	-		19	8	-	-		13	-	40
L.Ball	1991-92	-	-		31	-	-	-		9	-	40
S.Hair	1997-98	-	_		11	20	-	_		9	-	40
B.Miller	2006-07	-	-		-	-	40	-		-	_	40

## LEADING SEASON BATTING AVERAGES (Minimum 400 runs)

	Season	Grades	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	2005-06	1	9	9	2	155 *	642	91.71
T.Brennan	1992-93	2,3,4,5	13	12	4	201 *	684	85.50
P.Jaques	2006-07	1	12	12	1	321	849	77.18
J.Rafique	2008-09	4,5	7	7	1	172	463	77.17
P.Jaques	2009-10	1	11	11	2	136	685	76.11
L.Johns	1985-86	1	10	11	1	164	726	72.60
R.Davison	1995-96	1	14	17	2	155	975	65.00
M.O'Brien	2004-05	1	17	18	5	118 *	800	61.54
Justin Kenny	1990-91	1	14	16	2	157	855	61.07
G.Horner	1986-87	2,3	16	17	6	111 *	663	60.27
J.Dyson	1990-91	1 2 2	16	17	5	103 *	713	59.42
L.Dudman	2008-09	1,2,3	10	10	2	144 * 85 *	455 720	56.88 55.38
M.Ridge	2001-02	4,5	17 15	19 17	6 1	136	856	53.50
Steven Smith S. Wishart	2007-08 1977-78	$^{1}_{2,3}$	13	19	5	107 *	746	53.29
R.Davison	1977-78	2,3	12	14	2	142	632	52.67
R.Davison	1983-84	4,5	13	13	3	108	525	52.50
G.Coleman	1986-87	2,4	15	18	4	141	732	52.29
M.Ridge	1986-87	1	11	13	5	75	418	52.25
P.Jaques	2003-04	i	9	9	1	151	415	51.88
R.Davison	1985-86	2	15	15	0	122	777	51.80
N.O'Neill	1967-68	1	14	14	2	123	617	51.42
M.O'Brien	2000-01	1,2	10	12	4	95 *	410	51.25
S.Pratt	1993-94	2,3,4,5	13	13	3	111	511	51.10
M.Bradley	1996-97	1,2	14	17	3	151	714	51.00
M.Hopkins	2010-11	1,2,3	14	15	3	150 *	610	50.83
J.Young	1996-97	1	14	16	2	143	701	50.07
S.Rixon	1980-81	1	9	11	2	110 *	449	49.89
M.Carroll	2001-02	1,2,3	14	17	2	141	746	49.73
K.Humphreys	1988-89	2,3	16	17	3	100 *	690	49.29
J.Holley	2008-09	1,2	16	16	6	139	492	49.20
A.Hilditch	1973-74	l 1 2	17	21	6 2	77 * 173	737 687	49.13 49.07
J.Holley	2009-10	1,2	18 15	16 18	1	173	826	48.59
M.Hughston D.Coots	2008-09 1986-87	1,2 3,4	16	18	1	126	825	48.53
P.Jaques	2004-05	3, <del>4</del> 1	8	9	0	133	436	48.44
P.Jaques	1999-00	1	17	17	1	100	775	48.44
J.Clark	1983-84	4,5	12	11	2	152 *	435	48.33
D.Givney	2004-05	5	14	13	1	135	578	48.17
D.Howard	1997-98	4,5	15	15	4	129	525	47.73
M.Hughston	2009-10	1	22	22	2	184	950	47.50
K.Tuite	1998-99	1,2	12	13	3	100 *	475	47.50
B.Hazell	1971-72	4	16	18	1	96	807	47.47
Steven Smith	2008-09	1	7	9	0	158	424	47.11
S.Cush	2005-06	2,3	16	17	2	131	706	47.07
Steven Smith	2006-07	1	19	19	2	119 *	796	46.82
P. Weatherall	1990-91	1	16	16	5	103 *	515	46.82
M.Parker	2006-07	1,2	14	14	2	111 *	561	46.75
L.Dudman	2005-06	1	20	19	2	140	791	46.53
S.McInnes	2007-08	2,3,4	13	13	2	165 *	510	46.36
J.Young	2002-03	l 224	18	20	2 2 5 2 2 2 2 3	97	830	46.11
K.Brown	2008-09	2,3,4	12	13	1	98 164	460 597	46.00 45.92
G.Davies	2011-12 2008-09	2,3	16 15	14 17	3	104 121 *	640	45.92 45.71
C.Williams M.Probert	2008-09 1998 <b>-</b> 99	2 1,2	13	17	0	132	548	45.67
K.Humphreys	1990-99	2,3	14	16	2	135	639	45.64
Steven Smith	2004-05	4,5	14	14	1	134 *	593	45.62

## **LEADING SEASON BATTING AVERAGES (Minimum 400 runs)**

	Season	Grades	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	2012-13	1	12	13	1	120	547	45.58
A.Clark	2001-02	1,2	19	17	6	74	500	45.45
C.Peck	1992-93	3	14	13		90	452	45.20
L.Johns	1977-78	1	14	19	3	99	721	45.06
D.Watson	1986-87	2,3	16	19	3	153	716	44.75
J.Dyson	1992-93	1	13	16	6	73	447	44.70
D.Mitchell	1995-96	1	16	20	3	128	759	44.65
N.Bettiss	2002-03	2,3,4,5	12	14		140	535	44.58
K.Tuite	1988-89	1,2,3,5	15	17	2 2	123	667	44.47
Shayne Smith	2014-15	1,2,3	17	16	3	93	576	44.31
N.Maddinson	2009-10	1	15	13	0	142	574	44.15
K.Wilmott	2006-07	4,5	15	17	1	164	704	44.00
B.Dwarshuis	2014-15	1,2,3	14	12	2	110	440	44.00
P.Weatherall	2001-02	3	14	15	5	102 *	436	43.60
S.Khan	2013-14	4,5	15	16	5 2 5	138 *	606	43.29
G.Davison	1988-89	2,3,4	16	16		74	475	43.18
S.Rixon	1988-89	1	13	14	2	142	518	43.17
S.Duff	1995-96	2,3	14	16	6	108	431	43.10
B.Dwarshuis	2012-13	1,2	19	18	5	162	557	42.85
B.Hard	1989-90	4,5	14	14	2	134 *	511	42.58
A.Hilditch	1974-75	1	16	19	4	119	638	42.53
G.Horner	1987-88	1,2	15	17	4	150 *	551	42.38
L.Malin	1997-98	4,5	15	16	5	85	463	42.09
J.Packer	2003-04	1,2	16	18	2	163	669	41.81
P.Jaques	2013-14	1	15	17	2	114	626	41.73
M.Hughston	2012-13	1	20	23	2	144	876	41.71
L.Johns	1984-85	1	16	18	1	166	703	41.35
M.Brown	2014-15	1	18	17	1	129	660	41.25
J.Brockley	2008-09	2	15	14	2	79	493	41.08
J.Burnett	2013-14	2,3	13	15	2	120 *	534	41.08
M.Bradley	2008-09	l 1	17	22	3	106	780	41.05
P.Jaques Justin Kenny	2002-03 1985-86	1	20	23	1	116	902	41.00
A.Clark		1 2 1	14	17	2	128 *	615	41.00
P.Atkins	1985-86 1967-68	1,3,4	13 11	15	3	77 142 *	491 521	40.92
Steven Smith	2005-06	1,2,3	19	16 20	0	143 * 97	531 816	40.85
J.Dyson	1975-76	1,2,3	10	11	1	105 *	408	40.80 40.80
J.Burnett	2007-08	1,2,3	20	18	4	114	571	40.79
N.Howard	1992-93	1,2,3	13	13	3	105	407	40.79
P.Jaques	1998-99	1,2	14	19	1	123	731	40.61
M.Hughston	2005-06	1,2	20	22	1	155 *	850	40.48
M.Earley	2006-07	3,4,5	16	18	3	118	606	40.40
B.Roach	2002-03	1,2	18	18	1	130	685	40.29
K.Tuite	1984-85	1,2	17	16		98 *	564	40.29
J.Brown	2011-12	2,3,4	15	13	$\frac{1}{2}$	80 *	443	40.27
R.Davison	1988-89	1	15	17	2 2 3 3	141	563	40.21
J.Packer	2006-07	3	18	17	3	116 *	563	40.21
B.Roach	2003-04	1,2	10	10	0	161	402	40.20
D.Givney	2001-02	5	15	15	4	134	442	40.18
•		-			-	/	· · -	

## LEADING SEASON BOWLING AVERAGES (Minimum 30 wickets)

	Season	Grades	Matches	Overs	Maidens	Runs	Wickets	Average
R.Longbottom	1965-66	4	15	184	28	450	59	7.63
M.Black	1972-73	2,3	11	204	55	460	53	8.68
K.Meadows	1988-89	5	13	227	95	369	42	8.79
P.Lennon	1965-66	4,A	14	148	29	386	42	9.19
G.Chudleigh	1980-81	4	8	124	27	363	38	9.55
E.Rollinson	1969-70	4,5	10	167	31	584	61	9.57
J.Roy	2011-12	3,4	15	136	41	336	35	9.60
A.Northridge	1998-99	2,3	15	185	63	361	37	9.76
J.Bills	2007-08	3,4	14	141	42	325	33	9.85
P.Mullane	1973-74	4	17	190	34	564	56	10.07
K.Meadows M.McDonald	1998-99 1973-74	4,5	8 16	182 151	59 23	345	34	10.15
A.Hale	1973-74	3,4,5 4,5	16	220	23 56	463 513	45 49	10.29 10.47
M.Black	1963-80	4,3	16	246	75	537	51	10.47
I.Napper	1970-71	4	16	104	15	360	34	10.53
J.Macdonald	1965-66	A	12	104	16	429	40	10.73
H. Watson	2008-09	4,5	15	168	40	453	42	10.79
K.Meadows	1999-00	5	14	186	71	339	31	10.75
M.Brennan	1988-89	2,3,4	14	181	52	439	40	10.98
J.Slattery	1970-71	2,5,1	16	219	43	662	60	11.03
P.Mackey	1973-74	4,5	15	194	20	758	68	11.15
S.McGrath	1999-00	4	18	170	49	414	37	11.19
D.White	1980-81	4,5	15	146	37	384	34	11.29
J.Slattery	1974-75	3	11	166	39	448	39	11.49
D.Lawrence	1965-66	3,A	12	132	28	368	32	11.50
G.Murphy	1967-68	3,4,A	16	131	16	477	41	11.63
B.Druery	1965-66	A,B	15	156	28	536	45	11.91
S.Dawes	2009-10	2,3,5	14	205	82	444	37	12.00
J.Dunbar	1999-00	4,5	18	226	46	594	49	12.12
K.Hatherly	1967-68	4	16	150	29	548	45	12.18
A.Kay	1968-69	2,3	13	166	25	538	44	12.23
R.Barton	1965-66	4	15	130	10	516	42	12.29
J.Hancock	2000-01	2,3	16	164	46	381	31	12.29
S.Clark	1999-00	1,5	19	173	45	470	38	12.37
D.Eaglesham	2001-02	5	16	162	18	644	52	12.38
M.Black	1975-76	1	13	158	32	384	31	12.39
S.Edmonds	1969-70	3,4,5	15	209	41	583	47	12.40
J.Smith	1986-87	5	10	193	69 <b>5</b> 0	373	30	12.43
C.Christie	1982-83	5	15	178	50	411	33	12.45
L.De Ville	1965-66	1,2,3	13	139	25	487	39	12.49
I.Scott	1968-69	A	11	111	13	375	30	12.50
G.Barron R.Mills	1996-97	2,3	13	194	52 82	500	40	12.50
R.Hobden	1980-81	5 4 B	13	238	82	513	41	12.51
M.Carroll	1968-69 1989-90	4,B 4,5	9 13	110 138	17 25	417 393	33 31	12.64
A.Fleming	2010-11	1	17	217	56	700	55	12.68 12.73
K.Meadows	1989-90	3,4	15	300	99	575	45	12.73
R.Noyes	1979-80	3,4 4,5	15	228	60	537	42	12.78
E.Rollinson	1966-67	4,5 A,B	12	199	29	665	52	12.79
P.Burns	2011-12	4,5	14	157	41	412	32	12.73
C.Russell	1970-71	3,4	16	191	37	685	53	12.92
M.Black	1976-77	1	15	149	26	418	32	13.06
E.Cotton	1968-69	1	16	245	60	630	48	13.13
J.Packer	1990-91	4,5	14	234	66	531	40	13.28
M.McDonald	1975-76	3	17	207	45	704	53	13.28
E.Cotton	1965-66	1	14	155	37	413	31	13.32
R.Waddington	1975-76	2	17	187	18	627	47	13.34

## LEADING SEASON BOWLING AVERAGES (Minimum 30 wickets)

	Season	Grades	Matches	Overs	Maidens	Runs	Wickets	Average
Brian Dawson	1972-73	4,5	15	140	29	468	35	13.37
H.Reus	1970-71	4,5	12	132	$\overline{20}$	484	36	13.44
S.Edmonds	1970-71	2,3,4	16	173	26	635	47	13.51
P.Purcell	1995-96	5	14	318	71	991	73	13.58
P.Doherty	1969-70	5	16	141	19	584	43	13.58
M.Black	1983-84	2,3	13	249	89	478	35	13.66
R.Malas	2001-02	3,4,5	17	235	62	630	46	13.70
I.Napper	1971-72	1,2	17	150	31	494	36	13.72
R.Longbottom	1966-67	4	13	168	10	577	42	13.74
D.Lawrence	1969-70	4	17	170	33	553	40	13.83
P.Byrom	1998-99	1,2	15	211	50	542	39	13.90
K.Meadows	2003-04	5	14	203	58	446	32	13.94
P.Lennon	1966-67	2,3,4	14	192	29	630	45	14.00
A.Clark	1995-96	1	16	248	74	560	40	14.00
J.Slattery	1968-69	1,2	14	235	52	701	50	14.02
D.Mann	1986-87	2,3,4	16	331	96	744	53	14.04
K.Rose	1980-81	2,3	15	249	38	801	57	14.05
S.Edmonds	1967-68	4,A,B	16	181	32	676	48	14.08
G.Glover	1969-70	4,5	14	119	20	438	31	14.13
G.Murphy	1974-75	3	16	110	16	440	31	14.19
R.Wade	1973-74	1	17	148	37	497	35	14.20
G.Scott	1966-67	A,B	12	118	28	442	31	14.26
P.McCann	1970-71	1,2,3	14	130	20	515	36	14.31
S.McGrath	1997-98	4,5	13	190	57	444	31	14.32
A.Adams	2009-10	1	19	295	70	718	50	14.36
A.Kay	1969-70	2,3	16	203	31	649	45	14.42
G.Coleman	1987-88	4	14	338	115	739	51	14.49
A.Clark	1993-94	1	15	261	77	627	43	14.58
K.Williams	1981-82	2,3	13	155	47	525	36	14.58
J.Philip	1965-66	1,2,3	15	232	46	774	53	14.60
R.Walls	1965-66	3,A	14	194	31	644	44	14.64
B.Stephen	1965-66	2,3	15	190	33	587	40	14.68
E.Rollinson	1965-66	3,A,B	11	144	25	529	36	14.69
S.Clark	1998-99	1	12	267	68	682	46	14.83
A.Mann	2001-02	3,4,5	16	206	42	623	42	14.83
D.Mann	1985-86	4,5	14	222	55	505	34	14.85
S.Newman	2007-08	4,5	16	194	38	551	37	14.89
D.Russell	1973-74	2	17	137	16	462	31	14.90
G.Barry	1989-90	2	14	239	72	462	31	14.90
E.Behl	1985-86	4,5	14	218	61	477	32	14.91

### PARTNERSHIPS OF 200 RUNS OR MORE

285	N.Maddinson-M.Hughston			v. Eastern Suburbs (Semi-final)	2009-10
284	D.Murphy-S.Pickering	2nds /3rd		v. Campbelltown-Camden	2009-10
280 *	Steven Smith-S.Duff	5ths /3rd		v. Western Suburbs	2004-05
263	R.Chivers-K.Wilmott	5ths /2nd		v. Campbelltown-Camden	2006-07
261	S.Rixon-G.Horner	1sts /6th	wkt	v. Parramatta	1988-89
255	R.Furner-T.Cadden	AWG /1st	wkt	v. Municipal & Shires Western	1993-94
252	S.McInnes-A.Phillips	3rds /4th	wkt	v. Bankstown	2010-11
249	D. Watson-K. Humphreys	3rds /1st	wkt	v. Parramatta	1986-87
247	R.Davison-S.Rixon	1sts /4th	wkt	v. Penrith	1988-89
241 *	K.Hudson-P.McMahon	AWG /1st	wkt	v. Nepean	1974-75
240	K.Thessman-B.Roach	2nds /3rd		v. Penrith	2002-03
236	R.Chivers-M.Elliott	5ths /2nd		v. Gordon	2004-05
234	R.Davison-P.Weatherall	P-G /2nd	wkt	v. University of N.S.W.	1987-88
234	T.Brennan-G.Kenny	4ths /5th	wkt	v. Campbelltown	1992-93
233	M.Condon-R.Duff	5ths /5th	wkt	v. University of N.S.W.	1992-93
232	P.Jaques-M.Hughston	1sts /2nd	wkt	v. Blacktown	2005-06
230	R.Chivers-D.Givney	5ths /3rd	wkt	v. Randwick Petersham (Qual Final)	2004-05
230	D.Murphy-M.Parker	2nds /3rd	wkt	v. University of N.S.W.	2006-07
224	D. Wallace-B.Kirby	5ths /3rd	wkt	v. Campbelltown	1988-89
219	A.Craig-M.Ridge	4ths /1st	wkt	v. Hawkesbury	2003-04
219	N.Maddinson-S.Cush	1sts /3rd	wkt	v. Penrith	2011-12
217	T.Harvey-K.Lamb	5ths /5th	wkt	v. Balmain A (Semi-Final)	1984-85
217	A.Dibley-A.Watkiss	5ths /1st	wkt	v. Northern District	2013-14
213	D.Simpson-R.Davison	2nds /1st	wkt	v. Mosman-Middle Harbour	1985-86
211 *	S.Khan-C.D'Arcy	5ths /1st	wkt	v. Campbelltown-Camden	2013-14
210 *	C.Parsons-T.Young	5ths /5th	wkt	v. Mosman-Middle Harbour	1985-86
210	Justin Kenny-J.Dyson	1sts /4th	wkt	v. University of N.S.W.	1990-91
210	M.Bradley-J.Young	1sts /2nd	wkt	v. Gordon	1996-97
210	L.Casey-G.Davies	5ths /1st	wkt	v. Bankstown	2005-06
208	R.Davison-D.Mitchell	1sts /3rd	wkt	v. Gordon	1995-96
207 *	G.Horner-A.Quinn	5ths /5th	wkt	v. University of N.S.W.	1983-84
207	P.Prichard-Justin Kenny	1sts /3rd	wkt	v. Manly-Warringah	1985-86
207	L.Malin-J.Burnett	4ths /4th	wkt	v. St.George	2006-07
205	M.Hughston-M.Parker	2nds /1st	wkt	v. Western Suburbs	2005-06
204	A.Clark-J.Clark	3rds /5th	wkt	v. Campbelltown	1986-87
203	N.O'Neill-C.Dodd	1sts /4th		v. Sydney	1967-68
203 *	P.Jaques-J.Young	1sts /5th		v. Penrith	2005-06
202 *	J.Dyson-P. Weatherall	1sts /5th		v. Campbelltown	1990-91
201 *	P.Jaques-M.O'Brien	1sts /3rd		v. Hawkesbury	2005-06
200	J.Rafique-S.Cush	3rds /2nd		v. Hawkesbury	2005-06
	<u>.</u>			· · •	

# LEADING ALL-ROUNDERS IN ALL GRADES (4000 runs / 200 wickets / 100 catches)

	Milestone	Milestone Reached		Career Totals				
	Season	Matches	Matches	Runs	Wickets	Catches		
L.Dudman	2005-06	179	315	7742	376	180		
J.Holley	2000-01	209	309	8079	323	158		
D.Mann	1996-97	238	253	4230	431	136		
G.Barry	1986-87	247	333	4421	608	154		
J.Packer	2005-06	255	287	6956	327	120		
A.Clark	1997-98	276	383	8892	639	150		

# LEADING ALL-ROUNDERS IN ONE GRADE (2000 runs / 100 wickets / 50 catches)

	Milestone	e Reached	Career Totals				
	Season	Matches	Matches	Runs	Wickets	Catches	
First Grade							
L.Dudman	2005-06	80	192	4698	243	109	
J.Holley	2002-03	107	178	4090	147	85	
A.Clark	1998-99	147	214	4392	360	78	
Second Grade							
J.Packer	2003-04	114	142	4036	131	61	
G.Barry	1992-93	130	139	2145	253	81	
Third Grade							
<b>B.</b> Davison	1987-88	73	75	2599	103	52	

### 500 RUNS AND 40 WICKETS IN A SEASON

90-91	P.Weatherall	515 runs & 43 wickets	(1st Grade)
93-94	A.Clark	547 runs & 43 wickets	(1st Grade)
05-06	L.Dudman	791 runs & 41 wickets	(1st Grade)

### 500 RUNS AND 40 W/K DISMISSALS IN A SEASON

96-97	S.Duff	557 runs & 44 dismissals	(1st & 2nd Grades)
09-10	J.Brockley	567 runs & 50 dismissals	(2nd Grade)

### CENTURY AND 10 WICKETS IN A MATCH

02-03 J.Rafique 5ths v. UTS-Balmain	121	$\alpha$	11-32	
-------------------------------------	-----	----------	-------	--

### **CENTURY AND 5 WICKETS IN AN INNINGS**

69-70	E.Cotton	1sts v. Western Suburbs	125 *	&	5-90
84-85	R.Davison	AWG v. Bankstown-Canterbury	112	&	5-28
86-87	G.Coleman	4ths v. Campbelltown	120	&	5-71
02-03	J.Rafique	5ths v. UTS-Balmain	121	&	8-17
08-09	L.Dudman	3rds v. Mosman	127 *	&	5-37
08-09	R.Shepherd	4ths v. Sydney University	102	&	5-52
08-09	J.Holley	2nds v. Manly-Warringah	139	&	6-83
09-10	N.Maddinson #	1sts v. Eastern Subs (Semi-final)	137	&	5-95

<sup>#</sup> Nic Maddinson became the youngest player in 1st Grade history to do the double of a century and five wickets in an innings in a match, aged 18 years 96 days.

## BATSMEN WITH 3000 RUNS IN ALL GRADES

	Matches	Innings	Not Out	H.Score	Runs	Average	100	50
D.Givney	527	552	62	162	12559	25.6	11	52
P.Jaques	258	284	30	321	11512	45.3	25	64
M.Bradley	341	389	40	212 *	10723	30.7	17	53
M.Hughston	308	324	33	184	9629	33.1	17	47
M.D.O'Brien	313	345	28	144	9181	29.0	6	54
A.Clark	383	400	50	118	8892	25.4	4	41
M.Ridge	348	381	60	104 *	8711	27.1	2	55
B.Davison	310	357	34	116 *	8561	26.5	7	46
Justin Kenny	271	312	22	157	8350	28.8	10	39
J.Holley	309	311	37	199	8079	29.5	11	36
K.Tuite	299	325	40	123	8076	28.3	9	39
P. Weatherall	324	334	56	173 *	7823	28.1	8	35
L.Dudman	315	315	39	144 *	7742	28.1	9	37
R.Davison	196	212	23	155	7401	39.2	14	43
J.Packer	287	276	50	163	6956	30.8	6	36
J.Dyson	225	249	51	106 *	6924	35.0	4	47
K.Humphreys	238	262	29	135	6864	29.5	7	29
M.Duff	295	299	19	147	6698	23.9	2	33
J.Young	189	211	25	143	6610	35.5	7	42
S.Cush	225	235	16	149 *	6463	29.5	7	37
G.Hilzinger	231	276	21	120 *	6446	25.3	3	37
A.Craig	240	256	17	127	6145	25.7	3	35
J.Burnett	253	257	40	123	6079	28.0	8	31
A.Hilditch	202	219	26	127 *	6023	31.2	7	33
C.Williams	237	244	28	121 *	5937	27.5	3	33
G.Warry	223	268	15	98	5845	23.1	-	31
D.Watson	240	262	21	153	5843	24.2	5	25
G.Marston	228	274	22	139	5815	23.1	5	27
D.Holley	243	244	18	131	5666	25.1	3	29
G.Coleman	215	238	45	145 *	5372	27.8	6	28
B.Johnson	251	259	20	114	5237	21.9	3	25
Steven Smith	123	125	12	171 *	4983	44.1	10	26
I.Everett	192	224	8	140	4920	22.8	2	24
P.Clark	151	187	15	129 *	4901	28.5	6	28
G.Horner	185	185	38	153	4638	31.6	8	16
T.Iceton	237	264	6	179	4610	17.9	1	17
M.Probert	160	162	12	137 *	4514	30.1	4	31
J.Brockley	155	151	8	151	4481	31.3	5	23
G.Barry	333	316	71	103	4421	18.0	1	12
T.Brennan	179	188	19	201 *	4284	25.3	4	17
D.Mann	253	234	56	100 *	4230	23.8	1	16
L.Fleming	233	239	32	109	4224	20.4	2	19
B.Hazell	129	156	7	141	4181	28.1	2	32
J.Clark	156	165	25	158 *	4151	29.7	5	17
J.Rafique	138	142	6	172	4108	30.2	5	22
J.Steed	150	172	15	121	4081	26.0	2	21
P.Venn	168	194	19	117	4055	23.2	5	15
G.Bailey	158	182	26	113	4027	25.8	5	18
A.Northridge	163	163	17	127 *	4018	27.5	4	16
S.Duff	187	187	34	166 *	3902	25.5	3	20
A.Phillips	163	157	18	154	3901	28.1	6	17
S.Pickering	160	161	15	164	3739	25.6	5	12
D.Murphy	123	135	5	215	3728	28.7	5	21
D.Rixon	260	222	47	95	3705	21.2	-	21

## BATSMEN WITH 3000 RUNS IN ALL GRADES (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average	100	50
K.Hudson	143	163	16	158 *	3697	25.1	5	14
C.Lake	147	151	22	119 *	3643	28.2	3	22
L.Casey	158	162	11	145 *	3605	23.9	3	16
T.Harvey	140	145	10	165	3557	26.3	3	15
B.Hard	158	164	9	134 *	3542	22.9	1	20
M.Lumb	172	179	12	102	3526	21.1	2	17
L.Johns	97	106	13	166	3501	37.6	6	21
G.Kenny	230	216	28	104 *	3487	18.5	2	15
L.Malin	136	143	33	102 *	3454	31.4	3	20
C.Dodd	132	154	7	118	3442	23.4	4	16
P.Fisher	164	179	17	115	3359	20.7	3	12
B.O'Dowd	151	168	21	108	3316	22.6	2	15
K.Lamb	149	175	34	100	3291	23.3	1	14
C.Hockey	136	142	15	107	3200	25.2	1	20
J.Zywietz	193	171	27	158	3194	22.2	1	14
I.Stephen	109	125	6	134 *	3130	26.3	5	15
A.Griffiths	96	132	6	146 *	3068	24.3	4	13
G.Davies	106	103	12	164	3042	33.4	7	13
P.Cox	153	170	25	117 *	3032	20.9	1	8

### BATSMEN WITH 1000 RUNS IN ONE GRADE

	Matches	Innings	Not Out	H.Score	Runs	Average
First Grade						
P.Jaques	203	226	21	321	9383	45.8
J.Young	188	210	25	143	6530	35.3
M.Hughston	194	212	18	184	6454	33.3
M.Bradley	205	242	20	212 *	6085	27.4
M.D.O'Brien	208	235	17	118 *	6050	27.8
Justin Kenny	173	203	13	157	6020	31.7
L.Dudman	192	195	23	140	4698	27.3
A.Clark	214	227	28	118	4392	22.1
J.Dyson	143	157	39	105 *	4331	36.7
J.Holley	178	191	18	129 *	4090	23.6
R.Davison	97	112	12	155	4030	40.3
S.Cush	114	122	11	149 *	3499	31.5
L.Johns	89	96.	10	166	3329	38.7
Steven Smith	68	71	7	171 *	3149	49.2
G.Warry	122	142	4	97	3134	22.7
A.Hilditch	93	110	15	127 *	3107	32.7
P.Clark	72	96	8	129 *	2900	33.0
P.Weatherall	126	135	23	103 *	2848	25.4
B.O'Dowd	119	131	17	108	2533	22.2
D.Rixon	204	170	35	95	2488	18.4
M.Ridge	100	120	21	101 *	2241	22.6
S.Rixon	69	79	8	142	2210	31.1
C.Dodd	84	100	3	101 *	2189	22.6
B.Davison	88	104	8	111	1913	19.9
M.Brown	69	70	6	129 *	1894	29.6
E.Cotton	77	86	15	125 *	1799	25.3
A.Campbell	92	93	10	84	1790	21.6
N.Maddinson	60	61	1	225	1749	29.2
R.Bain	118	127	13	54	1711	15.0

## BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average
First Grade (cont'd)				11.50010	Runs	Attorage
D.Mann	108	104	25	73	1631	20.6
G.Bailey	72	84	9	113	1608	21.4
G.Barry	115	118	27	103	1516	16.7
D.Mitchell	46	52	4	166	1469	30.6
R.Wade	95	93	21	76	1378	19.1
M.Chapman	158	133	50	53 *	1344	16.2
K.Tuite	77	87	9	80	1336	17.1
D.Murphy	59	66	2	125 *	1317	20.6
C.Williams	53	55	6	91	1303	26.6
K.Richards	46	61	4	85	1183	20.8
G.Marston	61	77	5	90	1155	16.0
G.Horner	51	52	7	153	1130	25.1
A.Fleming	90	75	18	52 *	1094	19.2
N.O'Neill	28	31	2	168	1087	37.5
S.Clark	123	104	14	64	1076	12.0
S.Duff	52	55	11	74 *	1069	24.3
J.Steed	46	57	6	113	1067	20.9
R.Every	55	61	9	124	1048	20.2
E.Atkins	122	99	17	67	1030	12.6
Second Grade						
K.Tuite	167	181	23	123	5059	32.0
J.Packer	142	149	21	163	4036	31.5
M.Ridge	129	136	14	94	3558	29.2
B.Davison	105	121	13	104	3342	30.9
D.Givney	121	134	11	162	3050	24.8
J.Brockley	81	83	5	151	2810	36.0
C.Williams	81	91	11	121 *	2797	35.0
D.Holley	99	106	6	105	2514	25.1
B.Johnson	110	114	10	101	2370	22.8
G.Coleman	99	110	26	118	2209	26.3
G.Marston	85	99	6	138	2187	23.5
J.Burnett	89	91	15	116 *	2177	28.6
G.Barry	139	129	33	67	2145	22.3
K.Humphreys	73	79	12	135	2106	31.4
A.Clark	80	79	12	91	2087	31.1
I.Everett	80	86	3	104	2013	24.3
J.Holley	48	46	10	183	1986	55.2
P.Fisher	75	82	6	107	1831	24.1
S.Pickering	68	70	3	164	1783	26.6
M.Bradley	52	59	6	151	1764	33.3
D.Celep	78	76	4	129	1748	24.3
A.Northridge	64	67	3	127 *	1737	27.1
S.Duff	62	66	13	114 *	1635	30.8
P.Venn	65	78	6	103	1605	22.3
M.Parker	37	41	3	111 *	1545	40.7
M.Hughston	45	48	5	162 *	1460	34.0
J.Clark	45	52	7	116 *	1416	31.5
M.Carroll	88	74	24	120	1372	27.4
G.Hilzinger	48	54	0	93	1367	25.3
K.Thessman	44	52	5	162	1330	28.3
P.Weatherall	53	53	10	99	1291	30.0
K.Brown	654	68	9	123	1278	21.7

# BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average
Second Grade (cont'd) N.Howard		(5	1.5	105 +	1065	25.2
R.Neill	75 41	65 53	15	105 *	1265	25.3
L.Fleming	41	53	5 7	94	1257	26.2
M.D.O'Brien	61	60		86	1215	22.9
J.Steed	39	40	4	144	1192	33.1
	36	39	3	121	1134	31.5
D.Murphy B.Roach	31 26	36	2	215	1127	33.1
B.Hazell	39	28	1 2	161	1108	41.0
R.Davison	22	48 23	0	100 122	1070 1040	23.3 45.2
			v	122	1010	13.2
Third Grade M.Duff	148	147	12	100 *	3142	23.3
K.Humphreys	90	97	8	100	2732	30.7
B.Davison	75	85	7	112	2599	33.3
A.Phillips	112	106	13	154	2595	27.9
D.Watson	100	108	7	153	2498	24.7
G.Hilzinger	87	102	9	97	2161	23.2
P.Weatherall	73	75	13	173 *	1893	30.5
J.Burnett	52	56	7	120 *	1760	35.9
G.Kenny	137	127	20	72	1759	16.4
D.Holley	76	70	5	131	1671	25.7
J.Zywietz	111	97	17	90	1667	20.8
Bryan Dawson	89	92	15	74	1628	21.1
G.Murphy	121	109	20	64 *	1486	16.7
J.Rafique	53	56	2	137	1485	27.5
M.Lumb	59	64	4	96	1452	24.2
T.Harvey	37	40	3	132	1418	38.3
B.Johnson	65	65	4	114	1343	22.0
I.Stephen	40	47	1	103	1270	27.6
G.Davies	48	44	1	164	1244	28.9
B.Hopkin	49	66	10	105	1241	22.2
G.Davison	55	48	10	81	1240	32.6
C.Hockey	44	49	3	107	1201	26.1
J.Packer	42	34	6	116 *	1163	41.5
B.Hazell	26	35	1	141	1142	33.6
P.Atkins	27	36	6	143 *	1107	36.9
I.Everett	42	51	2	91	1102	22.5
A.Northridge	34	36	6	126 *	1097	36.6
C.Lake	58	62	10	85	1084	20.8
A.Craig	55 53	57	3	97	1062	19.7
L.Fleming	53	59	3	82	1027	18.3
P.Clark	31	38	2	109	1013	28.1
T.Brennan B.Everett	36 26	36 41	4 2	100 * 75 *	1004 1003	31.4 25.7
Fourth Grade	20	71	2	73	1003	23.1
A.Craig	124	136	9	127	3784	20.0
T.Iceton	169	188	4	179	3784 3514	29.8 19.1
D.Watson	93	104	11	114	2348	25.2
M.Duff	76	80	2	147	2045	26.2
G.Coleman	49	55	7	145 *	2043	42.0
L.Casey	68	69	3	109 *	1680	25.5
G.Kenny	70	70	4	104 *	1602	24.3
R.Gilmour	72	81	11	85 *	1580	22.6
	_		- <del>-</del>			

# BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

_	Matches	Innings	Not Out	H.Score	Runs	Average
Fourth Grade (cont'd)						
R.Chivers	79	80	8	90	1574	21.9
M.Ridge	58	61	16	99	1505	33.4
D.Givney	73	77	12	120	1484	22.8
B.Hard	65	66	5	89	1465	24.0
K.Lamb	66	78	14	93 *	1343	21.0
J.Burnett	62	64	8	123	1244	22.2
L.Malin	47	48	11	102 *	1226	33.1
M.Jones	62	59	10	100 *	1189	24.3
C.O'Hara	49	48	4	98 *	1121	25.5
M.Lumb	55	55	3	102	1112	21.4
A.Phillips	41	40	5	120	1094	31.3
B.Hazell	32	31	6	96	1091	43.6
G.Glover	57	62	16	82 *	1075	23.4
M.Graham	33	37	4	87	1063	32.2
G.Hilzinger	25	28	7	120 *	1034	49.2
Fifth Grade						
D.Givney	290	297	36	135	7289	27.9
K.Rynne	74	80	12	123	1554	22.9
G.Horner	63	59	10	133 *	1476	30.1
K.Lamb	50	61	17	100	1405	31.9
L.Malin	40	45	16	102 *	1342	46.3
K.Meadows	161	124	30	73	1278	13.6
L.Casey	46	50	3	145 *	1264	26.9
R.Chivers	29	32	4	150	1171	41.8
J.Dunbar	58	53	6	93	1070	22.8
"A" Shires						
R.Rempt	41	61	5	106 *	1268	22.6

### **BATSMEN WITH 500 RUNS IN AGE COMPETITIONS**

Poidevin-Gray Shield	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	28	27	5	170 *	1027	46.7
J.Brockley	30	30	2	109	998	35.6
R.Davison	29	29	2	112	944	35.0
A.Hilditch	26	27	1	113	928	35.7
D.Murphy	23	23	1	85	910	41.4
M.D.O'Brien	30	30	1	110	884	30.5
M.Probert	28	27	2	102	852	34.1
Jamie Brown	23	22	3	109	824	43.4
J.Holley	27	25	3	150	787	35.8
M.Hughston	28	27	3	106	737	30.7
M.Bradley	28	28	3	108	713	28.5
A. Whatley	34	29	4	107 *	686	27.4
J.Dyson	23	28	4	92	674	28.1
G.Marston	27	32	1	85	651	21.0
K. White	21	21	3	80 *	649	36.1
D.Rixon	23	23	3	75	644	32.2
P.Venn	18	18	2	103 *	625	39.1
L.Dudman	33	27	3	75	598	24.9
Justin Kenny	18	18	4	92 *	590	42.1
J.Steed	19	19	0	86	587	30.9
K.Hudson	24	23	2	92	581	27.7
D.Holley	23	22	1	92	568	27.0
D.Mann	32	29	6	70	538	23.4
C.Williams	31	26	3	45	526	22.9
G.Bailey	24	27	2	100	519	20.8
T.Harvey	17	17	0	80	505	29.7
G.Warry	21	26	1	93	505	20.2
A.W.Green Shield						
K.Hudson	21	21	3	158 *	802	44.6
C.Lake	17	17	6	119 *	695	63.2
M.Probert	24	21	3	137 *	679	37.7
G.Marston	14	16	2	108	661	47.2
T.Doyle	19	19	1	123	647	35.9
J.Horner	24	22	4	117	626	34.8
Shayne Smith	20	19	1	142	604	33.6
L.Dudman	20	20	1	105 *	595	31.3
A. Whatley	22	22	0	85	556	25.3
J.Rose	23	21	2	69	549	28.9
P.Venn	14	16	2	104 *	525	37.5

# LEADING RUN SCORERS EACH SEASON

First Grade		Second Grade		Third Grade	
65-66 E.Cotton	409	65-66 C.Dodd	390	65-66 R.Green	362
66-67 B.Dawson	419	66-67 R.Neill	379	66-67 B.Davison	345
67-68 N.O'Neill	617	67-68 B.Davison	469	67-68 B.Hazell	581
68-69 G.Bailey	406	68-69 K.Symons	378	68-69 B.Hazell	556
69-70 C.Dodd	633	69-70 B.Hazell	554	69-70 B.Pratt	362
70-71 C.Dodd	496	70-71 G.Marston	261	70-71 J.Dyson	482
71-72 G.Warry	467	71-72 J.Dyson	495	71-72 I.Stephen	443
72-73 G.Warry	425	72-73 B.Davison	448	72-73 S.Stewart	265
73-74 A.Hilditch	737	73-74 B.Davison	346	73-74 Bryan Dawson	387
74-75 A.Hilditch	638	74-75 G.Hilzinger	429	74-75 B.Handley	347
75-76 B.O'Dowd	479	75-76 B.Davison	488	75-76 I.Everett	562
76-77 B.Davison	340	76-77 G.Coleman	525	76-77 M.Ridge	255
77-78 L.Johns	721	77-78 M.Ridge	446	77-78 S.Wishart	697
78-79 L.Johns	435	78-79 I.Everett	364	78-79 P.Clark	340
79-80 A.Hilditch	311	79-80 S.Wishart	428	79-80 P.Clark	530
80-81 S.Rixon	449	80-81 I.Stephen	433	80-81 B.Everett	422
81-82 P.Clark	723	81-82 B.Davison	453	81-82 C.Maggs	342
82-83 P.Clark	591	82-83 I.Everett	351	82-83 K.Lamb	294
83-84 P.Clark	681	83-84 K.Tuite	339	83-84 P.Weatherall	343
84-85 P.Clark	715	84-85 A.Walsh	477	84-85 B.Davison	679
85-86 L.Johns	726	85-86 R.Davison	777	85-86 B.Davison	436
86-87 P.Prichard	537	86-87 K.Tuite	523	86-87 D.Watson	650
87-88 P.Weatherall	413	87-88 G.Horner	421	87-88 D.Coots	368
88-89 Justin Kenny	597	88-89 K.Tuite	504	88-89 K.Humphreys	528
89-90 R.Davison	471	89-90 M.Ridge	358	89-90 T.Woodhill	297
90-91 Justin Kenny	855	90-91 D.Givney	664	90-91 D.Holley	417
91-92 Justin Kenny	536	91-92 M.Ridge	387	91-92 P.Bourke	404
92-93 Justin Kenny	520	92-93 M.Ridge	365	92-93 C.Peck	452
93-94 A.Clark	547	93-94 D.Givney	315	93-94 A.Craig	284
94-95 D.Mitchell	416	94-95 J.Hall	355	94-95 D.Costigan	283
95-96 R.Davison	975	95-96 C.Hockey	421	95-96 C.Lake	316
96-97 J.Young	701	96-97 P.Jaques	593	96-97 M.Lumb	291
97-98 J.Young	728	97-98 C.Lake	470	97-98 M.Probert	479
98-99 P.Jaques	731	98-99 M.Probert	523	98-99 A.Northridge	513
99-00 P.Jaques	775	99-00 M.D.O'Brien	417	99-00 D.Dillon	388
00-01 P.Jaques	548	00-01 A.Northridge	442	00-01 M.Carroll	395
01-02 P.Jaques	717	01-02 J.Packer	512	01-02 P.Weatherall	436
02-03 P.Jaques	902	02-03 B.Roach	640	02-03 P.Weatherall	511
03-04 J.Young	522	03-04 J.Packer	562	03-04 M.Duff	300
04-05 M.D.O'Brien	800	04-05 M.Parker	488	04-05 L.Malin	422
05-06 L.Dudman	791	05-06 M.Parker	541	05-06 S.Cush	525
06-07 P.Jaques	849	06-07 M.Parker	516	06-07 J.Packer	563
07-08 S.Smith	856	07-08 J.Rafique	443	07-08 B.Marciante	469
08-09 M.Bradley	780	08-09 C.Williams	640	08-09 S.McInnes	378
09-10 M.Hughston	964	09-10 C.Williams	604	09-10 A.Phillips	347
10-11 S.Cush	631	10-11 J.Brockley	465	10-11 A.Phillips	445
11-12 S.Cush	549	11-12 J.Brockley	536	11-12 G.Davies	571
12-13 M.Hughston	876	12-13 M.Hopkins	433	12-13 J.Zywietz	279
13-14 P.Jaques	626	13-14 C.Williams	559	13-14 J.Burnett	453
14-15 M.Brown	660	14-15 J.Rose	396	14-15 J.Burnett	477

# LEADING RUN SCORERS EACH SEASON (cont'd)

Fourth Grade		Fifth Grade	
65-66 G.Bailey	357		
66-67 R.Barton	336		
67-68 A.Griffiths	431		
68-69 K.Hatherly	576		
69-70 I.Stephen	558	69-70 M.Gillam	384
70-71 G.Hilzinger	476	70-71 J.Green	348
71-72 B.Hazell	807	71-72 D.Kanard	394
72-73 R.Rempt	311	72-73 C.Radford	244
73-74 B.Handley	527	73-74 G.Fletcher	275
74-75 D.O'Brien	370	74-75 B.Hazell	438
75-76 R.Handley	352	75-76 P.McMahon	258
76-77 K.Lamb	251	76-77 D.Ferguson	171
77-78 K.Lamb	303	77-78 D.Steed	388
78-79 K.Humphreys	368	78-79 K.Lamb	507
79-80 R.Gilmour	450	79-80 P.Welch	297
80-81 B.Roberts	265	80-81 K.Lamb	388
81-82 R.Rose	309	81-82 K.Tuite	425
82-83 P. Welch	345	82-83 C.Grimble	297
83-84 R.Davison	422	83-84 D.Givney	506
84-85 T.Iceton	397	84-85 K.Rynne	440
85-86 T.Iceton	502	85-86 C.Holden	358
86-87 D.Coots	761	86-87 C.Holden	380
87-88 M.Duff	495	87-88 A.Craig	300
88-89 T.Iceton	284	88-89 B.Kirby	269
89-90 T.Brennan	365	89-90 J.Packer	291
90-91 C.O'Hara	303 376	90-91 D.Wallace	401
91-92 A.Craig	280	91-92 M.O'Brien	229
92-93 A.Craig	460	92-93 A.Northridge	385
93-94 M.Duff	430	93-94 R.Duff	334
94-95 D.Watson	285	94-95 D.Givney	396
95-96 G.Kenny	414	95-96 D.Givney	490
96-97 A.Craig	532	96-97 D.Givney	358
97-98 W.Cary	366	97-98 L.Fleming	516
98-99 B.Hard	375	98-99 D.Reynolds	366
99-00 L.Dudman	513	99-00 C.Brownscombe	353
00-01 J.Burnett	266	00-01 R.Trevillion	530
01-02 A.Craig	578	01-02 D.Givney	442
02-03 A.Craig	515	02-03 J.Rafique	568
03-04 A.Craig	347	03-04 D.Givney	443
04-05 S.Smith	279	04-05 D.Givney	578
05-06 D.Studholme	349	05-06 L.Casey	467
06-07 J.Burnett	453	06-07 K.Wilmott	699
07-08 A.Phillips	357	07-08 M.Pulella	362
08-09 M.Pulella	384	08-09 D.Givney	333
	375		
09-10 L.Casey		09-10 G.Horner	409
10-11 L.Casey 11-12 M.Rice	419 341	10-11 D.Givney	280
	260	11-12 M.Burg	269 274
12-13 D.Grant		12-13 G.Horner	274
13-14 B.Drury	346	13-14 S.Khan	376 275
14-15 J.Arnold	300	14-15 W.Vandermaal	375

# LEADING RUN SCORERS EACH SEASON (cont'd)

Poidevin-Gray Shield		A.W.Green Shield	
65-66 G.Parker	131	65-66 G.Bailey	317
66-67 G.Bailey	195	66-67 G.Marston	432
67-68 C.Dodd	273	67-68 P.Venn	233
68-69 B.Davison	189	68-69 I.Stephen	231
69-70 G.Warry	147	69-70 J.Dyson	333
70-71 A.Humphries	160	70-71 I.Everett	233
71-72 Graham Goodman	132	71-72 I.Everett	211
72-73 P.Venn	299	72-73 B.Handley	289
73-74 A.Campbell	140	73-74 G.Beames	184
74-75 A.Hilditch	456	74-75 K.Hudson	351
75-76 D.Russell	175	75-76 K.Hudson	390
76-77 A.Hilditch	131	76-77 J.Heath	188
77-78 K.Hudson	272	77-78 P.Bishell	175
78-79 B.Johnson	104	78-79 Michael Ritchie	247
79-80 K.Hudson	102	79-80 M.Gardner	179
80-81 K.Humphreys	142	80-81 J.Steed	244
81-82 P.Clark	144	81-82 K.Tuite	263
82-83 M.Dibley	108	82-83 C.Grimble	229
83-84 K.Tuite	125	83-84 M.Condon	128
84-85 J.Steed	127	84-85 J.Hennessy	320
85-86 Justin Kenny	232	85-86 D.Holley	244
86-87 Justin Kenny	215	86-87 T.Woodhill	278
87-88 R.Davison	270	87-88 D.Wallace	137
88-89 R.Davison	292	88-89 T.Brennan	225
89-90 T.Harvey	197	89-90 M.Lumb	211
90-91 T.Woodhill	265	90-91 M.D.O'Brien	264
91-92 D.Mann 92-93 B.Kirby	201 213	91-92 J.Sheehy	174
		92-93 M.Bradley	320
93-94 J.Holley	321	93-94 C.Lake	490
94-95 M.D.O'Brien	332	94-95 M.Probert	358
95-96 M.D.O'Brien	289	95-96 M.Probert	297
96-97 P.Jaques	223	96-97 M.Culkoff	234
97-98 P.Jaques	239	97-98 G.Morriss	182
98-99 M.Probert	265	98-99 L.Dudman	403
99-00 P.Jaques	357	99-00 M.Hughston	299
00-01 M.Heslehurst	259	00-01 M.Elliott	286
01-02 B.White	257	01-02 C.McCarron	350
02-03 L.Dudman	250	02-03 S.Cush	377
03-04 L.Dudman	195	03-04 J.Zywietz	253
04-05 M.Hughston	302	04-05 L.Casey	131
05-06 T.Bresnan	297	05-06 G.Davies	316
06-07 D.Murphy	244	06-07 B.Marciante	278
07-08 D.Murphy	231	07-08 M.Rice	334
08-09 D.Murphy	232	08-09 A.Whatley	312
09-10 D.Murphy	203	09-10 Shayne Smith	322
10-11 J.Brockley	200	10-11 Jamie Brown	180
11-12 J.Brockley	413	11-12 A.Gersbach	272
12-13 B.Dwarshuis	242	12-13 T.Doyle	415
13-14 A.Whatley	214	13-14 J.Horner	463
14-15 Jamie Brown	470	14-15 C.Weatherall	166

# BATSMEN WITH 500 RUNS IN ONE SEASON (GRADE)

(( (7	Total	Grades	70.00	Total	Grades
<b>66-67</b> A.Griffiths	692	(3-56, 4-246, A-188, B-202)	<b>79-80</b> P.Clark	555	(2-25, 3-530)
R.Neill	512	(1-133, 2-379)	<b>80-81</b> B.Everett	503	(2-81, 3-422)
<b>67-68</b> N.O'Neill	617	(1-617)	K.Humphreys	501	(1-12, 2-273, 3-216)
B.Hazell G.Hilzinger	581 580	(3-581) (A-391, B-189)	<b>81-82</b> P.Clark	723	(1-723)
P.Atkins G.Warry	531 510	(3-531) (2-227, 3-184, 4-99)	C.Maggs B.Davison	535 518	(2-19, 3-342, 4-174) (1-65, 2-453)
68-69		,	G.Gazy P.Somerville	518 513	(2-177, 3-341) (3-148, 4-160, 5-205)
B.Hazell A.Griffiths	691 654	(2-135, 3-556) (2-252, 3-268, 4-134)	82-83		
K.Symons K.Hatherly	616 576	(1-238, 2-378) (4-576)	G.Hilzinger P.Clark	600 591	(1-497, 2-103) (1-591)
B.Hopkin	554	(2-33, 3-521)	M.Dibley D.Faidley	581 502	(3-231, 4-255, 5-95) (3-10, 4-218, 5-274)
<b>69-70</b> C.Dodd	633	(1-633)	83-84		
I.Stephen B.Hazell	558 544	(4-558) (2-544)	B.Davison P.Clark	694 681	(1-140, 2-289, 3-265) (1-681)
G.Warry	521	(1-185, 2-66, 3-270)	D.Givney P.Weatherall	553 535	(2-26, 4-21, 5-506) (1-13, 2-91, 3-343,
<b>70-71</b> J.Dyson	572	(2-90, 3-482)	R.Davison	525	4-88) (4-422, 5-103)
G.Hilzinger	506	(3-30, 4-476)	84-85	<b>7</b> 1.5	(1.715)
<b>71-72</b> B.Hazell	807	(4-807)	P.Clark L.Johns	715 703	(1-715) (1-703)
72-73	504	(2.2462.259)	B.Davison K.Tuite	679 564	(3-679) (1-188, 2-376)
A.Hilditch	504	(2-246, 3-258)	G.Hilzinger A.Walsh	540 517	
73-74 A.Hilditch	737	(1-737)	T.Harvey	506	(3-8, 4-173, 5-325)
B.Davison B.Handley	540 540	(1-194, 2-346) (3-13, 4-527)	<b>85-86</b> R.Davison	777	(2-777)
74-75			L.Johns Justin Kenny	726 615	(1-726) (1-615)
A.Hilditch G.Warry	638 589	(1-638) (1-589)	D.Simpson T.Iceton	532 502	(1-80, 2-452) (4-502)
<b>75-76</b>	5.60	(2.562)	86-87	00.5	(2 (4 4 7(1)
I.Everett K.Hudson	562 508	(3-562) (3-433, 4-75)	D.Coots G.Coleman	825 732	(3-64, 4-761) (2-2, 4-730) (2-66-2-650)
76-77	525	(2.525)	D. Watson G. Horner	716 663	(2-66, 3-650) (2-155, 3-508)
G.Coleman G.Marston	525 501	(2-525) (1-170, 2-158, 3-173)	B.Johnson M.Graham	633 597	(1-146, 2-487) (4-597)
77-78	746	(2.402.607)	A.Clark P.Prichard	544 537	(2-33, 3-511) (1-537) (2-523)
S.Wishart L.Johns	746 721	(2-49, 3-697) (1-721)	K.Tuite Justin Kenny	523 507	(2-523) (1-507)
<b>78-79</b> K.Lamb	507	(5-507)	<b>87-88</b> G.Horner	551	(1-130, 2-421)

# BATSMEN WITH 500 RUNS IN ONE SEASON (GRADE) (cont'd)

	Total	Grades	22.22	Total	Grades
88-89 K.Humphreys	690	(2-162, 3-528)	<b>98-99</b> P.Jaques	731	(1-731)
K.Tuite	667	(1-49, 2-504, 3-113,	J.Young	637	(1-637)
Justin Kenny	597	5-1) (1-597)	M.Bradley A.Northridge	611 575	(1-611) (2-62, 3-513)
R.Davison	563	(1-563)	M.Probert	548	(1-25, 2-523)
S.Rixon	518	(1-518)	99-00		
89-90	<b>511</b>	(4.045.5.0(4)	P.Jaques	775	(1-775)
B.Hard	511	(4-247, 5-264)	L.Dudman M.Bradley	578 544	(3-65, 4-513) (1-544)
90-91	0.5.5	(1.055)	·		(1 0 1 1)
Justin Kenny J.Dyson	855 713	(1-855) (1-713)	<b>00-01</b> P.Jaques	548	(1-548)
R.Davison	700	(1-700)	J. Young	539	(1-539)
D.Givney	664	(2-664)	R.Trevillion	530	(5-530)
K.Humphreys	639	(2-615, 3-24)			
P.Weatherall	515	(1-515)	<b>01-02</b> M.Carroll	716	(1.02.2.200.2.242
91-92			M.Carroll	746	(1-93, 2-398, 3-242, 5-13)
Justin Kenny	536	(1-536)	M.Ridge	720	(4-366, 5-354)
00.00			P.Jaques	717	(1-717)
<b>92-93</b> T.Brennan	684	(2 2 2 202 4 201	J. Young	606	(1-606)
1.Dieillian	004	(2-3, 3-393, 4-201, 5-87)	J.Packer A.Craig	586 578	(1-27, 2-512, 3-47) (4-578)
M.Bradley	558	(4-281, 5-277)	S.Duff	561	(1-561)
Justin Kenny	520	(1-520)	M.D.O'Brien	548	(1-548)
02.04			P.Lynam	533	(2-470, 3-63)
<b>93-94</b> A.Clark	547	(1-547)	M.Hughston A.Clark	531 500	(2-337, 3-194) (1-45, 2-455)
S.Pratt	511	(2-103, 3-129, 4-200,	A.Clark	300	(1-45, 2-455)
		5-79)	02-03		
0.7.07			P.Jaques	902	(1-902)
95-96	075	(1.075)	J. Young	830	(1-830)
R.Davison D.Mitchell	759	(1-975) (1-759)	B.Roach J.Rafique	685 581	(1-45, 2-640) (4-13, 5-568)
W.Cary	512	(3-123, 4-356, 5-33)	M.Bradley	569	(1-569)
•			L.Dudman	562	(1-473, 2-89)
96-97	714	(1.150.0.544)	M.D.O'Brien	557	(1-557)
M.Bradley J.Young	714 701	(1-170, 2-544) (1-701)	D.Givney N.Bettiss	549 525	(5-549) (2-16, 3-329, 4-40,
R.Davison	632	(1-632)	14.Dettiss	323	5-140)
P.Jaques	593	(2-593)	A.Craig	515	(4-515)
D.Holley	582	(1-53, 2-529)	P.Weatherall	511	(3-511)
K.Tuite S.Duff	564	(2-564)	02.04		
A.Craig	557 532	(1-88, 2-469) (4-532)	<b>03-04</b> J.Packer	669	(1-107, 2-562)
7 I. Cluig	332	(1 332)	J. Young	522	(1-522)
97-98			M.Bradley	500	(1-416, 4-84)
P.Jaques	747	(1-421, 2-326)	04.05		
J.Holley J.Young	730 728	(1-426, 2-304) (1-728)	<b>04-05</b> M.D.O'Brien	800	(1-800)
M.Bradley	612	(1-612)	Steven Smith	593	(4-279, 5-314)
Justin Kenny	578	(1-578)	D.Givney	578	(5-578)
M.D.O'Brien	528	(1-418, 2-110)	M.Parker	503	(1-15, 2-488)
L.Fleming	536 525	(4-20, 5-516) (4-316, 5-200)			
D.Howard M.Probert	525 514	(4-316, 5-209) (3-479, 4-35)			
171.1 100011	217	$(3,17)$ , $\pm 30$			

# BATSMEN WITH 500 RUNS IN ONE SEASON (GRADE) (cont'd)

a= a <	Total	Grades	.0.11	Total	Grades
M.Hughston Steven Smith L.Dudman S.Cush	850 816 791 706	(1-695, 2-155) (1-429, 2-232, 3-155) (1-791) (2-156, 3-525, 4-25)	10-11 S.Cush M.Hopkins M.Hughston	631 610 598	(1-631) (1-194, 2-319, 3-97) (1-598)
M.D.O'Brien P.Jaques M.Parker P.Dugmore	655 642 591 579	(1-655) (1-642) (1-50, 2-541) (1-380, 2-199)	11-12 J.Brockley G.Davies S.Cush	607 597 549	(1-71, 2-536) (2-26, 3-571) (1-549)
P.Jaques Steven Smith K.Wilmott M.Bradley J.Rafique M.Earley C.Williams	849 796 704 659 630 606 585	(1-849) (1-796) (4-5, 5-699) (2-161, 3-498) (2-144, 3-457, 4-29) (3-27, 4-373, 5-206) (1-413, 2-172)	M.Hughston S.Cush M.Hopkins P.Saroukos B.Dwarshuis P.Jaques M.Brown	876 663 597 594 557 547 540	(1-876) (1-663) (1-164, 2-433) (2-141, 3-221, 4-232) (1-325, 2-232) (1-547) (1-540)
J.Packer M.Parker D.Murphy R.Chivers L.Dudman M.Ryder	563 561 556 552 522 506	(3-563) (1-45, 2-516) (1-53, 2-391, 3-112) (4-206, 5-346) (1-522) (4-57, 5-449)	13-14 P.Jaques S.Cush S.Khan C.Williams J.Burnett	626 612 606 604 534	(1-626) (1-612) (4-230, 5-376) (1-45, 2-559) (2-81, 3-453)
<b>07-08</b> Steven Smith	856	(1-856)	P.Saroukos J.Brockley	529 517	(1-340, 2-189) (1-73, 2-444)
J.Burnett D.Murphy G.Richards M.Bradley S.McInnes	571 540 535 533 510	(1-134, 2-206, 3-231) (1-533, 2-7) (3-112, 4-175, 5-248) (1-368, 2-165) (2-186, 3-159, 4-165)	14-15 M.Brown M.Hughston Shayne Smith J.Burnett	660 589 576 565	(1-660) (1-589) (1-154, 2-320, 3-102) (2-88, 3-477)
08-09 M.Hughston M.Bradley C.Williams S.Cush D.Murphy B.Marciante	826 780 640 589 516 510	(1-733, 2-93) (1-780) (2-640) (1-589) (1-516) (1-6. 2-504)	A.Whatley Dylan Smith	507 506	(1-324, 2-183) (1-67, 2-266, 3-28, 4-145)
09-10 M.Hughston J.Holley P.Jaques C.Williams M.Bradley N.Maddinson S.Pickering J.Brockley D.Murphy L.Casey S.Cush	964 687 685 604 580 574 572 567 547 514 500	(1-964) (1-135, 2-552) (1-685) (2-604) (1-580) (1-574) (1-61, 2-511) (2-567) (1-148, 2-399) (3-139, 4-375) (1-354, 2-146)			

### **CENTURIES**

First (	Grade							
	N.O'Neill	168	92-93	Justin Kenny	107	07-08	Steven Smith	136
	G.Le Huray	101	93-94	A.Clark	118		Steven Smith	134
67-68	N.O'Neill	123	94-95	D.Mitchell	166		D.Murphy	125 *
	C.Dodd	101 *	, , , ,	D.Coots	105	08-09	Steven Smith	158
68-69	R.Every	124	95-96	R.Davison	155	00 0)	S.Cush	149 *
00 0	G.Bailey	113	75 70	R.Davison	149		M.Hughston	131
69-70	•	125 *		D.Mitchell	128		M.Hughston	124
0,70	A.Griffiths	102		D.Mitchell	101		Steven Smith	115
	L.Ritchie	101		M.D.O'Brien	110		M.Bradley	106
	C.Dodd	101	96-97	J. Young	143	09-10	M.Hughston	184 (QF)
71-72	G.Bailey	100 *	70-77	R.Davison	142	09-10	Steven Smith	171 *
74-75	A.Hilditch	118		J. Young	139		M.Hughston	166 (SF)
77-75	B.O'Dowd	108		R.Davison	112		N.Maddinson	142
	J.Dyson	100 *		R.Davison	105		N.Maddinson	137 (QF)
75-76	J.Dyson	105 *	97-98	Justin Kenny	107		P.Jaques	137 (QF) 136
75-70	B.O'Dowd	103 *	71-70	J. Young	107		Steven Smith	134 *
76-77	A.Hilditch	102	98-99	J. Young	124		P.Jaques	128
77-78	A.Hilditch	103	70-77	P.Jaques	123		P.Jaques	114 *
79-80	W.Larkins	104		M.Bradley	117 *		A.Adams	105 *
77-00	A.Hilditch	100		J.Holley	116		L.Dudman	101
80-81	S.Rixon	110 *		M.Bradley	106	10-11	M.Hughston	121
00 01	S.Rixon	100		P.Jaques	104	10-11	L.Dudman	117
81-82		123 *		J.Holley	104		M.Hopkins	101 *
01 02	G.Barry	103	99-00	M.Bradley	212 *	11-12	N.Maddinson	225
82-83	B.Davison	111	<i>)</i>	J. Young	102	12-13	M.Hughston	144
02 05	P.Clark	109		P.Jaques	100	12-13	P.Jaques	120
83-84	P.Clark	129 *	00-01	M.Bradley	157 *		S.Cush	120
	L.Johns	166	00-01	J.Holley	129 *		M.Hughston	107
0105	P.Clark	123	01-02	P.Jaques	151		N.Maddinson	107 107 (F)
	P.Clark	112	01 02	J. Young	141		P.Jaques	107 (1)
	L.Johns	103		M.Bradley	121 *	13-14		125
85-86	L.Johns	164 *		P.Jaques	100 *	15 11	P.Jaques	114
	Justin Kenny	128 *	02-03	P.Jaques	116		M.Hughston	102
	Justin Kenny	119	<b>02</b> 05	M.Bradley	114	14-15	M.Brown	129 *
	L.Johns	117		P.Jaques	100 *	1 1 10	M.Hughston	126
	L.Johns	111	03-04	P.Jaques	151		Jamie Brown	122 *
	M.Ridge	101 *	00 0.	M.Powell	109		M.Brown	104
	L.Johns	101	04-05	P.Jaques	131		111.210 1111	101
	P.Prichard	101	0.00	M.D.O'Brien	118 *			
86-87	J.Steed	113		M.D.O'Brien	111 *			
87-88	P. Weatherall	101	05-06	M.Hughston	155 *			
88-89		153		P.Jaques	155 *			
	S.Rixon	142		P.Jaques	144			
	R.Davison	141		L.Dudman	140			
	R.Davison	136 *		P.Jaques	128 *			
	S.Rixon	130		M.Hansen	113			
90-91	Justin Kenny	157		P.Jaques	108			
	R.Davison	153		L.Dudman	105			
	Justin Kenny	134		J.Young	102			
	Justin Kenny	116	06-07	P.Jaques	321			
	Justin Kenny	104		P.Jaques	183 *			
	J.Dyson	103 *		P.Jaques	131			
	P. Weatherall	103 *		Steven Smith	119 *			
91-92	Justin Kenny	104 *		Steven Smith	116			
	A.Clark	113		M.Hughston	100 *			
				•				

# CENTURIES (cont'd)

Secon	d Grade							
	G.Chudleigh	153 *	98-99	D.Celep	102 *	12-13	J.Burnett	116 *
	C.Dodd	118		J.Packer	102		N.Loder	107
	S.Toolin	110 *	98-99	K.Tuite	100 *	13-14	J.Brockley	150
67-68	J.Philip	115 *	99-00	M.D.O'Brien	144		D.Maddinson	125
68-69	K.Symons	109		A.Northridge	127 *	14-15	A.Whatley	115
	L.Ritchie	102 *		D.Holley	105		B.Dwarshuis	110
69-70	G.Marston	138	00-01	J.Packer	115			
	B.Hazell	100 *	01-02	P.Lynam	125			
71-72	P.Venn	103	01-02	M.Carroll	120			
72-73	P.Cox	117 *		M.Hughston	114 *			
	<b>B.</b> Davison	103		J.Packer	108			
73-74	B.Davison	104		M.Carroll	104			
74-75	G.Marston	100 *		K.Thessman	103 *			
75-76	P.Venn	103 *		T.Brennan	101 *			
76-77	G.Coleman	118		P.Lynam	100 *	Third	Grade	
	A.Daley	109 *	02-03	M.Hughston	162 *	65-66	B.Teague	114
77-78	P.Fisher	107		K.Thessman	162	67-68	P.Atkins	143
78-79	K.Hudson	105		K.Thessman	131 *		B.Hazell	141
80-81	I.Stephen	128		B.Roach	130		L.Ritchie	126 *
81-82	D.Pratt	116		M.Hughston	110	68-69	G.Marston	139
82-83	I.Everett	104		B.Roach	106		A.Griffiths	106
84-85	A.Walsh	144 *	03-04	J.Packer	163	69-70	B.Pratt	112 *
	S.Funnell	108 *		B.Roach	161		P.Atkins	105
85-86	D.Simpson	131	04-05	D.Celep	129		B.Hopkin	105
	R.Davison	122		M.Parker	100	70-71	I.Stephen	103
	J.Steed	121	05-06	S.Cush	131	71-72	G.Chudleigh	110 *
	D.Givney	102		M.Hughston	116	72-73	A.Hilditch	102
86-87	D.Simpson	135		A.Fleming	109 *	75-76	K.Hudson	104
	K.Tuite	121 *	06-07	D.Murphy	158	76-77	M.Ridge	104
	G.Fitzgerald	111		M.Parker	111 *		A.Daley	102 *
	R.Davison	111		M.Parker	109	77-78	S.Wishart	107 *
	B.Johnson	101		D.Murphy	102		S.Wishart	102 *
	K.Tuite	100	07-08	S.Pickering	164		S.Wishart	102
87-88	D.Givney	162		J.Rafique	136	79-80	B.Johnson	113
	G.Horner	150 *		M.Bradley	129		P.Clark	109
88-89	K.Tuite	123	08-09	L.Dudman	144 *	81-82	C.Maggs	107 (SF)
	J.Clark	116 *		J.Holley	139		G.Errington	116
	K.Tuite	100		C.Williams	121 *	83-84	P.Weatherall	173 *
90-91	K.Humphreys	135		B.Marciante	121		B.Davison	103 *
	K.Humphreys	132		C.Williams	116	84-85	J.Clark	114
	D.Givney	106	09-10	D.Murphy	215		B.Davison	112
	D.Givney	100 *		J.Holley	173		M.Condon	111
92-93	N.Howard	105 *		J.Brockley	151 (QF)		R.Davison	107
	J.Holley	101 *		S.Pickering	121		B.Davison	104
94-95	M.Bradley	119		J.Holley	119 (QF)		T.Harvey	132
95-96		135 (F)		K.Brown	107 (QF)	86-87	D.Watson	153
	S.Duff	108		S.Pickering	100		G.Horner	111 *
96-97	•	151	10-11	M.Hopkins	150 *		A.Clark	110 (SF)
	M.Bradley	127		J.Brockley	138		J.Clark	105
	S.Duff	114 *	11-12	J.Brockley	123		A.Clark	104
97-98	P.Jaques	208		J.Burnett	109 *	87-88	T.Harvey	132
	J.Holley	183		J.Bills	108 *		G.Fitzgerald	120
	J.Holley	121		K.White	105		B.Johnson	114
00.00	K.Tuite	103	12-13	B.Dwarshuis	162		K.Humphreys	102
98-99	M.Probert	132		K.Brown	123		D.Mann	100 *

# CENTURIES (cont'd)

Third	Grade (cont'd)		Fourtl	h Grade				
88-89	K.Tuite	113 *	65-66	G.Bailey	110 *	99-00	L.Dudman	142 * (F)
	K.Humphreys	100 *	67-68	•	110 *		L.Dudman	124
89-90	T.Woodhill	135	68-69	A.Griffiths	115	00-01	J.Burnett	100 *
90-91	D.Holley	113		G.Coleman	114 *	01-02	A.Phillips	120
	T.Brennan	100 *		S.Boehm	112	02-03	M.Elliott	100
91-92	B.Kirby	138 *		G.Hilzinger	102 *	03-04	A.Craig	105
	P.Bourke	100 *		K.Hatherly	101	05-06	D.Studholme	111
	K.Humphreys	100	69-70	I.Stephen	110	05 00	M.Earley	102
92-93	J.Holley	199	70-71	M.Thompson	130 *		D.Studholme	101
,2,5	T.Brennan	100 *(SF)		G.Hilzinger	120	06-07	J.Burnett	123
93-94	D.Holley	131		B.Handley	161	00 07	M.Earley	118
75-74	M.Bradley	100 *	75-74	B.Handley	131 *		C.Lewis	102 *
95-96	W.Cary	123		D.O'Brien	120		A.Phillips	102
98-99	A.Northridge	126 *	74-75	D.O'Brien	104 *	07-08	S.McInnes	165 *
70-77	C.Hockey	107	75-76	D.O'Brien	122 *	08-09	J.Rafique	172
98-99	A.Northridge	107		K.Humphreys	128	00-09	M.Pulella	151
00-01	M.Carroll	103		J.Prendergast	105			127
	M.Carroll	141	70-79	_			J.Rafique	
01-02	M.Probert		80-81	K.Humphreys P.Welch	102 *	00.10	R.Shepherd	102
		103 102 *			103	09-10	L.Casey	101
	P.Weatherall		81-82	P.Somerville	103	10 11	C.Macnamara	100 *
02.02	M.Duff	100 *	02.04	D. Watson	100	10-11	M.Rice	164
02-03	P.Weatherall	129	83-84	J.Clark	152 *		B.Gilbert	112
02.04	P.Weatherall	111	04.05	R.Davison	108	11 10	G.Davies	103
	A.Phillips	154	84-85	T.Iceton	179	11-12	M.Rice	115
05-06	J.Rafique	137		D.Givney	120	10.10	M.Rice	106
	S.Cush	103	05.06	D. Watson	107	12-13	P.Saroukos	147
06.05	A.Phillips	101 *	85-86		145 *		D.Grant	113 *
06-07		117		G.Coleman	109		L.Casey	109 *
	J.Packer	116 *	86-87		141		A.El-Daher	103
	D.Murphy	112		D.Coots	126		M.Kelly	102
.=	M.Bradley	100 *		G.Coleman	120	13-14	B.Drury	106
07-08	M.Earley	134 *		K.Richards	111 *		B.Drury	100
	B.Marciante	116		D.Coots	105	14-15	Dylan Smith	145
	J.Burnett	114		D.Coots	104 (SF)			
08-09		124 *		M.Duff	147			
	S.McInnes	116		C.Parsons	116			
	L.Dudman	127 *	90-91	A.Craig	127			
09-10	M.Kelly	104		B.Kirby	114			
	Dylan Smith	102		D.Watson	114			
10-11		154		M.Jones	100 *			
	S.McInnes	116	91-92	A.Duffy	100			
	M.Bradley	112	92-93	T.Brennan	201 *			
11-12	G.Davies	164 (SF)		D.Costigan	101			
	G.Davies	133	93-94	S.Pratt	111			
12-13	R.Almond	118		G.Kenny	104 *			
	R.Maguire	105 *		M.Lumb	102			
	D.Maddinson	102	95-96	W.Cary	120			
	L.Maddinson	102		S.Peters	111			
13-14	J.Burnett	120 *		G.Kenny	102 *			
	M.McCrae	107	96-97	R.Fenech	109			
14-15	J.Burnett	110		R.Fenech	151			
	J.Burnett	101 *		M.Lumb	101 *			
				D.Watson	101 *			
			98-99	L.Malin	102 *			
				D.Howard	100			

# CENTURIES (cont'd)

	Grade								
70-71	P.Venn	117	04-05	M.Elliott	121 *	66-67	G.Marston	103	
	K.Hatherly	152 *	0.00	Steven Smith	121	68-69		134	*
	J.Wagner	122		R.Chivers	100 (QF)	00 07	P.Fisher	102	
15 10	P.Stewart	118	05-06	G.Davies	121	69-70	I.Stephen	110	
77-78		151	03-00	G.Davies	102 *	07-70	J.Dyson	106	*
77-76	D.Givney	101 *	06-07	K.Wilmott	164	71-72	I.Everett	140	
78-79	P.Bishell	101 124 (SF)	00-07	J.Zywietz	158	/1-/2	A.Hilditch	100	*
10-19	C.Tomko	117 *		K.Wilmott	136	72 74			•
01 02		125		R. Williott R. Chivers	108		B.Handley K.Hudson	116 151	
81-82	•	112 *		K.Wilmott				151	*
	K.Tuite		07.00		108	/3-/0	K.Hudson		•
02.02	K.Tuite	109	07-08	C.Lewis	154	7( 77	K.Hudson	111	±
82-83	K.Rynne	123		G.Richards	142	76-77	J.Heath	120	
02 04	C.Grimble	105 *	00.00	M.Kelly	107 *	77-78	P.Bishell	105	•
83-84	A.Quinn	134 *	08-09	B.Seville	145	82-83	C.Grimble	105	*
	G.Horner	133 *	09-10	G.Horner	127		R.Davison	112	~
04.05	D.Givney	113 *		P.Weatherall	104	93-94	T.Cadden	150	•
84-85	T.Harvey	165 (SF)		G.Horner	102		C.Lake	119	4
	J.Clark	158 *	10 11	A.Whatley	101 *		R.Furner	114	4
	G.Horner	100 *	10-11	M.Bradley	174		T.Cadden	113	
05.06	K.Lamb	100 (F)	11 10	B.Dwarshuis	116 *	04.05	C.Lake	113	
85-86	D.Coots	116		M.Burg	176 *	94-95	M.Probert	137	
	C.Parsons	112 *	12-13	G.Horner	112	00.00	C.Lake	103	
	C.Meichen	110	13-14	C.D'Arcy	169		L.Dudman	105	
07.00	T.Young	100 *		L.Casey	145 *(QF)	02-03	S.Pickering		(QF)
87-88		120		A. Watkiss	143		J.Davis	100	
00.00	C.O'Hara	104		S.Khan	138		C.Williams	100	•
88-89	D.Wallace	145 *	14-15	W.Vandermaal	134 *	05.06	S.Cush	100	ab.
00.00	B.Kirby	121	<b>.</b>			05-06	G.Davies	121	
89-90	B.Hard	134 *		vin-Gray Shield	100	07.00	G.Davies	101	•
00.01	D. Wallace	123		G.Bailey	100	07-08	M.Rice	116	
	D.Wallace	134	67-68	C.Dodd	111 *	09-10	Shayne Smith T.Doyle	142	
		100	(0 (0	D D '	11/		LDovie		
91-92	A.Craig	123	68-69	B.Davison	116	11-12	•	123	
	M.D.O'Brien	101		A.Campbell	124 *		N.Marciante	117	at.
91-92 92-93	M.D.O'Brien M.Condon	101 125 *	72-73	A.Campbell P.Venn	124 * 103		N.Marciante C.D'Arcy	117 166	*
	M.D.O'Brien M.Condon R.Duff	101 125 * 115		A.Campbell P.Venn A.Hilditch	124 * 103 113		N.Marciante C.D'Arcy J.Horner	117 166 117	
92-93	M.D.O'Brien M.Condon R.Duff A.Northridge	101 125 * 115 111 *	72-73 74-75	A.Campbell P.Venn A.Hilditch B.Handley	124 * 103 113 103		N.Marciante C.D'Arcy	117 166 117	* * (SF)
92-93 93-94	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas	101 125 * 115 111 * 118 *	72-73 74-75	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall	124 * 103 113 103 128	13-14	N.Marciante C.D'Arcy J.Horner J.Horner	117 166 117 108	
92-93 93-94 95-96	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney	101 125 * 115 111 * 118 * 105	72-73 74-75 87-88	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison	124 * 103 113 103 128 112 *	13-14	N.Marciante C.D'Arcy J.Horner	117 166 117 108	
92-93 93-94	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard	101 125 * 115 111 * 118 * 105 129	72-73 74-75 87-88 93-94	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley	124 * 103 113 103 128 112 * 150	13-14 S	N.Marciante C.D'Arcy J.Horner J.Horner	117 166 117 108	
92-93 93-94 95-96	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming	101 125 * 115 111 * 118 * 105 129 109	72-73 74-75 87-88 93-94 94-95	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien	124 * 103 113 103 128 112 * 150 110	13-14 S	N.Marciante C.D'Arcy J.Horner J.Horner CORES OF 99	117 166 117 108 4ths	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming	101 125 * 115 111 * 118 * 105 129 109 107 *	72-73 74-75 87-88 93-94 94-95	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques	124 * 103 113 103 128 112 * 150 110 108 *	13-14 S	N.Marciante C.D'Arcy J.Horner J.Horner CORES OF 99 G.Coleman C.McGinn	117 166 117 108 4ths "B"	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett	101 125 * 115 111 * 118 * 105 129 109 107 * 127	72-73 74-75 87-88 93-94 94-95 96-97	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley	124 * 103 113 103 128 112 * 150 110 108 * 108	13-14 S 68-69	N.Marciante C.D'Arcy J.Horner J.Horner  CORES OF 99  G.Coleman C.McGinn K.McIlveen	117 166 117 108 4ths "B" "B"	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134	72-73 74-75 87-88 93-94 94-95 96-97 98-99	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert	124 * 103 113 103 128 112 * 150 110 108 * 108 102	13-14 \$ 68-69	N.Marciante C.D'Arcy J.Horner J.Horner  CORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns	117 166 117 108 4ths "B" "B" 1sts	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170	13-14 S 68-69	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson	117 166 117 108 4ths "B" "B" 1sts 1sts	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Givney	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106	13-14 S 68-69 77-78 82-83	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Reynolds L.Malin	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105	13-14 \$ 68-69 77-78 82-83 85-86	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths 2nds	
92-93 93-94 95-96 97-98 98-99 01-02	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Reynolds L.Malin L.Malin	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109	13-14 \$68-69 77-78 82-83 85-86 90-91	N.Marciante C.D'Arcy J.Horner J.Horner GORES OF 99 G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths 2nds 5ths	
92-93 93-94 95-96 97-98	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Givney D.Reynolds L.Malin L.Malin N.Bettiss	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 109	13-14 8 68-69 77-78 82-83 85-86 90-91 92-93	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths 2nds 5ths 3rds	
92-93 93-94 95-96 97-98 98-99 01-02	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140 121	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown A.Whatley	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 107 *(QF)	13-14 S 68-69 77-78 82-83 85-86 90-91 92-93 98-99	N.Marciante C.D'Arcy J.Horner J.Horner GCORES OF 99 G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths 2nds 5ths 3rds 1sts	
92-93 93-94 95-96 97-98 98-99 01-02	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique S.Pickering	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140 121 100	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 109	13-14 \$68-69 77-78 82-83 85-86 90-91 92-93 98-99 99-00	N.Marciante C.D'Arcy J.Horner J.Horner GORES OF 99 G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young M.Bradley	117 166 117 108 4ths "B" "B" 1sts 1sts 4ths 2nds 5ths 3rds 1sts 1sts	* (SF)
92-93 93-94 95-96 97-98 98-99 01-02 02-03	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming T.Owsnett D.Givney D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique S.Pickering C.McCarron	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140 121 100 101 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12 14-15	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown A.Whatley A.Whatley	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 107 *(QF)	13-14 68-69 77-78 82-83 85-86 90-91 92-93 98-99 99-00 02-03	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young M.Bradley S.Cush	117 166 117 108 4ths "B" 1sts 1sts 2nds 5ths 3rds 1sts 1sts AWG	* (SF)
92-93 93-94 95-96 97-98 98-99 01-02	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique S.Pickering C.McCarron S.Duff	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140 121 100 101 * 166 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12 14-15	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown A.Whatley A.Whatley	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 107 *(QF) 106	13-14 8 68-69 77-78 82-83 85-86 90-91 92-93 98-99 99-00 02-03 03-04	N.Marciante C.D'Arcy J.Horner J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young M.Bradley S.Cush M.Ridge	117 166 117 108 4ths "B" 1sts 1sts 4ths 2nds 5ths 3rds 1sts 1sts 4ths 4ths	* (SF)
92-93 93-94 95-96 97-98 98-99 01-02 02-03	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique S.Pickering C.McCarron S.Duff R.Chivers	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 140 121 100 101 * 166 * 150	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12 14-15	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown A.Whatley A.Whatley Green Shield G.Bailey	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 107 *(QF) 106	13-14 8 68-69 77-78 82-83 85-86 90-91 92-93 98-99 99-00 02-03 03-04	N.Marciante C.D'Arcy J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young M.Bradley S.Cush	117 166 117 108 4ths "B" 1sts 1sts 2nds 5ths 3rds 1sts 1sts AWG	* (SF)
92-93 93-94 95-96 97-98 98-99 01-02 02-03	M.D.O'Brien M.Condon R.Duff A.Northridge C.Lucas D.Givney D.Howard L.Fleming L.Fleming T.Owsnett D.Givney D.Givney D.Reynolds L.Malin L.Malin N.Bettiss J.Rafique S.Pickering C.McCarron S.Duff	101 125 * 115 111 * 118 * 105 129 109 107 * 127 134 114 * 105 102 * 100 * 140 121 100 101 * 166 *	72-73 74-75 87-88 93-94 94-95 96-97 98-99 99-00 03-04 04-05 11-12 14-15	A.Campbell P.Venn A.Hilditch B.Handley P.Weatherall R.Davison J.Holley M.D.O'Brien P.Jaques M.Bradley M.Probert P.Jaques M.Hughston M.Hughston J.Brockley Jamie Brown A.Whatley A.Whatley Green Shield G.Bailey	124 * 103 113 103 128 112 * 150 110 108 * 108 102 170 106 105 109 107 *(QF) 106	13-14 8 68-69 77-78 82-83 85-86 90-91 92-93 98-99 99-00 02-03 03-04	N.Marciante C.D'Arcy J.Horner J.Horner J.Horner  GCORES OF 99  G.Coleman C.McGinn K.McIlveen L.Johns P.Wilson D.Faidley P.Weatherall D.Wallace M.D.O'Brien J.Young M.Bradley S.Cush M.Ridge	117 166 117 108 4ths "B" 1sts 1sts 4ths 2nds 5ths 3rds 1sts 1sts 4ths 4ths	* (SF)

### PROGRESSION OF CLUB RECORD SCORE

Date	Player	Score	Match	Venue			
2.10.65	N.O'Neill	168	1sts v. St.George	Hurstville Oval			
7.1.84	P.Weatherall	173 *	3rds v. North Sydney	North Sydney No.2			
13.10.84	T.Iceton	179	4ths v. Parramatta	Coleman Park			
14.11.92	T.Brennan	201 *	4ths v. Campbelltown	Raby No.2			
13.12.97	P.Jaques	208	2nds v. Bankstown	Caringbah Oval			
9.10.99	M.Bradley	212 *	1sts v. Hawkesbury	Caringbah Oval			
3.2.07	P.Jaques	321	1sts v. North Sydney	North Sydney No.1			
	RE	CORD S	CORES AT HOME GROUNDS				
Date	Player	Score	Match	Venue			
5.11.11	N.Maddinson	225	1sts v. Penrith	Glenn McGrath Oval			
21.3.09	J.Rafique	172	4ths v. Northern District (Qualifying Final)	Sutherland Oval			
29.10.11	M.Burg	176 *	5ths v.Manly-Warringah	Tonkin Oval			
	PROGRESSION OF RECORD SCORES FOR EACH GRADE						
Date	Player	Score	Match	Venue			
2.10.65	N.O'Neill	168	1sts v. St.George	Hurstville Oval			
9.10.99	M.Bradley	212 *	1sts v. Hawkesbury	Caringbah Oval			
3.2.07	P.Jaques	321	1sts v. North Sydney	North Sydney No.1			
16.10.65	S.Toolin	110 *	2nds v. Mosman	Mosman Oval			
15.1.66	G.Chudleigh	153 *	2nds v. Balmain	Leichhardt Oval			
7.11.87	D.Givney	162	2nds v. Balmain	Drummoyne Oval			
25.10.97	J.Holley	183	2nds v. Penrith	Howell Oval			
13.12.97	P.Jaques	208	2nds v. Bankstown	Caringbah Oval			
14.11.09	D.Murphy	215	2nds v. Campbelltown-Camden	Glenn McGrath Oval			
11.12.65	B.Teague	114	3rds v. North Sydney	North Sydney No.2			
2.10.67	L.Ritchie	126 *	3rds v. Sydney	Rushcutters Bay			
11.11.67	B.Hazell	141	3rds v. North Sydney	North Sydney No.2			
16.12.67	P.Atkins	143	3rds v. Western Suburbs	Blick Oval			
7.1.84	P.Weatherall	173 *	3rds v. North Sydney	North Sydney No.2			
20.2.93	J.Holley	199	3rds v. Parramatta	Old King's Oval			

# PROGRESSION OF RECORD SCORES FOR EACH GRADE (cont'd)

Date	Player	Score	Match	Venue
9.10.65	G.Bailey	110 *	4ths v. Mosman	Tonkin Oval
7.10.69	A.Griffiths	115	4ths v. Bankstown	Sutherland Oval
5.12.70	M.Thompson	130 *	4ths v. Balmain	Ryde Oval
24.11.73	B.Handley	161	4ths v. Northern District	Waitara Oval
13.10.84	T.Iceton	179	4ths v. Parramatta	Coleman Park
14.11.92	T.Brennan	201 *	4ths v. Campbelltown	Raby No.2
6.3.71	P.Venn	117	5ths v. Manly A	Tonkin Oval
23.10.71	K.Hatherly	152 *	5ths v. Nthn District A	Tonkin Oval
15.12.84	J.Clark	158 *	5ths v. Northern District	Tonkin Oval
23.3.85	T.Harvey	165	5ths v. Balmain A (Semi-final)	Blick Oval
13.11.04	S.Duff	166 *	5ths v. Western Suburbs	Tonkin Oval
26.9.10	M.Bradley	174	5ths v.Mosman	Glenn McGrath Oval
29.10.11	M.Burg	176 *	5ths v.Manly-Warringah	Tonkin Oval
2.1.67	G.Bailey	100	P-G v. Western Suburbs	Caringbah Oval
26.12.67	C.Dodd	111	P-G v. Randwick	Caringbah Oval
27.1.69	B.Davison	116 *	P-G v. Bankstown	Caringbah Oval
10.12.72	A.Campbell	124	P-G v. Western Suburbs	Caringbah Oval
22.11.87	P.Weatherall	128	P-G v. University of NSW	Caringbah Oval
2.1.94	J.Holley	150	P-G v. Bankstown	Caringbah Oval
16.1.00	P.Jaques	170 *	P-G v. Western Suburbs	Pratten Park
24.1.66	G.Bailey	109	AWG v. Western Suburbs	Caringbah Oval
9.1.69	I.Stephen	134 *	AWG v. Cumberland	Caringbah Oval
27.12.71	I.Everett	140	AWG v. Cumberland	Caringbah Oval
16.12.74	K.Hudson	151 *	AWG v. Nepean	Howell Oval
2.1.76	K.Hudson	158 *	AWG v. Petersham	Caringbah Oval
5.1.14	C.D'Arcy	166 *	AWG v. Eastern Suburbs	Glenn McGrath Oval
10.1.93	Justin Kenny	115	L/O v. Hawkesbury	Benson's Lane No.1
1.12.96	M.Bradley	118	L/O v. North Sydney (Semi-final)	North Sydney Oval
7.10.01	M.Bradley	121	L/O v. North Sydney	Caringbah Oval
7.1.06	P.Jaques	144	L/O v. Blacktown	Caringbah Oval
7.1.06	M.Hughston	155 *	L/O v. Blacktown	Caringbah Oval

### **BOWLERS WITH 200 WICKETS IN ALL GRADES**

							5W	10W
	Matches	Overs	Maidens	Runs	Wickets	Average	Inns	Match
						Ü		
K.Meadows	346	5063	1555	11437	668	17.1	29	2
A.Clark	383	4852	1227	13065	639	20.4	26	2
G.Barry	333	4254	1102	11803	608	19.4	20	2
M.Black	247	3796	1116	8952	577	15.5	28	-
S.Clark	192	2578	581	7038	435	16.2	25	1
P.Weatherall	324	3248	647	9952	432	23.0	12	-
D.Mann	253	3475	906	9019	431	20.9	17	-
M.Chapman	257	3950	1047	10885	428	25.4	13	-
N.Fitzgerald	217	2759	592	8831	412	21.4	11	-
B.Gorman	166	2056	299	8002	399	20.1	18	1
C.Macnamara	245	3121	776	8524	398	21.4	13	-
L.Dudman	315	2981	460	10251	376	27.3	6	-
M.Carroll	222	2866	705	8187	366	22.4	18	1
M.Gardner	151	2712	661	7503	336	22.3	17	-
J.Packer	287	2313	560	6310	327	19.3	14	-
J.Holley	309	2341	531	7009	323	21.7	6	_
H.Reus	170	1714	284	6353	318	20.0	12	_
J.Slattery	128	1669	329	5134	315	16.3	16	1
G.Murphy	181	1571	283	5151	311	16.6	14	1
J.Tuccia	183	2108	261	8486	310	27.4	2	- -
D.McLauchlan	145	2306	467	6593	309	21.3	14	_
J.Dunbar	156	1962	426	5454	301	18.1	11	_
R.Archibald	176	2529	613	6810	296	23.0	9	_
G.Kenny	230	2289	453	7019	293	24.0	6	_
A.Mann	175	2001	477	5628	279	20.2	6	_
D.Eaglesham	150	1604	299	5733	279	20.5	12	_
R.Mills	135	1682	412	4840	274	17.7	10	_
A.Fleming	180	1589	338	4875	270	18.1	11	1
J.Bills	161	1799	410	6439	268	24.0	7	_
D.Russell	121	1360	217	4915	267	18.4	10	1
N. Whittingham	195	2401	505	7240	265	27.3	3	_
S.Dawes	155	1787	460	4993	252	19.8	9	_
R.Wade	151	1213	168	5202	248	21.0	5	_
S.Manning	168	1787	365	5473	241	22.7	6	_
J.Zywietz	193	1537	234	5429	238	22.8	1	_
M.Jones	127	1791	418	4617	237	19.5	12	-
C.Gilmour	142	1703	349	5483	237	23.1	5	-
I.Napper	142	1024	168	3889	236		9	-
S.Edmonds	81	915	159	3224	234	16.5		-
K.Rose	126	1328	159	5274 5274	234	13.8 22.5	11 13	-
								-
G.Bailey	159	1305	272	4239	233	18.2	6	-
G.Coleman	215	1744	506	4249	233	18.2	10	- 1
C.Christie	177	1916	511	4577	233	19.6	8	1
N.Howard	142	1668	295	5467	231	23.7	11	2
H. Watson	130	1313	255	4029	217	18.6	6	-
G.Glover	119	907	164	3089	213	14.5	12	1
A.Hale	58	1031	227	2883	201	14.3	19	2
E.Cotton	85	1012	243	2967	201	14.8	13	1
D.Lawrence	76	835	150	2977	200	14.9	11	2
S.Willis	137	1588	392	4205	200	21.0	7	-

### **BOWLERS WITH 75 WICKETS IN ONE GRADE**

First Grade	Matches	Overs	Maidens	Runs	Wickets	Average
A.Clark	214	2866	759	7803	360	21.7
		1955			332	
S.Clark	123		437	5581		16.8
M.Chapman	158	2819	778	7807	296	26.4
N.Fitzgerald	145	1928	416	6236	286	21.8
M.Black	123	1656	405	4568	246	18.6
L.Dudman	192	1948	287	6882	243	28.3
P.Weatherall	126	1764	380	5222	216	24.2
B.Gorman	101	1205	169	4854	215	22.6
J.Tuccia	122	1411	154	5979	208	28.7
A.Fleming	90	1147	230	3624	196	18.5
E.Cotton	77	947	224	2793	179	15.6
G.Barry	115	1494	386	4344	177	24.5
D.McLauchlan	77	1335	265	4102	172	23.8
J.Holley	178	1235	271	4063	147	27.6
G.McGrath	56	964	264	2354	140	16.8
J.Slattery	58	748	130	2436	137	17.8
R.Wade	95	676	110	2807	130	21.6
G.Roden	54	803	142	2739	129	21.2
D.Mann	108	1166	289	3428	108	31.7
B.Guthrie	38	745	184	2205	102	21.6
Steven Smith	66	642	76	2762	96	28.8
M.Gardner	52	926	254	2547	95	26.8
G.Bailey	72	620	137	2006	89	22.5
A.Zampa	51	583	82	2133	76	28.1
G.Barron	62	654	130	2168	75	28.9
G.Darion	02	054	150	2100	13	20.7
Second Grade						40.5
G.Barry	139	1947	533	4921	253	19.5
A.Clark	80	1243	291	3363	180	18.7
M.Carroll	88	1369	369	3805	149	25.5
M.Black	52	797	198	1733	140	12.4
N.Howard	75	1035	185	3276	139	23.6
J.Packer	142	1011	213	2893	131	22.1
H.Reus	69	764	147	2748	128	21.5
K.Tuite	167	997	232	2689	121	22.2
J.Philip	33	461	78	1654	107	15.5
S.Boehm	57	538	84	1966	107	18.4
M.Gardner	36	806	182	2236	107	20.9
J.Slattery	42	555	117	1670	106	15.8
D.Russell	50	503	67	1993	105	19.0
F.Timbrell	52	563	100	2009	105	19.1
R.Waddington	53	413	39	1573	103	15.3
J.Bills	54	669	142	2146	96	22.4
N.Whittingham	68	997	248	2967	96	30.9
R.Archibald	65	952	232	2431	94	25.9
T.Freeburn	53	664	96	2648	91	29.1
K.Williams	56	736	127	2400	89	27.0
C.Gilmour	56	748	155	2439	89	27.4
D.Celep	78	584	54	2706	89	30.4
S.Manning	54	697	135	2272	87	26.1
J.Derwent	56	786	126	2961	87	34.0
P.McCann	32	403	58	1663	85	19.6
C.Russell	44	512	83	1823	83	22.0
B.Gorman	30	436	66	1598	80	20.0
J.Holley	48	496	116	1341	77	17.4
,j	,,	.,,		10 11	, ,	- , , ,

# **BOWLERS WITH 75 WICKETS IN ONE GRADE (cont'd)**

S 1 C 1 - (	Matches	Overs	Maidens	Runs	Wickets	Average
Second Grade (		(71	1.00	1722	77	22.5
G.Coleman	99	671	169	1733	77 76	22.5
A.Manzie	30	371	30	1508	76	19.8
Third Grade						
G.Murphy	121	1046	200	3442	209	16.5
G.Kenny	137	1415	286	4425	195	22.7
K.Meadows	72	1068	298	2717	140	19.4
J.Zywietz	111	922	139	3331	138	24.1
M.Black	37	792	302	1723	131	13.2
M.McDonald	45	454	84	1501	113	13.3
B.Davison	75	813	227	2016	103	19.6
P. Weatherall	73	721	138	2249	101	22.3
C.Gilmour	51	613	135	1793	100	17.9
A.Mann	62	733	163	2171	94	23.1
K.Hatherly	51	502	68	1770	91	19.5
D.Holley	76	672	181	1846	88	21.0
D.Mann	32	556	152	1410	81	17.4
A.Northridge	34	437	119	1059	77	13.8
C.Macnamara	49	634	156	1780	76	23.4
K.Rose	33	365	40	1446	75	19.3
Essenth Consider						
Fourth Grade	00	1106	207	2001	100	17.0
C.Macnamara R.Mills	90	1196	307	3091	182	17.0
D.Lawrence	77 52	895 581	202 99	2701 2145	148 142	18.3 15.1
M.Jones	62	954	219	2453	128	19.2
S.McGrath	48	580	162	1396	111	12.6
R.Hobden	41	477	77	1835	110	16.7
R.Longbottom	30	362	38	1050	106	9.9
G.Coleman	49	698	227	1520	101	15.0
K.Meadows	54	798	260	1682	100	16.8
R.Barton	45	361	27	1688	96	17.6
J.Dunbar	58	682	136	1891	95	19.9
P.Mullane	40	509	110	1381	90	15.3
G.Glover	49	411	85	1417	89	15.9
A.Hale	19	419	97	1165	84	13.9
M.Brennan	40	562	148	1469	84	17.5
K.Hatherly	38	357	54	1338	80	16.7
G.Kenny	70	642	127	1792	78	23.0
Fifth Crado						
Fifth Grade K.Meadows	161	2505	836	5158	352	14.7
D.Eaglesham	91	1073	223	3649	201	18.2
C.Christie	130	1326	365	3072	182	16.2
J.Dunbar	58	792	199	2089	125	16.7
R.Mills	51	704	196	1808	116	15.6
S.Dawes	55	682	200	1811	109	16.6
M.Abbott	34	406	54	1589	99	16.1
M.Jones	51	693	177	1692	92	18.4
P.Purcell	21	408	83	1308	84	15.6
E.Behl	35	599	183	1152	79	14.6
11 A 11 CIL						
"A" Shires	34	430	42	1850	93	19.9
P.Turner	34	430	42	1030	73	19.9

### **BOWLERS WITH 35 WICKETS IN AGE COMPETITIONS**

	Matches	Overs	Maidens	Runs	Wickets	Average			
Poidevin-Gray Shield									
D.Mann	32	450	126	1043	63	16.6			
D.Russell	25	318	63	1092	58	18.8			
N.Howard	21	240	42	792	52	15.2			
P.Byrom	17	191	34	511	48	10.6			
G.Bailey	24	235	50	853	48	17.8			
L.Talay	25	192	31	700	44	15.9			
A.Humphries	18	184	38	565	41	13.8			
D.McLauchlan	29	282	48	757	41	18.5			
G.Barry	19	195	54	566	40	14.2			
M.Gardner	17	275	75	691	40	17.3			
S.Clark	17	146	26	385	39	9.9			
M.Carroll	12	162	35	442	35	12.6			
N.Brookes	19	186	36	550	35	15.7			
A.W.Green Shield	1								
A.Hale	14	257	57	655	54	12.1			
B.Booker	14	154	38	437	37	11.8			
M.Gardner	14	223	55	634	37	17.1			
N.Morando	16	177	45	468	35	13.4			

### LEADING WICKET TAKERS EACH SEASON

First Grade		Secor	nd Grade		Third	l Grade	
65-66 E.Cotton, M.Black	31	65-66	J.Philip	37	65-66	B.Stephen	38
66-67 M.Black	41	66-67	B.Stephen	44	66-67	G.Chudleigh, K.Hatherly	25
67-68 E.Cotton	33	67-68	J.Philip	43	67-68	B.Hazell	30
68-69 E.Cotton	48	68-69	J.Slattery	46	68-69	A.Kay	35
69-70 E.Cotton, J.Slattery	31	69-70	P.McCann	38	69-70	A.Manzie	39
70-71 J.Slattery	60	70-71	A.Manzie	41	70-71	S.Edmonds	43
71-72 B.Gorman	34	71-72	I.Napper	34	71-72	R. Waddington	40
72-73 G.Bailey	36		I.Napper	30	72-73	M.Black	46
73-74 B.Gorman	42		M.Black	51	73-74	R.Vasek	33
74-75 B.Gorman	37	74-75	D.Russell	26	74-75	J.Slattery	39
75-76 B.Gorman	36	75-76	R.Waddington	47	75-76	M.McDonald	53
76-77 M.Black	32		F.Timbrell	28	76-77	B.Booker	34
77-78 E.Nix	40	77-78	F.Timbrell	32	77-78	A.Nix	37
78-79 E.Nix	32	`78-79	J.Heath	24	78-79	A.Peters	37
79-80 R.Williams	23	79-80	H.Reus	27	79-80	C.Tomko	25
80-81 R.Buckland	35	80-81	H.Reus	27	80-81	K.Rose	54
81-82 G.Barry	37	81-82	K.Rose	32	81-82	G.McBarron	37
82-83 R.Archibald	19	82-83	K.Rose	21	82-83	D.Cosgrove, K.Meadows	29
83-84 P.Clark, M.Gardner	36	83-84	K.Meadows	26		M.Black	17
84-85 G.Barry, D.Lang	24	84-85	M.Chapman, D.Niu	20	84-85	M.Black	57
85-86 M.Chapman	32		N.Howard	39	85-86	B.Davison	29
86-87 M.Chapman	31	86-87	N.Howard	44	86-87	B.Davison, D.Mann	34
87-88 M.Chapman	37	87-88	A.Clark, B.Connell	28		A.Hale	27
88-89 M.Chapman	35		G.Barry	21	88-89	R.Archibald	26
89-90 A.Clark	36		G.Coleman	42	89-90	G.Kenny, K.Meadows	18
90-91 M.Chapman, P.Weatherall	43	90-91	M.Gardner	43		D.Holley	37
91-92 P.Weatherall	35		M.Gardner	44		J.Campbell	24
92-93 A.Clark	19	92-93	S.Clark	28		J.Packer	28
93-94 A.Clark	43	93-94	D.Mann	19	93-94	K.Meadows	22
94-95 S.Clark	35	94-95	M.Carroll	33	94-95	K.Meadows	20
95-96 S.MacGill	58	95-96	M.Carroll	37	95-96	B.James, A.Mann	19
96-97 B.Guthrie	44	96-97	J.Dunbar	38		G.Barron	37
97-98 B.Guthrie	47	97-98	S.Manning	24	97-98	B.James	32
98-99 S.Clark	46	98-99	C.Lucas	14	98-99	A.Northridge	35
99-00 S.Clark	37	99-00	G.Warren	20		G.Kenny	27
00-01 D.McLauchlan	24	00-01	A.Clark	36	00-01	J.Hancock	27
01-02 G.Warren	32	01-02	A.Clark	36	01-02	P.Weatherall	31
02-03 G.Roden	52	02-03	A.Clark	37	02-03	R.Malas	27
03-04 G.Roden	33	03-04	D.Celep	23	03-04	B.Harwin	21
04-05 G.Roden	44	04-05	P.Weatherall	22	04-05	C.Gilmour	24
05-06 L.Dudman	41	05-06	L.Fleming	27	05-06	C.Gilmour	26
06-07 L.Dudman	38	06-07	J.Derwent	24	06-07	C.Gilmour	33
07-08 J.Tuccia	49	07-08	D.Simpson, L.Talay	18	07-08	J.Bills	24
08-09 S.Smith, J.Tuccia	27	08-09	L.Fleming	27	08-09	S.Newman	26
09-10 A.Adams	50	09-10	N.Rowe	43	09-10	N. Whittingham	19
10-11 A.Fleming	55	10-11	S.Dawes, C.Gilmour,		10-11	J.Derwent	26
11 10 NIP!11	26	11 10	Ç	19	11 10	I Dow	27
11-12 N.Fitzgerald	36		J.Bills	23	11-12	*	27
12-13 N.Fitzgerald	59		J.Bills	31		J.Zywietz	23
13-14 N.Fitzgerald	36		N.Whittingham	18		P.Burns, Trent Smith	29
14-15 N.Fitzgerald	33	14-15	D.Malone	19	14-15	P.Burns	19

# LEADING WICKET TAKERS EACH SEASON (cont'd)

Fourth Grade		Fifth Grade	
65-66 R.Longbottom	59		
66-67 R.Longbottom	42		
67-68 K.Hatherly	45		
68-69 D.Lawrence	34		
69-70 D.Lawrence	40	69-70 E.Rollinson	61
70-71 C.Russell	42	70-71 M.Abbott	42
71-72 J.Sands	24	71-72 G.Glover	29
72-73 B.Dawson	30	72-73 P.Rae	28
73-74 P.Mullane	56	73-74 P.Mackey	28
74-75 G.Glover	27	74-75 G.Fouracre	24
75-76 R.Mills	26	75-76 G.Fouracre	26
76-77 R.Mills	31	76-77 J.Hannigan	25
77-78 R.Hobden	32	77-78 J.Harris	36
78-79 R.Hobden	30	78-79 A.Lane	27
79-80 K.Rose	40	79-80 R.Noyes	39
80-81 G.Chudleigh	38	80-81 R.Mills	41
81-82 G.Platford	22	81-82 C.Christie	22
82-83 John Kenny	35	82-83 C.Christie	33
83-84 R.Mills	30	83-84 K.Kennedy	26
84-85 G.Kenny	29	84-85 M.Jones	33
85-86 A.Hale	45	85-86 E.Behl	24
86-87 A.Hale	39	86-87 J.Smith	30
87-88 G.Coleman	51	87-88 M.Jones	23
88-89 M.Brennan	37	88-89 K.Meadows	42
89-90 M.Jones	36	89-90 M.Carroll	31
90-91 M.Carroll	29	90-91 J.Packer	31
91-92 A.McDowell	21	91-92 A.Mann	32
92-93 C.Blakeley	32	92-93 P.Burg	23
93-94 J.Skinner	28	93-94 D.Eaglesham	41
94-95 A.Northridge	24	94-95 D.Lawless	19
95-96 D.Mann	2 <del>4</del> 27	95-96 P.Purcell	73
96-97 A.Craig	22		22
97-98 C.Brownscombe, K.Meadows	27	96-97 K.Meadows	
98-99 S.McGrath		97-98 D.Eaglesham 98-99 K.Meadows	39
99-00 S.McGrath	26	99-00 J.Dunbar	31
00-01 S.McGrath	37 24		49
01-02 R.Malas		00-01 K.Meadows	31
	41	01-02 D.Eaglesham	52
02-03 A.Craig, J.McInnes 03-04 R.Malas	16 17	02-03 K.Meadows	27
04-05 B.Harwin	21	03-04 K.Meadows	32
		04-05 K.Meadows	22
05-06 J.Dunbar	16	05-06 J.Roy	19
06-07 D.Crawford, J.Dunbar	26	06-07 S.Dawes	20
07-08 C.Macnamara	34	07-08 S.Dawes	29
08-09 H.Watson	38	08-09 J.McKinley	28
09-10 J.Bills	33	09-10 S.Dawes	19
10-11 T.Nicoll	26	10-11 M.Burg	17
11-12 C.Macnamara	25	11-12 P.Burns	21
12-13 A.Watkiss	22	12-13 S.Kourouche	20
13-14 C.Macnamara	29	13-14 S.Kourouche	19
14-15 D.Lowy	18	14-15 Jayden Brown	17

# LEADING WICKET TAKERS EACH SEASON (cont'd)

Daidonin Curry Shield		ANG	
Poidevin-Gray Shield	1.0	A.W.Green Shield	1.0
65-66 R.Wade	16	65-66 P.Lennon	16
66-67 I.Napper	16	66-67 P.Cox	15
67-68 L.Ritchie	17	67-68 S.Edmonds	21
68-69 G.Bailey	16	68-69 M.Abbott	20
69-70 A.Humphries	18	69-70 J.Sands	21
70-71 A.Humphries	15	70-71 D.Russell	29
71-72 H.Reus, C.Russell	9	71-72 M.McDonald	11
72-73 G.Barry, D.Russell	12	72-73 P.Mullane	15
73-74 D.Russell	13	73-74 B.Handley, C.Freeman	15
74-75 D.Russell	19	74-75 B.Booker	14
75-76 D.Russell	15	75-76 B.Booker	23
76-77 P.Mancell	9	76-77 M.Preddey	12
77-78 J.Heath	12	77-78 M.McCool	17
78-79 I.Cranston, W.Moodie, M.Preddey	5	78-79 R.Archibald	21
79-80 R.Archibald	8	79-80 M.Gardner	18
80-81 M.Preddey	14	80-81 J.Steed	19
81-82 M.Gardner	9	81-82 S.Woodley	34
82-83 R.Archibald, K.Meadows	11	82-83 D.Berry, N.Brookes, M.Lawler	11
83-84 M.Gardner	12	83-84 R.Davison	13
84-85 N.Brookes, M.Gardner	9	84-85 C.Peros	18
85-86 D.Niu	6	85-86 A.Hale	17
86-87 N.Brookes	11	86-87 A.Hale	37
87-88 N.Howard, P.Weatherall	12	87-88 W.Buttegieg	6
88-89 N.Howard	28	88-89 N.Morando	16
89-90 D.Mann	9	89-90 N.Morando	19
90-91 D.Holley	21	90-91 T.Lawler	16
91-92 M.Carroll	15	91-92 C.Blakeley	17
92-93 M.Carroll	20	92-93 D.Eaglesham	24
93-94 J.Hall	7	93-94 D.Adams	18
94-95 J.Hall	17	94-95 S.Carlisle	23
95-96 S.Clark	18	95-96 D.Reynolds	9
96-97 J.Holley	8	96-97 M.Hadfield	16
97-98 M.Bradley, C.Lucas	13	97-98 J.McInnes	16
98-99 P.Byrom	26	98-99 A.Wallis	12
99-00 P.Byrom	22	99-00 M.Hughston	13
00-01 A.Ezquerro	10	00-01 B.Mulheron	16
01-02 N.Rosser	9	01-02 T.Baraket	9
02-03 A.Fleming	13	02-03 D.Simpson	14
03-04 L.Dudman	8	03-04 D.Simpson	18
04-05 S.Wallace	15	04-05 A.Davis, Steven Smith	7
05-06 J.Tuccia	12	05-06 C.Lewis	14
06-07 N.Rowe	8	06-07 N.Sharman	15
07-08 N.Rowe	11	07-08 P.Burns	12
08-09 L.Talay	15	08-09 M.Henry, Dylan Smith	10
09-10 L.Talay	16	09-10 S.Kar	14
10-11 K.White	8	10-11 B.Drury	14
11-12 K.White	14	11-12 Trent Smith	17
12-13 B.Dwarshuis	11	12-13 N.Marciante	14
13-14 Trent Smith	11	13-14 D.Malone	17
14-15 Jamie Brown, T.Pinson	13	14-15 A.Lee	11

# **BOWLERS WITH 40 WICKETS IN ONE SEASON (GRADE)**

<b></b>	Total	Grades		Total	Grades
<b>65-66</b> R.Longbottom	59	(4-59)	73-74 P.Mackey	68	(4-40, 5-28)
J.Philip	53	(1-1, 2-37, 3-15)	P.Mullane	56	(4-56)
B.Druery	45	(B-45)	M.Black	51	(2-51)
R.Walls	44	(A-44)	M.McDonald	45	(3-28, 4-13, 5-4)
R.Barton P.Lennon	42 42	(4-42) (4-32, A-10)	B.Gorman	42	(1-42)
P.Turner	41	(A-41)	75-76		
B.Stephen	40	(2-2, 3-38)	M.McDonald	53	(3-53)
R.Wade	40	(1-9, 3-1, 4-30)	R. Waddington	47	(2-47)
66-67			76-77		
E.Rollinson	52	(A-12, B-40)	B.Booker	50	(3-34, 4-16)
P.Lennon	45	(2-20, 3-12, 4-13)	77 70		
B.Stephen D.Lawrence	44 42	(2-44) (3-12, 4-30)	<b>77-78</b> E.Nix	40	(1-40)
R.Longbottom	42	(4-42)	L.IVIX	70	(1-40)
M.Black	41	(1-41)	79-80		
		` '	K.Rose	46	(3-6, 4-40)
67-68	4.0	(A (	R.Noyes	42	(4-3, 5-39)
S.Edmonds	48	(4-6, A-13, B-29)	00 01		
K.Hatherly J.Philip	45 44	(4-45) (1-1, 2-43)	<b>80-81</b> K.Rose	57	(2-3, 3-54)
G.Murphy	41	(3-24, 4-14, A-3)	R.Mills	41	(5-41)
P.Turner	40	(A-40)			(5 (1)
		,	81-82		
68-69	50	(1.4.0.46)	M.Gardner	44	(1-35, 2-9)
J.Slattery E.Cotton	50 48	(1-4, 2-46)	82-83		
A.Kay	46 44	(1-48) (2-9, 3-35)	D.Cosgrove	41	(2-2, 3-29, 4-10)
D.Lawrence	43	(3-9, 4-43)	D.Cosgrove	11	(2 2, 3 2), 4-10)
P.McCann	42	(1-2, 2-40)	84-85		
A.Humphries	42	(1-1, 2-9, 3-32)	M.Black	57	(3-57)
S.Gilchrist	41	(1-30, 2-11)	G.Kenny	46	(2-3, 3-14, 4-29)
69-70			M.Jones	43	(4-10, 5-33)
E.Rollinson	61	(5-61)	85-86		
A.Manzie	53	(2-14, 3-39)	A.Hale	49	(4-45, 5-4)
S.Edmonds	47	(3-22, 4-8, 5-17)			, ,
A.Kay	45	(3-11, 4-34)	86-87		<b>(2.20. 1.20.</b>
P.Doherty	43	(5-43)	A.Hale	68 53	(3-29, 4-39)
P.McCann D.Lawrence	41 40	(1-3, 2-38) (4-40)	D.Mann N.Howard	53 44	(2-4, 3-34, 4-15) (2-44)
D.Lawrence	40	(4-40)	11.110 Wald	77	(2-44)
70-71			87-88		
J.Slattery	60	(1-60)	G.Coleman	51	(4-51)
C.Russell	53	(3-11, 4-42)	00 00		
S.Edmonds M.Abbott	47 42	(3-43, 4-4) (5-42)	<b>88-89</b> K.Meadows	42	(5-42)
A.Manzie	41	(2-41)	M.Brennan	40	(2-1, 3-2, 4-37)
	•-	(= 11)			(2 1, 5 2, 1 5 1)
71-72	2 -		89-90		
G.Barry	43	(4-18, 5-25)	K.Meadows	45	, ,
R.Waddington D.Russell	42 41	(2-2, 3-40) (3-10, 4-12, 5-19)	G.Coleman G.McGrath	42 41	(2-42) (1-28, 2-13)
D.1Xu55011	71	$(J^{-1}U, T^{-1}L, J^{-1}J)$	O.MCOIAIII	71	(1-20, 2-13)
72-73			90-91		
M.Black	53	(2-7, 3-46)	M.Chapman	43	(1-43)
			P. Weatherall	43	(1-43)

# BOWLERS WITH 40 WICKETS IN ONE SEASON (GRADE) (cont'd)

00 01 (contid)	Total	Grades	02.02	Total	Grades
90-91 (cont'd) M.Gardner J.Packer	43 40	(2-43) (4-9, 5-31)	<b>02-03</b> G.Roden A.Clark A.Fleming	52 50 40	(1-52) (1-13, 2-37) (1-40)
<b>91-92</b> M.Gardner	44	(2-44)	<b>04-05</b> G.Roden	44	(1-44)
<b>93-94</b> D.Eaglesham A.Clark	45 43	(4-4, 5-41) (1-43)	<b>05-06</b> L.Dudman	41	(1-41)
95-96 P.Purcell	73	(5-73)	<b>06-07</b> J.Hudson	41	(4-14, 5-27)
S.MacGill S.Clark A.Clark	58 45 40	(1-58) (1-45) (1-40)	<b>07-08</b> J.Tuccia	49	(1-49)
<b>96-97</b> B.Guthrie J.Dunbar	44 42	(1-44) (2-38, 3-4)	<b>08-09</b> H.Watson	42	(4-38, 5-4)
G.Barron 97-98	40	(2-3, 3-37)	<b>09-10</b> A.Adams N.Rowe	50 44	(1-50) (1-1, 2-43)
B.Guthrie D.McLauchlan S.Clark	47 46 45	(1-47) (1-46) (1-45)	N.Fitzgerald  10-11	41	(1-22, 2-19)
<b>98-99</b> S.Clark	46	(1-46)	A.Fleming <b>12-13</b>	55	(1-55)
99-00	40	(1-40)	N.Fitzgerald	59	(1-59)
J.Dunbar <b>01-02</b>	49	(4-0, 5-49)			
D.Eaglesham R.Malas K.Meadows A.Mann S.Manning	52 46 45 42 41	(5-52) (3-4, 4-41, 5-1) (5-45) (3-4, 4-38, 5-0) (3-1, 4-40)			

### **HAT-TRICKS**

First Gra	ıde	Second	Grade	Third (	Grade
65-66 E	C.Cotton	66-67	R.Hobden	65-66	B.Stephen
69-70 E	C.Cotton	67-68	G.Fanning	75-76	R.Richardson (SF)
74-75 N	1.Black	72-73	I.Napper	86-87	B.Davison
		87-88	G.Barry	90-91	D.Holley
		02-03	A.Clark	13-14	P.Burns **
					P.Burns (QF)
Fourth G	Frade	Fifth G	rade	Poidevi	in-Gray Shield
66-67 R	R.Longbottom	71-72	G.Black	70-71	S.Edmonds
68-69 G	G.Glover	72-73	P.Mullane	02-03	A.Fleming
K	C.Hatherly		P.Rae	10-11	N.Sharman
81-82 K	C.Meadows	94-95	D.McLauchlan		
82-83 Jo	ohn Kenny	08-09	J.McKinley	A.W.G	reen Shield
85-86 N	1.Black (Final)		-	72-73	P.Mullane
86-87 N	1.Black			75-76	B.Booker
08-09 H	I.Watson			01-02	C.Williams
09-10 J.	.Zywietz			08-09	G.Wissam
	•			14-15	H.Tattersall
		** Dou	ble hat-trick		

### 10 OR MORE WICKETS IN A MATCH

First G	rade		Second	Grade			Third (	Grade		
	E.Cotton	11-64	-	J.Philip		12-91		G.Stone		11-104
70-71	J.Slattery	13-72		•		11-50	69-70	A.Kay		10-60
78-79		13-67		P.McCann	*	15-79	70-71	S.Edmonds		11-88
	G.Barry	10-92	75-76	D.Russell		11-94	76-77	B.Booker		12-68
95-96	S.MacGill	11-95	84-85	B.Connell		10-85	82-83	D.Cosgrove		10-88
99-00	S.Clark	10-95	86-87	N.Howard		11-134	96-97	G.Barron		10-81
03-04	G.Roden	11-87		N.Howard		10-60	99-00	M.Carroll		11-80
08-09	S.Smith	10-133	87-88	A.Clark	*	14-84	08-09	S.Newman		10-63
10-11	A.Fleming	11-70		B.Connell		10-104				
	_		00-01	A.Clark		11-67				
Fourth	Grade		Fifth G	rade			A.W.G	reen Shield		
65-66	R.Barton	10-61	70-71	M.Abbott		12-29	81-82	S. Woodley	*	10-25
66-67	S.Gilchrist	11-54	76-77	M.Brindley		10-58				
	R.Longbottom	10-26	80-81	C.Christie		14-73				
	B.Hazell	10-53	85-86	S. Woodley		11-42		atch figures for		
67-68	G.Murphy	12-49	89-90	G.Geraghty		11-97	Poidevi	in-Gray Shield		
	D.Lawrence	11-93	98-99	K.Meadows		11-88	92-93	M.Carroll	*	9-53
68-69	D.Lawrence	12-97	02-03	J.Rafique		11-32				
	D.Harkness	10-91								
73-74	M.McDonald	10-23								
	P.Mackey	10-46								
	P.Mullane	10-57								
74-75	G.Barry	11-75								
82-83	John Kenny	10-53		* In one day						
85-86	A.Hale	11-32								
86-87	K.Meadows	13-94								
	A.Hale	11-172								

# 7 OR MORE WICKETS IN AN INNINGS

First G	rade		Third (	Grade (cont'd)		Fourth	Grade (cont'd)	
	E.Cotton	7-77		G.Murphy	7-69		S.McGrath	7-32
	E.Cotton	9-24		I.Cranston	7-41		C.Price	7-45
00 07	E.Cotton	7-39		G.McBarron	9-88		C.Lake	7-62
70-71		9-66		K.Meadows	7-91	01-02	C.Lake	7-02
70-71	J.Slattery	7-68		M.Black	7-50	Fifth G	rada	
74 75	M.Black	7-08 7-29		A.Hale	7-30 7-30		P.Doherty	0 22
	E.Nix	7 <b>-</b> 29 7-41	00-07	D.Mann		09-70	•	8-33
			00 00		7-45		E.Rollinson	7-59
	G.Barry	9-82	88-89	R.Archibald	7-25	70.71	E.Rollinson	7-53
	M.Gardner	7-90	00.00	R.Archibald	7-39	70-71	M.Abbott	8-6
90-91	P.Weatherall	7-57	89-90	K.Meadows	8-74		G.Glover	7-25
00.04	M.Chapman	7-108		K.Meadows	7-39		P.Mackey	8-41
93-94	=	7-41		E.Behl	7-84	77-78	J.Harris	7-38
	G.McGrath	7-47		R.Archibald	7-37		C.Tomko	7-44
97-98		7-43	99-00	M.Carroll	8-36	78-79	R.Mills	7-74
	B.Guthrie	7-76		S.Manning	8-41	80-81	C.Christie	8-27
	D.McLauchlan	7-97	04-05	C.Gilmour	7-28		R.Mills	8-28
03-04	G.Roden	7-52		S.McGrath	7-75	83-84	C.Harvey	8-3
04-05	G.Roden	7-51	06-07	J.Packer	7-26	84-85	M.Jones	8-98
06-07	L.Fleming	7-20		C.Gilmour (SF)	7-46		P.Bland	7-31
	N.Fitzgerald	9-102	08-09	S.Newman	8-54	85-86	S. Woodley	8-25
	8	,	10-11	J.Bills	7-36	86-87	M.Brennan	7-31
Second	Grade			M.Manton	7-29	89-90	G.Geraghty	9-43
	J.Philip	7-70	11 12	J.Roy (QF)	7-30	07 70	M.Carroll	8-30
	J.Philip	8-10	13_1/	K.Brockley	8-51	91-92	A.Mann	8-72
00-07	B.Stephen	7-63	13-17	P.Burns	7-24	91-92	C.Haran	7-38
68-69	P.McCann	8-54				05.06	P.Purcell	7-38 7-103
00-09				P.Burns	7-32			
60.70	P.McCann	7-25				96-97	T.Fenech	7-61
09-70	P.McCann	8-16				97-98	S.McGrath (SF)	8-72
	D. C	0.22	10	C 1 .			C D 1 (D)	750
70-71	B.Gorman	8-32	Fourth		0.10	00-01	C.Brownscombe (F)	7-56
70-71	I.Napper	7-15	65-66	P.Lennon (F)	9-19	00-01	D.Eaglesham	7-26
70-71 71-72	I.Napper I.Napper	7-15 7-34	65-66	P.Lennon (F) B.Hazell	7-16	00-01 01-02	D.Eaglesham D.Eaglesham	7-26 7-40
70-71 71-72 72-73	I.Napper I.Napper I.Napper	7-15 7-34 7-29	65-66	P.Lennon (F) B.Hazell R.Longbottom	7-16 7-17	00-01 01-02 02-03	D.Eaglesham D.Eaglesham J.Rafique	7-26 7-40 8-17
70-71 71-72 72-73	I.Napper I.Napper I.Napper D.Russell	7-15 7-34 7-29 8-58	65-66 66-67	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist	7-16 7-17 7-33	00-01 01-02 02-03 07-08	D.Eaglesham D.Eaglesham J.Rafique C.Streater	7-26 7-40 8-17 8-42
70-71 71-72 72-73 74-75	I.Napper I.Napper I.Napper D.Russell M.Black	7-15 7-34 7-29 8-58 7-63	65-66 66-67	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy	7-16 7-17 7-33 8-25	00-01 01-02 02-03 07-08	D.Eaglesham D.Eaglesham J.Rafique	7-26 7-40 8-17
70-71 71-72 72-73 74-75 75-76	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell	7-15 7-34 7-29 8-58 7-63 7-68	65-66 66-67 67-68	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence	7-16 7-17 7-33 8-25 7-36	00-01 01-02 02-03 07-08 09-10	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes	7-26 7-40 8-17 8-42
70-71 71-72 72-73 74-75 75-76 79-80	I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus	7-15 7-34 7-29 8-58 7-63 7-68 7-36	65-66 66-67 67-68	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy	7-16 7-17 7-33 8-25	00-01 01-02 02-03 07-08 09-10	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes	7-26 7-40 8-17 8-42
70-71 71-72 72-73 74-75 75-76 79-80	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell	7-15 7-34 7-29 8-58 7-63 7-68	65-66 66-67 67-68	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence	7-16 7-17 7-33 8-25 7-36	00-01 01-02 02-03 07-08 09-10	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes	7-26 7-40 8-17 8-42
70-71 71-72 72-73 74-75 75-76 79-80	I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus	7-15 7-34 7-29 8-58 7-63 7-68 7-36	65-66 66-67 67-68	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover	7-16 7-17 7-33 8-25 7-36 7-39	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes	7-26 7-40 8-17 8-42 8-51
70-71 71-72 72-73 74-75 75-76 79-80 81-82	I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32	65-66 66-67 67-68	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence	7-16 7-17 7-33 8-25 7-36 7-39 7-39	00-01 01-02 02-03 07-08 09-10 <b>Poidev</b> i 68-69 74-75	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes in-Gray Shield D.Wentworth	7-26 7-40 8-17 8-42 8-51
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85	I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49	65-66 66-67 67-68 68-69	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover	7-16 7-17 7-33 8-25 7-36 7-39 7-39 7-44	00-01 01-02 02-03 07-08 09-10 <b>Poidev</b> i 68-69 74-75	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes in-Gray Shield D.Wentworth G.Barry	7-26 7-40 8-17 8-42 8-51 7-45 7-31
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87	I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30	65-66 66-67 67-68 68-69	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Cazzard	7-16 7-17 7-33 8-25 7-36 7-39 7-39 7-44 7-45	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50	65-66 66-67 67-68 68-69	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Lawrence H.Reus M.McDonald	7-16 7-17 7-33 8-25 7-36 7-39 7-39 7-44 7-45 7-46	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33	65-66 66-67 67-68 68-69 70-71 73-74	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51	65-66 66-67 67-68 68-69 70-71 73-74 74-75	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b>	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson	7-16 7-17 7-33 8-25 7-36 7-39 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas reen Shield P.Mullane	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-40 7-78 8-42 7-37 7-41	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66 68-69	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence A.Kay	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86 86-87	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows G.Coleman	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37 7-41 7-83	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66 68-69	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence A.Kay P.McCann	7-15 7-34 7-29 8-58 7-63 7-68 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86 86-87	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows G.Coleman M.Brennan	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37 7-41 7-83 9-32	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66 68-69 70-71	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence A.Kay P.McCann S.Edmonds	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127 7-27 8-67 9-45 7-23	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86 86-87 88-89	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows G.Coleman M.Brennan	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37 7-41 7-83 9-32 8-66	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66 68-69 70-71 72-73	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence A.Kay P.McCann S.Edmonds M.Black	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127 7-27 8-67 9-45 7-23 8-26	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86 86-87 88-89 89-90	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows G.Coleman M.Brennan M.Brennan K.Meadows	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37 7-41 7-83 9-32 8-66 7-31	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67
70-71 71-72 72-73 74-75 75-76 79-80 81-82 84-85 86-87 87-88 91-92 94-95 00-01 06-07 <b>Third</b> 65-66 68-69 70-71 72-73 75-76	I.Napper I.Napper I.Napper I.Napper D.Russell M.Black D.Russell H.Reus K.Rose B.Roberts M.Connolly M.Wood B.Connell A.Clark A.Clark M.Gardner M.Carroll A.Clark J.Derwent  Grade D.Lawrence A.Kay P.McCann S.Edmonds	7-15 7-34 7-29 8-58 7-63 7-68 7-36 7-32 7-49 7-30 7-61 8-50 7-33 7-51 8-83 8-37 7-44 8-127 7-27 8-67 9-45 7-23	65-66 66-67 67-68 68-69 70-71 73-74 74-75 75-76 80-81 82-83 85-86 86-87 88-89 89-90 90-91	P.Lennon (F) B.Hazell R.Longbottom S.Gilchrist G.Murphy D.Lawrence G.Glover D.Lawrence G.Glover D.Gazzard H.Reus M.McDonald G.Murphy G.Barry R.Richardson D.Cosgrove G.Chudleigh G.Chudleigh John Kenny A.Hale K.Meadows G.Coleman M.Brennan	7-16 7-17 7-33 8-25 7-36 7-39 7-44 7-45 7-46 7-20 7-37 8-38 8-54 7-36 7-40 7-78 8-42 7-37 7-41 7-83 9-32 8-66	00-01 01-02 02-03 07-08 09-10 <b>Poidevi</b> 68-69 74-75 82-83 97-98 <b>A.W.G</b> 72-73 75-76 77-78 80-81	D.Eaglesham D.Eaglesham J.Rafique C.Streater S.Dawes  in-Gray Shield D.Wentworth G.Barry K.Meadows R.Archibald C.Lucas  reen Shield P.Mullane B.Booker M.McCool J.Steed	7-26 7-40 8-17 8-42 8-51 7-45 7-31 7-42 7-76 7-36 7-25 7-23 7-32 7-67

### WICKETKEEPERS WITH 100 DISMISSALS IN ALL GRADES

	Matches	Total	Catches	Stumpings
D.Rixon	260	473	381	92
L.Ball	218	437	375	62
E.Atkins	215	373	309	64
S.Duff	187	272	228	44
R.Bain	150	267	217	50
A.Campbell	124	244	222	22
S.Hair	115	233	185	48
B.Johnson	251	232	184	48
K.Lamb	149	222	157	65
T.Moreland	119	209	170	39
G.Bannon	103	204	182	22
B.Miller	102	186	160	26
G.Davison	125	185	120	65
T.Reynolds	106	177	120	57
J.Brockley	155	175	141	34
E.Terone	97	152	119	33
N.Loder	157	152	138	14
M.McLeay	66	138	72	66
M.Morgan	83	138	124	14
C.McGinn	81	137	105	32
J.Rose	88	129	95	34
M.Heslehurst	126	128	104	24
G.Arnold	61	127	88	39
W.Croese	60	122	102	20
J.Ford	89	122	86	36
S.Rixon	72	122	91	31
R.Cartwright	54	118	74	44
Graham Goodman	58	111	83	28
R.Bennison	69	109	88	21

### WICKETKEEPERS WITH 50 DISMISSALS IN ONE GRADE

	Matches	Total	Catches	Stumpings
First Grade				
D.Rixon	204	402	338	64
E.Atkins	122	227	194	33
L.Ball	96	217	202	15
R.Bain	118	199	162	37
A.Campbell	92	172	159	13
S.Rixon	69	117	89	28
S.Duff	52	103	95	8
G.Errington	39	50	47	3
Second Grade				
L.Ball	86	167	133	34
J.Brockley	76	123	100	23
B.Johnson	110	117	94	23
R.Cartwright	50	109	68	41
S.Duff	60	100	87	13
G.Bannon	34	82	73	9
J.Rose	40	74	57	17
E.Terone	43	71	61	10
W.Croese	31	61	48	13
T.Moreland	31	58	48	10

# WICKETKEEPERS WITH 50 DISMISSALS IN ONE GRADE (cont'd)

	Matches	Total	Catches	Stumpings
Third Grade				
G.Davison	55	75	55	20
S.Hair	31	70	60	10
B.Johnson	65	65	47	18
B.Miller	34	64	56	8
T.Moreland	34	62	55	7
N.Loder	59	62	55	7
M.Tehira	28	58	50	8
M.McLeay	33	56	34	22
Fourth Grade				
K.Lamb	66	100	60	40
M.McLeay	31	79	35	44
B.Miller	37	75	65	10
M.Heslehurst	43	54	48	6
T.Reynolds	39	54	41	13
E.Atkins	27	51	42	9
Fifth Grade				
K.Lamb	50	77	59	18

### WICKETKEEPERS WITH 30 DISMISSALS IN AGE COMPETITIONS

	Matches	Total	Catches	Stumpings
Poidevin-Gray Shi	eld			
T.Moreland	27	45	39	6
J.Brockley	30	44	35	9
G.Bannon	22	41	36	5
S.Hair	22	41	35	6
R.Bain	16	32	29	3
D.Rixon	23	30	18	12
A.W.Green Shield				
G.Davison	15	33	9	24
T.Moreland	16	31	16	15

#### **50 CATCHES IN ALL GRADES**

180 L.Dudman	97 S.Dawes	73 L.Casey	59 Bryan Dawson
166 M.Bradley	95 M.Carroll	73 J.Rafique	59 M.Gardner
159 Justin Kenny	92 J.Dyson	72 S.Cush	58 P.Cox
158 J.Holley	92 K.Tuite	72 R.Davison	58 T.Harvey
155 D.Givney	91 K.Humphreys	72 N.Whittingham	57 J.Bills
155 D.Holley	91 P.Weatherall	71 N.Howard	57 S.Hall
154 G.Barry	90 G.Coleman	70 B.Malbon	57 A.Northridge
154 B.Davison	87 G.Hilzinger	69 A.Griffiths	56 B.O'Dowd
150 A.Clark	87 A.Phillips	68 G.Bailey	56 P.Venn
150 M.D.O'Brien	84 T.Brennan	68 J.Clark	55 K.Symons
147 M.Ridge	84 G.Marston	68 K.Meadows	54 B.Pratt
145 M.Hughston	80 L.Fleming	68 C.Parsons	54 T.Woodhill
140 P.Jaques	80 G.Horner	67 A.Hilditch	53 E.Cotton
139 M.Duff	80 G.Kenny	67 K.Rynne	53 K.Hudson
136 D.Mann	78 D.Eaglesham	66 I.Everett	53 S.Newman
127 A.Craig	78 T.Iceton	65 P.Clark	52 R.Shepherd
126 J.Burnett	78 J.Zywietz	65 T.Freeburn	51 S.Manning
120 J.Packer	76 J.Dunbar	63 S.Pickering	51 Dylan Smith
109 G.Warry	76 B.Hard	62 D.Watson	50 Jamie Brown
106 C.Macnamara	76 L.Malin	61 B.Hazell	50 C.Dodd
100 A.Mann	76 Steven Smith	60 R.Archibald	50 P.Fisher
99 C.Williams	75 S.Boehm	60 S.Clark	50 C.Hockey
99 J.Young	75 C.Lake	60 N.Fitzgerald	50 D.McLauchlan
98 G.Murphy	75 M.Lumb	60 A.Fleming	50 L.Ritchie
96 M.Chapman	74 D.Celep	60 M.Probert	
±	1		

### **30 CATCHES IN ONE GRADE**

First Grade		Second Grade	
112 P.Jaques	48 B.O'Dowd	81 G.Barry	37 G.Coleman
111 Justin Kenny	45 B.Davison	66 M.Ridge	37 B.Davison
109 L.Dudman	41 G.Barry	61 D.Holley	36 A.Clark
108 M.D.O'Brien	40 M.Ridge	61 J.Packer	35 T.Freeburn
98 J.Young	39 S.Cush	60 D.Celep	35 N.Howard
85 J.Holley	37 L.Johns	50 J.Burnett	34 S.Pickering
83 M.Bradley	36 N.Fitzgerald	49 D.Givney	33 J.Holley
83 M.Hughston	36 Steven Smith	48 K.Tuite	31 I.Everett
78 A.Clark	35 C.Dodd	44 M.Bradley	31 G.Marston
67 M.Chapman	34 S.Clark	43 C.Williams	31 A.Northridge
63 J.Dyson	34 R.Davison	38 M.Carroll	31 R.Waddington
53 D.Mann	34 P.Weatherall	37 S.Boehm	•
51 G.Warry	31 A.Hilditch		
49 E.Cotton	30 M.Black		

Third Grade		Fourth Grade	Fifth Grade
79 M.Duff	45 G.Kenny	83 A.Craig	88 D.Givney
69 G.Murphy	40 A.Mann	52 T.Iceton	65 D.Eaglesham
67 A.Phillips	34 Bryan Dawson	45 C.Macnamara	57 S.Hall
52 B.Davison	34 D.Watson	40 S.Dawes	42 C.Christie
49 J.Zywietz	33 B.Hopkin	36 R.Barton	38 J.Dunbar
45 D.Holley	30 M.Condon	35 L.Casey	38 K.Rynne
45 K.Humphreys		34 J.Burnett	•

### 15 CATCHES IN AGE COMPETITIONS

### Poidevin-Gray Shield

oidevin-Gray ב--17 T.Brennan 16 M.D. 15 R.Davison 16 M.D.O'Brien 15 M.Hughston

### LIMITED OVERS RECORDS

(For matches played in First Grade Limited Overs competitions)

Highest Team Score	4/364 v. Blacktown	05-06
Highest Individual Score	155 * M.Hughston	05-06
Best Bowling Figures	8-29 B.Gorman	75-76
Highest Batting Aggregate	399 P.Jaques	09-10
Highest Bowling Aggregate	15 E.Cotton	69-70
Most Wicketkeeping Dismissals	17 D.Rixon	11-12
Most Catches by Fieldsman	8 L.Dudman	03-04
	8 M.D.O'Brien	04-05

# Partnerships

FIRST:	M.Bradley-M.Probert	185 v. North Sydney	01-02
SECOND:	P.Jaques-M.Hughston	232 v. Blacktown	05-06
THIRD:	P.Jaques-M.Bradley	177 * v. Fairfield-Liverpool	09-10
FOURTH:	J.Holley-J.Young	133 v. University of N.S.W.	02-03
FIFTH:	M.D.O'Brien-L.Dudman	152 v. Northern District	04-05
SIXTH:	M.Hughston-D.Rixon	103 v. Sydney University	14-15
SEVENTH:	D.Mann-E.Atkins	62 * v. St.George	92-93
EIGHTH:	S.Clark-D.McLauchlan	97 v. St.George	00-01
NINTH:	D.Tuffey-G.Roden	67 v. Western Suburbs	02-03
TENTH:	A.Clark-G.Warren	65 * v. Penrith	01-02

#### MOST MATCHES PLAYED

75 D.Rixon 69 L.Dudman 68 M.Hughston 64 M.Bradley 64 P.Jaques 64 M.D.O'Brien 52 N. Fitzgerald	52 J.Young 49 J.Holley 45 J.Tuccia 43 A.Clark 41 S.Cush 37 A.Fleming	26 S.Clark 24 M.Brown 23 D.McLauchlan 23 Steven Smith 21 L.Fleming 20 L.Ball 20 S.Duff	20 G.Roden 19 J.Packer 19 A.Zampa 18 N.Maddinson 17 M.Chapman 16 E.Atkins 16 Justin Kenny
52 N.Fitzgerald	27 D.Murphy	20 S.Duff	16 Justin Kenny
32 1 m 1025 0 m m	- · · · · · · · · · · · · · · · · · · ·		

#### MOST MATCHES CAPTAINED

28 M.Hughston	10 P.Jaques
20 J.Young	8 E.Atkins
15 S.Duff	7 J.Holley
11 M.D.O'Brien	7 I.Napper

# LIMITED OVERS RECORDS (cont'd)

### MOST RUNS SCORED

	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	64	63	4	144	2400	40.7
M.Hughston	68	67	9	155 *	2041	35.2
M.D.O'Brien	64	63	3	88	1918	32.0
M.Bradley	64	62	6	121	1741	31.1
J.Young	52	49	8	82 *	1426	34.8
L.Dudman	69	59	10	94 *	1422	29.0
S.Cush	41	37	4	149 *	1137	34.5
Steven Smith	23	22	3	134 *	937	49.3
J.Holley	49	44	4	90	859	21.5
A.Clark	43	33	7	79	686	26.4

#### MOST WICKETS TAKEN

	Matches	Overs	Maidens	Runs	Wickets	Average
N.Fitzgerald	52	391	58	1628	74	22.0
L.Dudman	69	426	24	1798	69	26.1
A.Fleming	37	279	32	1124	55	20.4
A.Clark	43	342	37	1406	53	26.5
J.Tuccia	45	357	25	1680	51	32.9
J.Holley	49	215	19	1002	45	22.3
S.Clark	26	212	29	698	41	17.0
D.McLauchlan	23	198	20	739	38	19.4
G.Roden	20	170	12	644	28	23.0
Steven Smith	23	178	3	821	28	29.3

### MOST WICKETKEEPING DISMISSALS

	Matches	Total	Catches	Stumpings
D.Rixon	75	111	81	30
L.Ball	20	28	27	1
S.Duff	20	28	22	6
R.Bain	11	27	21	6
E.Atkins	16	23	20	3
A.Campbell	7	21	21	0

#### MOST CATCHES

35 L.Dudman	22 J.Holley	14 A.Clark	12 A.Fleming
34 M.D.O'Brien	21 M.Hughston	13 M.Bradley	11 Steven Smith
26 P.Jaques	15 J.Young	12 N.Fitzgerald	10 S.Cush

# LIMITED OVERS RECORDS (cont'd)

### HIGHEST SCORES

M.Hughston S.Cush P.Jaques P.Jaques Steven Smith	155 * 149 * 144 136 134 *	05-06 08-09 05-06 09-10 09-10	C.Dodd M.D.O'Brien M.D.O'Brien A.Hilditch M.D.O'Brien	88 88 88 87 86	68-69 04-05 05-06 75-76 01-02	P.Jaques M.Probert M.Bradley L.Dudman M.D.O'Brien	77 * 77 * 77 * 77 * 76	99-00 01-02 09-10 11-12 97-98
P.Jaques	128	09-10	Steven Smith	86	07-08	P.Jaques	75 *	00-01
D.Murphy	125 *	07-08	B.Dwarshuis	86 *	12-13	J.Young	75 *	00-01
M.Bradley	121	01-02	G.Bailey	85	69-70	P.Jaques	75 *	03-04
P.Jaques	120	12-13	M.D.O'Brien	85	05-06	L.Dudman	74	04-05
M.Bradley	118	96-97	J.Leaning	85	13-14	S.Cush	74	12-13
P.Jaques	116	02-03	N.Maddinson	84	08-09	J.Henry	73	74-75
Justin Kenny	115	92-93	J.Young	82 *	03-04	P.Dugmore	73	05-06
M.Bradley	114 *	02-03	L.Dudman	81	06-07	S.Cush	73	11-12
P.Jaques	114 *	09-10	P.Jaques	81 *	09-10	P.Jaques	73	13-14
M.Powell	109 *	03-04	S.Cush	80	12-13 (QF)	D.McLauchlan	72	00-01
M.Hughston	100 *	06-07	A.Clark	79	95-96	M.D.O'Brien	72	01-02
G.Warry	98	73-74	Justin Kenny	79	97-98	M.Hughston	72	14-15
P.Jaques	98	99-00	J. Young	79	04-05	M.Bradley	71	00-01
Steven Smith	98	07-08	M.Hughston	79 *	14-15	M.Hughston	71 *	09-10
L.Dudman	94 *	05-06	Steven Smith	78	06-07	S.Cush	71	11-12
Steven Smith	91	05-06	M.Maclennan	78 *	08-09	C.Williams	71 *	14-15
J.Holley	90	02-03	S.Cush	78 *	12-13	P.Dugmore	70	05-06
M.Hughston	89 *	12-13	M.D.O'Brien	77	96-97	S.Cush	70	10-11

#### **BEST BOWLING FIGURES**

B.Gorman	8-29	75-76	Steven Smith	4-17	05-06	J.Holley	4-32	98-99
D.McLauchlan	6-27	99-00	T.Bresnan	4-20	05-06	P.Byrom	4-33	99-00
C.Belshaw	6-41	03-04	A.Clark	4-21	96-97	N.Fitzgerald	4-34	12-13
I.Napper	5-6	73-74	M.Brown	4-21	11-12	Steven Smith	4-38	08-09
J.Holley	5-8	99-00	H.Reus	4-23	73-74	N.Fitzgerald	4-39	14-15
G.Barron	5-21	93-94	G.Bailey	4-24	69-70 (F)	B.Stephen	4-41	69-70 (SF)
E.Cotton	5-23	69-70	E.Cotton	4-24	69-70	D.Tuffey	4-41	07-08
D.McLauchlan	5-28	08-09	A.Fleming	4-24	02-03	J.Leaning	4-41	13-14
A.Fleming	5-31	04-05	A.Clark	4-25	94-95	L.Ritchie	4-42	69-70
I.Napper	5-32	73-74	S.Clark	4-25	99-00	D.McLauchlan	4-44	99-00
A.Fleming	5-39	10-11	A.Zampa	4-25	12-13	J.Holley	4-45	94-95
A.Fleming	5-46	01-02	G.Barry	4-26	75-76	J.Tuccia	4-45	09-10
C.Belshaw	5-53	04-05	A.Adams	4-26	09-10 (F)	R.Every	4-46	67-68
K.White	4-5	11-12	J.Slattery	4-28	71-72	A.Clark	4-49	98-99
A.Fleming	4-10	02-03	Dylan Smith	4-29	14-15	N.Rowe	4-52	08-09
L.Dudman	4-13	03-04	G.Barron	4-30	93-94	L.Dudman	4-53	09-10
G.Bailey	4-16	72-73	J.Holley	4-31	95-96	N.Fitzgerald	4-58	05-06
E.Cotton	4-17	69-70 (F)	N.Rowe	4-31	07-08	S.Gilchrist	4-66	68-69

#### **TWENTY20 RECORDS**

(For matches played in First Grade Twenty20 competitions)

Highest Team Score	6/227 v. Randwick Petersham	08-09
Highest Individual Score	85 * Steven Smith	08-09
Best Bowling Figures	4-21 M.Brown	11-12
Highest Batting Aggregate	220 S.Cush	11-12
Highest Bowling Aggregate	9 T.Freeburn	08-09
	9 L.Talay	08-09
Most Wicketkeeping Dismissals	7 D.Rixon	08-09
Most Catches by Fieldsman	6 L.Dudman	12-13

### Partnerships

FIRST:	D.Murphy-M.Bradley	99	v. Randwick Petersham	08-09
SECOND:	M.Bradley-Steven Smith	121	v. North Sydney (Quarter-	final) 08-09
THIRD:	S.Cush-L.Dudman	79	v. Campbelltown-Camden	11-12
FOURTH:	S.Watson-Jamie Brown	46	v. St.George	14-15
FIFTH:	Steven Smith-J.Holley	61	* v. University of N.S.W.	08-09
SIXTH:	B.Dwarshuis-D.Rixon	56	v. University of N.S.W.	14-15
SEVENTH:	J.Brockley-Jamie Brown	105	v. Mosman	14-15
EIGHTH:	P.Jaques-D.Rixon	31	* v. Sydney University	09-10
NINTH:	D.Rixon-J.Tuccia	12	v. North Sydney	12-13
TENTH:	D.Rixon-N.Fitzgerald	36	* v. Penrith	10-11

#### MOST MATCHES PLAYED

28 D.Rixon	16 M.Hughston	12 D.Murphy	9 J.Tuccia
24 S.Cush	15 L.Dudman	11 B.Dwarshuis	7 T.Freeburn
22 N.Fitzgerald	12 J.Brockley	11 A.Zampa	7 J.Holley
18 M Brown	12 P Jaques	9 Jamie Brown	-

#### MOST MATCHES CAPTAINED

11 M.Hughston 5 Steven Smith 7 P.Jaques 4 N.Fitzgerald

#### MOST RUNS SCORED

	Matches	Innings	Not Out	H.Score	Runs	Average
S.Cush	24	23	2	73	590	28.1
P.Jaques	12	12	2	81 *	337	33.7
M.Brown	18	18	2	41	310	19.4
Steven Smith	7	7	2	85 *	278	55.6
D.Murphy	12	12	0	78	250	20.8
M.Hughston	16	15	1	63 *	250	17.9
L.Dudman	15	13	5	77 *	243	30.4
N.Maddinson	5	5	1	57	143	35.8
J.Holley	7	7	2	80	132	26.4
M.Bradley	6	6	0	56	121	20.2

# TWENTY20 RECORDS (cont'd)

#### MOST WICKETS TAKEN

	Matches	Overs	Maidens	Runs	Wickets	Average
N.Fitzgerald	22	77	1	499	21	23.8
L.Dudman	15	54	0	325	19	17.1
M.Brown	18	44	0	317	15	21.1
B.Dwarshuis	7	23	1	127	12	10.6
Jamie Brown	9	28	0	180	11	16.4
T.Freeburn	7	19	0	153	10	15.3
L.Talay	6	24	0	157	10	15.7
Steven Smith	6	23	0	178	9	19.8
A.Zampa	11	41	1	259	8	32.4

#### MOST WICKETKEEPING DISMISSALS

	Matches	Total	Catches	Stumpings
D.Rixon	28	29	17	12

#### **MOST CATCHES**

11 L.Dudman 8 M.Hughston	6 P.Jaques 5 B.Marciante 4 Jamie Brown	4 M.Brown 3 B.Dwarshuis 3 T.Freeburn	3 D.Murphy 3 L.Talay
6 S.Cush	4 Jamie Brown	3 T.Freeburn	

#### **HIGHEST SCORES**

Steven Smith P.Jaques J.Holley D.Murphy L.Dudman S.Cush S.Cush	85 * 81 * 80 78 77 * 73 72 *	09-10 08-09 08-09 11-12 11-12	S.Cush S.Cush S.Cush J.Brockley M.Hughston Steven Smith D.Rixon  BEST BOWL	71 70 67 65 63 * 61 * 58 *	14-15	N.Maddinson M.Bradley Steven Smith P.Jaques M.Hughston P.Jaques	57 56 55 55 54 50 *	09-10 08-09 (Q-F) 12-13 (Q-F) 13-14 10-11 12-13
B.Dwarshuis M.Brown T.Freeburn J.Brown N.Fitzgerald L.Dudman A.Fleming	4-14 4-21 4-22 3-9 3-14 3-15 3-17	13-14 11-12 08-09 12-13 (s-F) 12-13 10-11 09-10	N.Fitzgerald B.Dwarshuis L.Dudman J.Brown C.Gilmour N.Rowe L.Dudman	3-17 3-18 3-21 3-22 3-25 3-29 3-29	13-14 13-14 11-12 12-13 10-11 08-09 12-13	L.Talay N.Fitzgerald M.Brown T.Freeburn Steven Smith	3-29 3-29 3-37 3-44 3-48	08-09 12-13 (s-F) 11-12 08-09 08-09

#### YOUNGEST FIRST GRADE PLAYERS

Name	Debut	Age
Justin Kenny	18 December 1982	16 years 86 days
Steven Smith	19 November 2005	16 years 171 days
Graeme Marston	21 January 1968	16 years 178 days
Rodney Davison	29 December 1985	16 years 187 days
Devlin Malone	10 January 2015	16 years 237 days
Nic Maddinson	27 September 2008	16 years 281 days
Kyle Brockley	13 October 2012	16 years 288 days
Glen Bailey	12 November 1966	16 years 296 days
Ben Connell	20 October 1985	16 years 356 days

#### ITEMS OF STATISTICAL INTEREST

- Phil Weatherall has captained the Club in the most grades 6:
  1sts (4), 2nds (1), 3rds (1), 4ths (1), 5ths (1) and P-G (5) total 16.
  Barry Davison and Bryan Hazell both captained the Club in 5 grades.
  Barry captained in 1sts (8), 2nds (39), 3rds (49), 5ths (2) and P-G (5) total 103.
  Bryan captained in 1sts (7), 2nds (17), 3rds (25), 4ths (30) and 5ths (16) total 95.
- Rodney Davison has scored centuries in the most grades 6. He scored centuries in 1sts (8), 2nds (2), 3rds (1), 4ths (1), P-G (1) and AWG (1).
- Players who have scored the most centuries in each grade:

1st Grade – 22 Phil Jaques

2nd Grade – 6 Jason Holley & Kevin Tuite

3rd Grade – 4 Joel Burnett, Aaron Phillips & Phil Weatherall

4th Grade – 5 Geoff Coleman 5th Grade – 6 David Givney

Poidevin-Gray – 2 Matthew Hughston, Phil Jaques & Adam Whatley

A.W.Green – 3 Ken Hudson & Chris Lake

• Players who have scored the most centuries in a season:

Les Johns 4 1985-86 (1sts) Justin Kenny 4 1990-91 (1sts)

Matthew Bradley 4 1996-97 (L/O 1, 2nds 2, P-G 1)

Grant Davies 4 2005-06 (5ths 2, AWG 2)

Phil Jaques 4 2005-06 (1sts)

- Grahame Barry has taken five wickets in an innings in the most grades 7. He has taken five wickets in an innings in 1sts (8), 2nds (6), 3rds (2), 4ths (1), 5ths (1), P-G (1) and AWG (1).
- Players who have taken five wickets in an innings the most times in a season:

Anthony Hale 10 1986-87 (3rds 2, 4ths 4, AWG 4)

Anthony Hale 8 1985-86 (4ths 6, AWG 2)

Ted Rollinson 7 1969-70 (5ths) Jack Slattery 6 1970-71 (1sts)

CLUB	+	ALL GRAD	DES			1ST GRADE			2ND GRADE			3RD GRADE		
All Clubs	321	P.Jagues	1sts	06-07	321	P.Jagues	06-07	215	D.Murphy	09-10	199	J.Holley	92-93	201
Bankstown	208	P.Jaques	2nds	97-98	128	P.Jagues	09-10	208	P.Jagues	97-98	120	G.Fitzgerald	87-88	1
Blacktown	163	J.Packer	2nds	03-04	158	Steven Smith	08-09	163	J.Packer	03-04	117	S.Cush	06-07	90
Campbelltown	215	D.Murphy	2nds	09-10	141	J.Young	01-02	215	D.Murphy	09-10	132	T.Harvev	85-86	201
Eastern Subs	166	M.Hughston	1sts	09-10	166	M.Hughston	09-10	121	J.Steed	85-86	139	G.Marston	68-69	128
	166*	C.D'Arcy	AWG	13-14						+	-100	G.Maroton	100.00	120
Fairfield	149	R.Davison	1sts	95-96	149	R.Davison	95-96	115	A.Whatley	14-15	113	B.Johnson	79-80	145
Gordon	155	R.Davison	1sts	95-96	155	R.Davison	95-96	144*	A.Walsh	84-85	124*	A.Phillips	08-09	147
			:			-	+	144	M.O'Brien	99-00			+ 30 00	
Hawkesbury	212*	M.Bradley	1sts	99-00	212*	M.Bradley	99-00	132	K.Humphreys	90-91	137	J.Rafique	05-06	151
Manly	173	J.Holley	2nds	09-10	131*	M.Hughston	08-09	173	J.Holley	09-10	164	G.Davies	11-12	100
Mosman	174	M.Bradley	5ths	10-11	134*	Steven Smith	09-10	150*	G.Horner	87-88	127*	L.Dudman	08-09	164
North Sydney	321	P.Jaques	1sts	06-07	321	P.Jaques	06-07	161	B.Roach	03-04	173	P.Weatherall	83-84	165
Nthn District	172	J.Rafique	4ths	08-09	128	D.Mitchell	95-96	151	J.Brocklev	09-10	138*	B.Kirby	91-92	172
Parramatta	199	J.Holley	3rds	92-93	183*	P.Jagues	06-07	125	P.Lynam	01-02	199	J.Holley	92-93	179
Penrith	225	N.Maddinson	1sts	11-12	225	N.Madinson	11-12	183	J.Holley	97-98	123	W.Cary	95-96	111
Petersham	158*	K.Hudson	AWG	75-76	143	J.Young	96-97	109	K.Symons	68-69	107	C.Maggs	81-82	114
Randwick	166	D.Mitchell	1sts	94-95	166	D.Mitchell	94-95	121*	K.Tuite	86-87	111*	G.Horner	86-87	86
Rand Petes	162*	M.Hughston	2nds	02-03	136	Steven Smith	07-08	162*	M.Hughston	02-03	93	J.Burnett	02-03	80
St.George	168	N.O'Neill	1sts	65-66	168	N.O'Neill	65-66	164	S.Pickering	07-08	110	A.Clark	86-87	142'
Sydney	126*	L.Ritchie	3rds	67-68	123	N.O'Neill	67-68	92*	M.Ridge	80-81	126*	L.Ritchie	67-68	120
		-	1		123*	P.Clark	81-82						T	
Sydney (ex-	165	T.Harvey	5ths	84-85	134	Steven Smith	07-08	162	D.Givney	87-88	132	T.Harvey	87-88	1301
			1			ĺ		-					+	
Balmain)		M.Hughston	1sts	09-10	184	M.Hughston	09-10	144*	L.Dudman	08-09	114	B.Johnson	87-88	103
Balmain) Sydney Uni	184			06-07	134	J.Kenny	90-91	158	D.Murphy	06-07	141	M.Carroll	01-02	105
	184 158	D.Murphy	2nds	00-07					i.					

CLUB	ALL GRADES					1ST GRADE			2ND GRADE			3RD GRADE		
All Clubs	9-19	P.Lennon	4ths	65-66	9-24	E.Cotton	68-69	8-10	J.Philip	66-67	9.45	P.McCann	70-71	9-19
Bankstown		A.Kay	3rds	68-69		G.Roden	04-05		A.Clark	00-01		A.Kav	68-69	7-16
Blacktown		J.Packer	3rds	06-07		A.Fleming	04-05		S.Pickering	05-06		J.Packer	06-07	5-22
Campbelltown		S.Dawes	5ths	09-10		G.Roden	04-05		J.Zywietz	06-07		A.Hale	86-87	6-34
Eastern Subs	7-13	S.Woodlev	AWG			J.Slattery	70-71		A.Clark	02-03		R.Archibald	88-89	7-36
Fairfield		G.McBarron	3rds	81-82		S.Clark	96-97		D.Celep	02-03		G.McBarron	81-82	8-66
Gordon	9-24	E.Cotton	1sts	68-69	9-24	E.Cotton	68-69	7-36	H.Reus	79-80	8-40	S.Manning	99-00	7-44
Hawkesbury	7-38	C.Haran	5ths	91-92	6-22	S.Manning	02-03	6-35	J.Bills	12-13	6-14	G.Barron	88-89	7-41
Manly	8-6	M.Abbott	5ths	70-71	6-27	M.Gardner	83-84	8-16	P.McCann	69-70	7-75	S.McGrath	04-05	6-17
Mosman	9-32	M.Brennan	4ths	88-89	7-52	G.Roden	03-04	8-58	D.Russell	74-75	7-36	J.Bills	10-11	9-32
North Sydney	9-45	P.McCann	3rds	70-71	7-47	G.McGrath	93-94	7-15	I.Napper	71-72	9-45	P.McCann	70-71	7-78
Nthn District	8-26	M.Black	3rds	72-73	6-43	M.Chapman	93-94	6-62	A.Clark	01-02	8-26	M.Black	72-73	8-42
Parramatta	9-19	P.Lennon	4ths	65-66	7-39	E.Cotton	68-69	8-54	P.McCann	68-69	8-86	M.McDonald	75-76	9-19
Penrith	8-25	S.Woodley	5ths	85-86	7-29	M.Black	74-75	7-68	D.Russell	75-76	8-74	K.Meadows	89-90	7-20
Petersham	8-32	B.Gorman	2nds	70-71	7-77	E.Cotton	66-67	8-32	B.Gorman	70-71	8-42	B.Booker	76-77	7-46
Randwick	9-66	J.Slattery	1sts	70-71	9-66	J.Slattery	70-71	7-63	M.Black	74-75	6-37	S.Edmonds	70-71	8-38
Rand Petes	7-32	P.Burns	3rds	13-14	6-19	T.Freeburn	04-05	6-23	A.Fleming	07-08	7-32	P.Burns	13-14	5-26
St.George	8-42	C.Streater	5ths	07-08	6-63	B.Guthrie	96-97	7-70	J.Philip	65-66	6-19	C.Gilmour	06-07	8-54
Sydney	9-82	G.Barry	1sts	81-82	9-82	G.Barry	81-82	8-10	J.Philip	66-67	6-65	P.Mullane	80-81	6-34
Sydney (ex-	9-102	N.Fitzgerald	1sts	14-15	9-102	N.Fitzgerald	14-15	7-61	M.Wood	86-87	5-16	M.Black	72-73	8-25
Balmain)			-			<u>-</u>						+		- : <u>-:</u>
Sydney Uni	8-27	C.Christie	5ths	80-81	7-41	A.Clark	93-94	7-33	A.Clark	87-88	7-27	D.Lawrence	65-66	6-12
Uni of NSW	8-3	C.Harvey	5ths	83-84	6-68	D.McLauchlan	97-98	6-51	K.Williams	79-80	6-26	E.Nix	76-77	6-12 7-32
Western Subs	7-20	L.Fleming	1sts	06-07	7-20	L.Fleming	06-07		l.Napper	72-73		B.Hazell	67-68	7-33

4TH GRADE			5TH GRADE		POII	DEVIN-GRAY SI	HIELD	A.	W.GREEN SHIE	LD		LIMITED OVER	S
T.Brennan	92-93	174	M.Bradley	10-11	170*	P.Jaques	99-00		C.D'Arcy	13-14	155*	M.Hughston	05-0
G.Coleman	86-87	121	G.Davies	05-06	150	J.Holley	93-94	113*	T.Cadden	93-94	128	P.Jaques	09-1
R.Chivers	06-07	71	K.Wilmott	06-07	71	B.Dwarshuis	13-14	116	M.Rice	07-08	155*	M.Hughston	05-0
T.Brennan	92-93	164	K.Wilmott	06-07	86*	P.Jaques	99-00	103*	C.Lake	94-95	54	M.Bradley	95-9
K.Humphreys	77-78	127	T.Owsnett	98-99	110	M.O'Brien	94-95	166*	C.D'Arcy	13-14	84	N.Maddinson	08-0
Dylan Smith	14-15	134	D.Givney	01-02	76	M.Probert	99-00	83*	J.Sheehy	91-92	77*	P.Jaques	99-0
M.Duff	87-88	150	R.Chivers	04-05	108*	B.Handley	74-75	89*	J.Horner	13-14	86	M.O'Brien	01-0
R.Fenech	97-98	134	D.Wallace	90-91	91	M.Probert	00-01	141	S.Pickering	02-03	115	J.Kenny	92-9
M.Elliott	02-03	117	P.Venn	70-71	107*	A.Whatley	14-15	117	J.Horner	13-14	125*	D.Murphy	07-0
M.Rice	10-11	174	M.Bradiey	10-11	96*	B.Dwarshuis	12-13	92	C.McCarron	01-02	134*	Steven Smith	09-1
•			1				1 -	92	M.Rice	07-08		İ	
S.McInnes	07-08	122	J.Wagner	75-76	109	J.Brockley	11-12	98	Shayne Smith	09-10	121	M.Bradley	01-0
					109	Jamie Brown	14-15						
J.Rafique	08-09	158*	J.Clark	84-85	105	M.Hughston	04-05	123	T.Doyle	12-13	88	M.O'Brien	04-0
T.Iceton	84-85	158	J.Zywietz	06-07	93	A.Fleming	02-03	140	I.Everett	71-72	91	Steven Smith	05-0
D.Studholme	05-06	129	D.Howard	97-98	85	M.Hughston	01-02	151*	K.Hudson	74-75	100*	M.Hughston	06-0
G.Coleman	68-69	95	A.Craig	87-88	96	P.Jaques	97-98	158*	K.Hudson	75-76	67	R.Davison	95-9
T.Brennan	89-90	105	D.Givney	95-96	111	C.Dodd	67-68	137*	M.Probert	94-95	85	G.Bailey	69-7
M.Elliott	04-05	142	G.Richards	07-08	87*	B.Dwarshuis	12-13	59	J.Rafique	01-02	72	M.O'Brien	01-0
L.Dudman	99-00	125	M.Chapman	81-82	113	A.Hilditch	74-75	110	I.Stephen	69-70	149*	S.Cush	08-0
G.Hilzinger	70-71	25	R.Jordan	69-70	55	R.Every	65-66		Never Played		34*	L.Ritchie	69-7
	l		G.McCaughan	69-70			.,						
M.Thompson	70-71	165	T.Harvey	84-85	92*	J.Kenny	85-86	140	Shayne Smith	09-10	98	G.Warry	73-7
A.El-Daher	12-13	140	N.Bettiss	02-03	70*	M.Heslehurst	00-01	52	A.Whatley	08-09	86	Steven Smith	07-0
J.Prendergast	78-79	134*	A.Quinn	83-84	128	P.Weatherall	87-88	105*	L.Dudman	98-99	90	J.Holley	02-0
G.Kenny	93-94	166*	S.Duff	04-05	170*	P.Jaques	99-00	116	B.Handley	73-74	94	L.Dudman	05-0
	<del></del>	_	i									<u> </u>	<u> </u>

4TH GRADE			5TH GRADE		POID	EVIN-GRAY S	HIELD	Α.	W.GREEN SHIE	LD	l	IMITED OVER	S
P.Lennon	65-66	9-43	G.Geraghty	89-90	7-31	G.Barry	74-75	7-13	S.Woodley	81-82	8-29	B.Gorman	75-76
B.Hazell	66-67		K.Meadows	88-89		G.Barry	74-75		A.Hale	86-87	5-8		99-00
D.Crawford	06-07	5-18	J.McKinley	08-09	5-12	L.Talay	09-10	5-15	J.Horner	12-13	4-24	A.Fleming	02-03
A.Northridge	94-95	8-51	S.Dawes	09-10	4-23	T.Bresnan	05-06	5-14	C.Lucas	92-93	4-10	A.Fleming	02-03
D.Lawrence	67-68	7-26	D.Eaglesham	01-02	7-42	K.Meadows	82-83	7-13	S.Woodley	81-82	5-6	I.Napper	73-74
M.Brennan	88-89	6-51	K.Meadows	88-89	6-27	P.Byrom	98-99	6-68	A.Hale	86-87		D.McLauchlan	99-00
		6-51	D.Eaglesham	93-94				-	!				<del></del>
G.Glover	68-69		G.Geraghty	89-90	5-33	B.Dawson	73-74	6-52	A.Hale	85-86	5-53	C.Belshaw	04-05
K.Meadows	86-87	7-38	C.Haran	91-92	5-29	C.Parsons	89-90	5-13	Steven Smith	03-04	6-41	C.Belshaw	03-04
R.Longbottom	65-66	8-6	M.Abbott	70-71	5-37	Jamie Brown	14-15	3-15	M.Earley	03-04	4-17	E.Cotton	69-70
M.Brennan	88-89	8-41	P.Mackey	73-74	4-18	J.Tuccia	04-05	4-36	D.Smith	07-08	4-32	J.Holley	98-99
G.Chudleigh	80-81	8-30	M.Carroli	89-90	5-18	N.Rosser	01-02	4-8	A.Davis	04-05	4-45	J.Holley	94-95
John Kenny	82-83	6-36	J.Dunbar	95-96	6-53	D.Mann	88-89	5-13	M.Marien	70-71	5-31	A.Fleming	04-05
P.Lennon	65-66	7-38	J.Harris	77-78	4-9	G.Bailey	70-71	6-17	B.Handley	73-74	8-29	B.Gorman	75-76
M.McDonald	73-74	8-25	S.Woodley	85-86	4-16	B.Handley	75-76	7-23	B.Booker	75-76	5-21	G.Barron	93-94
H.Reus	70-71	5-8	W.Schofield	92-93	7-36	C.Lucas	97-98	6-9	P.Aasa	70-71	6-27	D.McLauchlan	99-00
G.Barry	74-75	8-72	S.McGrath	97-98	7-76	R.Archibald	82-83	7-32	M.McCool	77-78	4-24	E.Cotton	69-70
D.Nelson	04-05	4-21	S.Dawes	07-08	4-32	J.Zywietz	06-07	6-32	M.Smith	01-02	5-46	A.Fleming	01-02
R.Richardson	75-76	8-42	C.Streater	07-08	6-74	M.McCool	80-81	6-31	S.Milliken	13-14	5-28	D.McLauchlan	08-09
C.Russell	70-71	7-53	E.Rollinson	69-70	4-31	M.Gardner	83-84		Never Played	·	5-23	E.Cotton	69-70
G.Murphy	67-68	8-17	J.Rafique	02-03	4-9	N.Brookes	88-89	4-19	M.Hughston	99-00	4-25	A.Clark	94-95
D.Lawrence	66-67	8-27	C.Christie	80-81	4-10	M.Gardner	80-81	5-12	Steven Smith	04-05	4-5	K.White	11-12
F.Timbrell	74-75												
S.McGrath	98-99	8-3	C.Harvey	83-84	6-25	M.Carroll	92-93	3-2	S.Pickering	02-03	3-28	G.Warren	02-03
S.Gilchrist	66-67	6-30	K.Meadows	96-97	5-45	C.Parsons	90-91	7-25	P.Mullane	72-73	4-58	N.Fitzgerald	05-06

# CURRENT GRADE PLAYERS - CAREER RECORDS WITH S.D.C.C.

	Matches	Innings	Not Out	H.Score	Runs	Average	W/K	ى خ	Catches	Overs	Maidens	Runs	Wickets	Average
Joel Almond	45	34	4 4	63	435	14.5	}	,	6	322	52	1018	57	17.9
Kyan Almond Mark Anderson	2 6	) S	<b>4</b> —	84 84	476	17.0	38	7	74	744 4	<del>(</del> <del>1</del>	0671	, ,	0.47
James Arnold	38	36	. 2	. 09	714	21.0	) )		10	120	30	313	20	15.7
Riley Ayre	39	32	10	31 *	372	16.9			13	399	63	1467	37	39.6
James Bills	161	118	16	* 801	1659	16.8			57	1799	410	5439	268	20.3
Joel Brockley	155	151	<b>∞</b>	151	4481	31.3	141	34	91					
Kyle Brockley	36	25	<b>∞</b>	34	233	13.7			6	284	41	1054	51	20.7
Jamie Brown	117	100	17	122 *	2601	31.3			20	674	124	2259	116	19.5
Jayden Brown	13	12	9	26	94	15.7			4	118	21	454	22	20.6
Kurt Brown	124	125	17	123	2518	23.3			38	144	24	451	18	25.1
Mitch Brown	84	85	7	129 *	2167	27.8			18	558	72	2208	9/	29.1
Matthew Burg	83	9/	13	176 *	1199	19.0			31	577	62	1946	72	27.0
Joel Burnett	253	257	40	123	6009	28.0			126	53	∞	194	5	38.8
Patrick Burns	9/	47	16	37	178	5.7			20	818	172	2618	137	19.1
Liam Casey	158	162	1	145 *	3605	23.9	_	0	73	409	82	1379	20	27.6
Alex Clegg	15	15	4	43	193	17.5			9	104	25	280	12	23.3
Stephen Cush	225	235	16	149 *	6463	29.5			72	147	18	618	16	38.6
Colin D'Arcy	38	38	4	691	882	25.9	18	0	4	43	9	148	9	24.7
Rory Darkins	13	=	2	36 *	126	21.0			7	107	6	418	13	32.2
Grant Davies	106	103	11	164	3042	33.1			32	129	29	416	29	14.3
Scott Dawes	155	123	31	80	1527	16.6			62	1787	468	4993	252	19.8
Tom Doyle	63	<i>L</i> 9	2	123	1819	29.3			21	28	7	114	7	16.3
Pat Driscoll	31	21	10	16	9/	6.9			7	566	09	774	44	17.6
Brendan Drury	20	43	5	901	069	18.2	0	_	6	259	40	096	26	17.1
Ben Dwarshuis	124	115	25	162	2881	32.0			29	754	139	2356	105	22.4
Angus Fallins	14	Ξ	4	* 65	167	23.9			_	125	23	429	20	21.5
Daniel Fallins	9/	53	18	51 *	278	16.5			33	682	55	3087	105	29.4
Nathan Fitzgerald	217	127	62	36 *	267	8.7			09	2759	265	8831	412	21.4
Adan Fleming	180	154	32	* 601	2811	23.0			09	1589	338	4875	270	18.1
Will Fraine	15	16	_	38	280	18.7			=					
David Givney	527	552	62	162	12559	25.6	09	23	155	106	15	492	26	18.9
Hunter Gregory	13	14	7	36	154	12.8			14	10	_	09	0	1
Josh Horner	59	52	7	117	1148	25.5			23	210	38	298	36	9.91
James Hoy	28	20	4	51	242	15.1			7	130	17	512	12	42.7
Matthew Hughston	308	324	33	184	9629	33.1		,	145	444	25	1749	53	33.0
Mitchell Johnson	22	22	0	57	270	12.3	17	9						

# CURRENT GRADE PLAYERS - CAREER RECORDS WITH S.D.C.C.

Average	25.1	28.3	19.8	1	19.0	21.4	22.4		16.4	20.5	6.61	26.5	12.0		26.8	58.0	19.5	21.0	33.6	24.9	20.8	27.0	1	48.0	23.2	18.6	•	134.0	23.0	28.9	27.3	22.9	21.6	18.7		22.8
Wickets	20	28	54	0	61	398	47		71	34	125	80	5		2	7	100	91	62	188	145	12	0	7	109	217	0	_	432	86	265	38	39	10		238
Runs	502	1639	1068	28	1156	8524	1054		1164	969	2482	2122	09		134	911	1951	1913	2081	4676	3014	324	9	336	2526	4029	17	134	9952	2831	7240	870	844	187		5429
Maidens	35	106	43	_	65	9//	42		69	32	136	83	3		7	9	117	118	81	149	153	91	0	2	132	255	_	6	647	108	505	9	53	12		234
Overs	156	533	298	∞	353	3121	280		383	206	757	260	14		23	35	622	549	288	1150	888	92	_	72	758	1313	7	34	3248	725	2401	277	207	99		1537
Catches	15	10	23	12	18	106	30	12	15	9	63	4	5	7	32	12	27	51	45	9/	23	5	4	10	91	36	7	3	91	39	72	7	66	_	7	78
ð	<b>.</b>			14				9					92	34																						
W/K	j			138				27					381	95																						
Average	25.9	13.6	28.7	18.5	7.1	16.8	22.0	24.1	15.1	4.9	25.6	12.7	21.2	28.8	30.3	21.7	16.9	25.8	32.0	44.1	20.1	15.5	15.9	29.6	20.8	15.8	24.3	15.7	28.1	23.1	14.3	7.3	27.5	•	22.2	22.2
Runs	1063	272	1063	2219	184	2667	1254	1107	318	49	3739	241	3705	1903	1574	265	778	2682	2948	4983	984	233	207	591	266	993	26	314	7823	3030	1227	95	5939	10	355	3194
H.Score	138 *	35 *	98	124	* 91	* 001	102 *	105 *	11	76	164	32	95	92	147	71 *	* 59	145	142	* [7]	72 *	75	20	134 *	143	* 09	37	47	173 *	115	28	30 *	121 *	* ∞	93	158
Not Out	3	17	9	21	14	37	4	9	7	7	15	91	47	17	3	9	12	21	81	12	28	_	0	_	12	25	0	0	99	7	41	9	28	2	0	27
Innings	44	37	43	141	40	196	19	52	28	12	191	35	222	83	55	32	28	125	110	125	11	16	13	21	09	88	4	20	334	138	127	61	244	2	16	171
Matches	43	56	43	157	46	245	62	58	36	25	160	61	260	88	54	35	80	143	119	123	104	17	12	20	83	130	4	20	324	150	195	35	237	8	15	193
	Sibghat Khan	Steve Kourouche	Jack Leaning	Nathan Loder	Dylan Lowy	Chris Macnamara	Lachlan Maddinson	Ryan Maguire	Devlin Malone	Steven Milliken	Scott Pickering	Tom Pinson	Daniel Rixon	Jonathan Rose	Peter Saroukos	Oliver Selby	Nick Sharman	Dylan Smith	Shayne Smith	Steven Smith	Trent Smith	Ryan Thomson	Shaun Thornton	Will Vandermaal	Alex Watkiss	Hayden Watson	Shane Watson	Callum Weatherall	Phil Weatherall	Adam Whatley	Nathan Whittingham	Ben Williams	Chris Williams	Jordan Wilson	Matt Wright	Joshua Zywietz

# REPRESENTATIVE HONOURS

	REI RESENTA	TIVE HONOURS	
Australia - Test M	latches in Australia	Australia - Test M	latches Overseas
v. <i>Bangladesh</i> Glenn McGrath	2003	<i>in Bangladesh</i> Phil Jaques	2006
v.England Andrew Hilditch Glenn McGrath	1978-79 1994-95, 1998-99, 2002-03, 2006-07	in England Glenn McGrath Steve Smith Shane Watson	1997, 2001, 2005 2010 (v. Pakistan), 2013 2010 (v. Pakistan), 2013
Steve Smith Shane Watson	2010-11, 2013-14 2010-11, 2013-14	in India	
v.ICC World XI Glenn McGrath	2005-06	Andrew Hilditch Glenn McGrath Steve Smith Shane Watson	1979 1996, 2001, 2004 2013 2010, 2013
v.India Glenn McGrath Phil Jaques Steve Smith Shane Watson	1999-00 2007-08 2014-15 2014-15	in New Zealand Glenn McGrath Shane Watson	1999-00, 2004-05 2009-10
v.New Zealand Glenn McGrath	1993-94, 1997-98, 2001-02,	in Pakistan Glenn McGrath	1994, 1998
v. <i>Pakistan</i> Andrew Hilditch	2004-05 1978-79	in Sharjah Glenn McGrath Steve Smith	2002 (v. Pakistan) 2014 (v. Pakistan)
Glenn McGrath Shane Watson	1995-96, 1999-00, 2004-05 2009-10	in South Africa Glenn McGrath	1993-94, 1996-97, 2001-02 2013-14
v. <i>South Africa</i> Glenn McGrath	1993-94, 1997-98, 2001-02,		2013-14
Phil Jaques Shane Watson	2005-06 2005-06 2012-13	<i>in Sri Lanka</i> Glenn McGrath	1999, 2002 (v. Pakistan)
v.Sri Lanka Glenn McGrath Phil Jaques Shane Watson	1995-96, 2004 2007-08 2012-13	in West Indies Glenn McGrath Phil Jaques Steve Smith Shane Watson	1995, 1999, 2003 2008 2015 2012, 2015
v. West Indies Steve Rixon Glenn McGrath Shane Watson	1984-85 1996-97, 2000-01, 2005-06 2009-10	<i>in Zimbabwe</i> Glenn McGrath	1999
Australia - Overse	as Tours		
to Bangladesh Phil Jaques Steve Smith Shane Watson	2006 2011 2011, 2014 (World T20)	to England (cont'd) Steve Smith Shane Watson	2010, 2012, 2013, 2015 2010, 2012, 2013, 2015
to Dubai Steve Smith Shane Watson	2014 2012	to India Andrew Hilditch Glenn McGrath	1979 1996, 2001, 2004, 2006 (ICC Trophy)
to England Andrew Hilditch Steve Rixon Glenn McGrath	1979 (World Cup) 1981 1997, 1999 (World Cup), 2001, 2004 (ICC Trophy), 2005	Phil Jaques Shane Watson Steve Smith Nic Maddinson	2008 2009, 2010, 2013, 2014 2010, 2013 2014 (T20)

# REPRESENTATIVE HONOURS (cont'd)

# Australia - Overseas Tours (cont'd)

Phil Jaques

2000

Australia - Overse	as rours (cont u)		
to India, Pakistan & Glenn McGrath Steve Smith Shane Watson	& Sri Lanka 1996 (World Cup) 2011 (World Cup) 2011 (World Cup)	to South Africa Glenn McGrath  Phil Jaques Steve Smith	1993-94, 1996-97, 1999-00, 2001-02, 2002-03 (World Cup) 2005-06 2011-12, 2013-14
to Kenya Glenn McGrath	2000 (ICC Trophy), 2002	Shane Watson	2009 (ICC Trophy), 2011-12, 2013-14
to Malaysia		to Sri Lanka	
Phil Jaques	2006	Steve Rixon	1981
Glenn McGrath	2006	Glenn McGrath	1994, 1996, 1999, 2002 (ICC Trophy)
to New Zealand		Shane Watson	2012 (World T20)
Norm O'Neill	1966-67		
Glenn McGrath	1994-95, 1999-00, 2004-05,	to Sri Lanka & Sha	rjah
	2006-07	Glenn McGrath	2002 (v.Pakistan)
Phil Jaques	2006-07		
Steve Smith	2009-10	to West Indies	
Shane Watson	2009-10	Glenn McGrath	1995, 1999, 2003,
to Pakistan		Dhil Ioguas	2007 (World Cup)
Glenn McGrath	1994, 1998	Phil Jaques Steve Smith	2008 2010 (World T20), 2015
Glenn MeGrani	1994, 1996	Shane Watson	2010 (World T20), 2013 2010 (World T20), 2012, 2015
to Sharjah		Shalle Watson	2010 (World 120), 2012, 2013
Steve Rixon	1985	to Zimbabwe	
Glenn McGrath	1994	Glenn McGrath	1999, 2004
			,
Australia A - in Au		0, , 01, 1	2002.02
v. England (First C	lass)	Stuart Clark	2002-03
v. New Zealand (F	iret Class)	Steve Smith Nic Maddinson	2010-11 2011-12
v. rve v Zealana (1	not Class)	Steve Smith	2011-12
v. New Zealand (0	One Day Matches)	Stuart Clark	2001-02
v. Pakistan A & Ir	ndia A (First Class)	Phil Jaques	2006
v. South Africa (F	irst Class)	Steve Smith	2012-13
v. South Africa (O		Stuart Clark	2001-02
v. South Africa A	(1st Class + ODM)	Stuart Clark	2002-03
Australia A - Over	sage Tours		
to England (First Class		Nic Maddinson	2013
	-,	Steve Smith	2012, 2013
to Pakistan (First Clas	ss + ODM)	Phil Jaques	2005, 2007
to South Africa (Firs	t Class)	Nic Maddinson	2013
to South Africa (One		Stuart Clark	2002
to Zimbabwe (One D	ay Matches)	Nic Maddinson	2011
Prime Minister's X	T		
v. England		Matthew Bradley	2002-03
T. England		Phil Jaques	2006-07
v. India		Matthew Bradley	2003-04
v. New Zealand		Stuart Clark	2001-02
v. West Indies		Phil Jaques	2005-06
Australian Institut	e of Sport Cricket Academy/Ce	ntro of Evanllance	
Darrell Mann	e of Sport Cricket Academy/Ce 1989	Adam Fleming	2002
Glenn McGrath	1992, 1993	Steve Smith	2008, 2009
Stuart Clark	1995	Nic Maddinson	2010, 2011, 2012
Daniel McLauchlan	1997	Adam Zampa	2011
D1 '1 I	2000		

# REPRESENTATIVE HONOURS (cont'd)

			,
	te of Sport Cricket Academy -		
to India		Glenn McGrath	1993
		Steve Smith	2007, 2009
to South Africa		Glenn McGrath	1991-92
Australia Under 1	Q		
Rodney Davison	1987-88	Adam Fleming	2001-02
Darrell Mann	1988-89	David Murphy	2006-07
Darrell Mann	1989-90	Steve Smith	2007-08
Matthew Bradley	1995-96	Nic Maddinson	2008-09, 2009-10
Daniel McLauchlan		Riley Ayre	2014-15
Paul Byrom	1999	Kiley Ayle	2014-13
•			
	7 Development Squad		
Darrell Mann	1986-87, 1987-88	Daniel Godkin	1995-96
Matthew Bradley	1993-94		
N C - 41, XV 1			
New South Wales Norm O'Neill	1005 00 1000 07		
	1965-66, 1966-67	0.00	
John Dyson Andrew Hilditch	1975-76, 1976-77, 1988-89, 198		
	1976-77, 1977-78, 1978-79, 197	9-80, 1980-81	
Andy Roberts	1976-77	2 02 1002 04 1004 0	.5. 1005.00
Steve Rixon Len Pascoe	1979-80, 1980-81, 1981-82, 198	2-83, 1983-84, 1984-8	35, 1987-88
Justin Kenny	1982-83		
Glenn McGrath	1988-89, 1990-91	5.06.1006.07.1007.0	
Gleilli McGiatii	1992-93, 1993-94, 1994-95, 199		
Rodney Davison	2001-02, 2002-03, 2003-04, 200	4-05, 2005-06, 2006-0	17
Stuart Clark	1995-96, 1996-97	0.01.2001.02.2002.0	2 2002 04
Brad Guthrie	1997-98, 1998-99, 1999-00, 200	0-01, 2001-02, 2002-0	03, 2003-04
Phil Jaques	1997-98	4.05.2005.07.2007.0	7 2007 09 2009 00 2000 10
riii Jaques	2000-01, 2001-02, 2003-04, 200 2010-11, 2011-12	4-05, 2005-06, 2006-0	77, 2007-08, 2008-09, 2009-10,
Steve Smith	-	0 11 2011 12 2012 1	2 2012 14
Nic Maddinson	2007-08, 2008-09, 2009-10, 201 2010-11, 2011-12, 2012-13, 201		3, 2013-14
Shane Watson	2010-11, 2011-12, 2012-13, 201		
Adam Zampa	2012-13	4-13	
Adam Zampa	2012-13		
New South Wales 2	2nd XI		
Paul Clark	1983-84, 1984-85	Daniel Godkin	1998-99
Mark Chapman	1986-87	Phil Jaques	1999-00, 2001-02, 2002-03,
Rodney Davison	1988-89, 1989-90, 1990-91,		2003-04, 2009-10, 2010-11,
T 4' TZ	1995-96, 1996-97		2011-12
Justin Kenny	1988-89, 1989-90, 1990-91,	Paul Sutherland	1999-00
Glenn McGrath	1991-92	Adam Fleming	2002-03, 2010-11, 2011-12
Stuart MacGill	1991-92, 2003-04 1995-96	Grant Roden Luke Dudman	2004-05
Stuart Wacom Stuart Clark	1996-97, 1997-98, 1999-00,	Steve Smith	2005-06, 2006-07 2006-07, 2007-08
Staurt Clark	2000-01, 2003-04	Nic Maddinson	2008-09, 2009-10, 2010-11
Brad Guthrie	1996-97, 1997-98	Stephen Cush	2010-11
Jason Young	1996-97	Matthew Hughston	2010-11, 2011-12
Paul Byrom	1998-99, 1999-00	Adam Zampa	2010-11, 2011-12, 2012-13
MT C	n	•	-
	Futures League (Under 23)	A .1 77	2010 11 2011 12 2012 12
Nic Maddinson	2009-10, 2010-11, 2011-12,	Adam Zampa	2010-11, 2011-12, 2012-13
Stephen Cush	2012-13 2010-11, 2011-12, 2012-13	Phil Jaques Ben Dwarshuis	2011-12
Matthew Hughston	2010-11, 2011-12, 2012-13	Dell Dwarshins	2013-14, 2014-15
	-0.0 11		

# REPRESENTATIVE HONOURS (cont'd)

#### **New South Wales Colts**

11011 800000	COLO		
Mike Coleman	1966-67	Matthew D.O'Brien	1995-96
Colin Dodd	1967-68, 1968-69, 1971-72	Matthew Bradley	1995-96, 1996-97, 1997-98
Robert Thomas	1969-70	Daniel McLauchlan	1997-98, 1998-99
John Dyson	1974-75, 1976-77	Paul Byrom	1998-99, 1999-00
Andrew Hilditch	1976-77, 1977-78	Daniel Godkin	1998-99
Mark Preddey	1979-80	Phil Jaques	1998-99, 1999-00, 2001-02
Paul Clark	1982-83, 1983-84	Paul Sutherland	1998-99
Mark Gardner	1984-85	Matthew Probert	2000-01
Justin Kenny	1986-87, 1988-89	Adam Fleming	2002-03, 2003-04, 2004-05
Mark Chapman	1986-87, 1987-88	Grant Roden	2002-03
Rodney Davison	1988-89, 1989-90, 1990-91	Tim Freeburn	2004-05
Stuart Clark	1994-95, 1995-96	Daniel Rixon	2006-07

#### **New South Wales Under 19**

Justin Kenny 1982-83, 1983-84, 1984-85; Steve Funnell 1984-85; David Niu 1984-85; Kevin Tuite 1984-85; Phil Weatherall 1985-86; Nigel Brookes 1986-87; Rodney Davison 1986-87, 1987-88; Darrell Mann 1988-89, 1989-90; Jason Holley 1993-94, 1994-95; Matthew Bradley 1995-95; Phil Jaques 1996-97; Daniel McLauchlan 1996-97; Daniel Godkin 1997-98; Paul Byrom 1998-99; Matthew Probert 1998-99; Adrian Ezquerro 1999-00; Luke Dudman 2001-02; Adam Fleming 2001-02; Matthew Hughston 2002-03; Daniel Rixon 2004-05; Ashley Doolan 2006-07; David Murphy 2006-07, 2007-08; Steven Smith 2006-07, 2007-08; Nic Maddinson 2008-09, 2009-10; Adam Zampa 2010-11; Kerrod White 2011-12; Ben Dwarshuis 2012-13; Riley Ayre 2013-14, 2014-15; Daniel Fallins 2013-14, 2014-15; Jonathan Rose 2014-15

#### **New South Wales Under 17**

Darrell Mann 1986-87, 1987-88; Greg Davison 1987-88; Jason Holley 1992-93; Matthew Bradley 1993-94; Daniel McLauchlan 1994-95; Daniel Godkin 1995-96; Luke Dudman 1999-00; Matthew Hughston 2000-01; Daniel Simpson 2004-05; Steven Smith 2005-06; Matthew Morgan 2006-07; Shayne Smith 2010-11; Adam Whatley 2010-11; Jamie Brown 2011-12; Kyle Brockley 2012-13; Daniel Fallins 2012-13; Jonathan Rose 2012-13, 2013-14; Tom Doyle 2013-14; Devlin Malone 2014-15

# New South Wales Under 16

Kevin Tuite 1981-82; Davyd Berry 1982-83; Phil Weatherall 1982-83; Nigel Brookes 1983-84; Tony Clark 1983-84; Jonathan Clark 1983-84; Richard Bennison 1984-85; Ben Connell 1984-85; Rodney Davison 1984-85; Chris Fox 1984-85; Trent Harvey 1984-85

# Metropolitan XI v. England

Paul Clark 1984-85

#### TEST PLAYERS WHO HAVE PLAYED FOR S.D.C.C.

Andre Adams (New Zealand), Tim Bresnan (England), Stuart Clark, John Dyson, James Franklin (New Zealand), Andrew Hilditch, Phil Jaques, Wayne Larkins (England), Stuart MacGill, Glenn McGrath, Norm O'Neill, Len Pascoe, Steve Rixon, Andy Roberts (West Indies), Steven Smith, Daryl Tuffey (New Zealand), Shane Watson.

#### FIRST CLASS PLAYERS WHO HAVE PLAYED FOR S.D.C.C.

Andre Adams	Navy Zanland, Avaldand, Eggav	Nic Maddinson	Australia A. N. C. W.
Andre Adams	New Zealand, Auckland, Essex, Hampshire, Nottinghamshire	Glenn McGrath	Australia A, N.S.W.
James Benning	-	Gleini McGraui	Australia, N.S.W., Middlesex,
Tim Bresnan	Leicestershire, Surrey	Daniel McLauchlan	Worcestershire
I IIII DI CSIIaII	England, England Lions, M.C.C.,		
Charact Class	Yorkshire	Peter Mancell	Tasmania
Stuart Clark	Australia, Australia A, N.S.W.,	Norm O'Neill	Australia, International Cavaliers,
m 10	Hampshire, Middlesex		N.S.W.
Ted Cotton	N.S.W.	Kerry Owen	N.S.W.
Rodney Davison	N.S.W.	Len Pascoe	Australia, N.S.W.
John Dyson	Australia, N.S.W.	Mark Powell	Northamptonshire
James Franklin	New Zealand, New Zealand A,	Paul Prichard	England A, Essex
	Wellington, Glamorgan, Middlesex,	Mark Ray	N.S.W., Tasmania
	Gloucestershire, Nottinghamshire	Steve Rixon	Australia, N.S.W.
Andrew Hilditch	Australia, N.S.W., South Australia	Andy Roberts	West Indies, Leeward Islands,
Justin Inglis	Mashonaland (Zimbabwe)	•	Combined Islands, Hampshire,
Phil Jaques	Australia, Australia A, N.S.W.,		Leicestershire, N.S.W.
-	Northamptonshire, Nottinghamshire,	Robert Smith	Otago
	Worcestershire, Yorkshire	Steven Smith	Australia, Australia A, N.S.W.
Harold Joseph	West Indies, Trinidad & Tobago	Daryl Tuffey	New Zealand, New Zealand A,
Justin Kenny	N.S.W.	<b>,</b>	Auckland, Northern Districts
Richard King	Auckland, Central Districts,	Shane Watson	Australia, Australia A, N.S.W.,
<b>U</b>	Otago		Queensland, Tasmania, Hampshire
Greg Lambert	Yorkshire	Richard Williams	Northamptonshire
Wayne Larkins	England, M.C.C, Durham,	Jason Young	N.S.W.
wy iio zwiiiiio	Northamptonshire, Eastern Province	Joseph Yovich	Northern Districts
Stuart MacGill	Australia, Australia A, N.S.W.,	Adam Zampa	N.S.W., South Australia
Studie Mucom	Western Australia.	radin Zampa	14.5. W., South Australia
	· · · · · · · · · · · · · · · · · · ·		
	Nottinghamshire, Somerset		

#### NATIONAL SELECTORS WHO HAVE PLAYED FOR S.D.C.C.

Andrew Hilditch 1996-11 (Chairman 2006-11)

#### NATIONAL TEAM COACHING STAFF WHO HAVE PLAYED FOR S.D.C.C.

Jock Campbell - Australia (Fitness Trainer) 2000-05; Shane Duff - Sri Lanka (Fitness Trainer) 2003-05; John Dyson - Sri Lanka (Team Coach) 2003-05, West Indies (Team Coach) 2007-09; Steve Rixon - New Zealand (Team Coach) 1996-99, Australia (Fielding Coach) 2011-14; Trent Woodhill - New Zealand (Assistant Coach) 2010-12, Pakistan (Batting Coach) 2013

# WINNERS OF THE ALLAN BORDER MEDAL (Australian Player of the Year)

Glenn McGrath 1999-00; Shane Watson 2009-10, 2010-11; Steven Smith 2014-15

#### WINNERS OF THE STEVE WAUGH MEDAL (NSW Player of the Year)

Phil Jaques 2005-06; Steven Smith 2009-10, 2011-12

# WINNERS OF THE BENAUD MEDAL (Player of the First Grade Final)

Glenn McGrath 1995-96; Jason Holley 1997-98

# WINNERS OF THE MICHAEL BEVAN MEDAL (Player of the Limited Overs Final)

Andre Adams 2009-10

#### WINNERS OF THE SHANE LEE MEDAL (Player of the Poidevin-Gray Shield Final)

Joel Brockley 2011-12, Jack Leaning 2014-15

# S.C.A CAPTAIN OF THE YEAR AWARDS

Adrian Craig - 4th Grade 2002-03; Matthew Parker - 2nd Grade 2005-06; Jason Holley - 2nd Grade 2008-09; Joel Burnett - 2nd Grade 2009-10

# **CLUB CHAMPIONSHIPS**

Season	Captains
1967-68	Norm O'Neill (1sts), Grant Le Huray (2nds), Bryan Hazell (3rds), Ken Hatherly (4ths)
1986-87	Paul Prichard (1sts), Grahame Barry & Brett Johnson (2nds), Barry Davison (3rds), Tom Iceton (4ths), Mick Jones (5ths), Justin Kenny (P-G)
1997-98	Jason Young (1sts), Martin Carroll (2nds), Gavin Kenny (3rds), Adrian Craig (4ths), David Costigan (5ths), Matthew Bradley (P-G), Tim Moreland (AWG)
2001-02	Shane Duff (1sts), Tony Clark (2nds), Mathew Duff (3rds), Adrian Craig (4ths), David Givney (5ths), Adrian Ezquerro & Brendan White (P-G), Jasem Rafique (AWG)

# **PREMIERSHIPS**

Season	Team	Captain
1965-66	Fourth Grade	Ross Longbottom
1967-68	Second Grade	Grant Le Huray
	Third Grade	Bryan Hazell
	Fourth Grade	Ken Hatherly
1969-70	First Grade - Rothmans L/O Knockout	Ted Cotton
1970-71	A.W. Green Shield	Ken Rose
1975-76	Third Grade	Grant Murphy
1978-79	Fifth Grade	Ken Lamb
1984-85	A.W. Green Shield	Trent Harvey
1985-86	A.W. Green Shield	Jeff Smith
1986-87	Third Grade	Barry Davison
	Fourth Grade	Tom Iceton
	Fifth Grade	Mick Jones
1007.00	A.W. Green Shield (Joint Premiers)	Darrell Mann
1987-88	Poidevin-Gray Shield	Phillip Weatherall
1988-89	Third Grade	Greg Fitzgerald
1000.00	Poidevin-Gray Shield	Tony Clark
1989-90	A.W. Green Shield	Nathan Morando
1992-93	A.W. Green Shield	Matthew Bradley
1993-94	Fourth Grade	Dominic Watson
1995-96	First Grade	Rodney Davison
1006.07	Second Grade	Kevin Tuite
1996-97	Second Grade	Kevin Tuite
1997-98	First Grade	Jason Young
1998-99	Third Grade	Gavin Kenny
1999-00	Poidevin-Gray Shield	Daniel Godkin
1999-00	Fourth Grade	Blake Hard
2000-01	Fifth Grade Fifth Grade	David Givney
2000-01	Fourth Grade	David Givney
2001-02	First Grade Limited Overs	Adrian Craig
2002-03	Third Grade	Shane Duff
2000-07	Fourth Grade	Jason Packer
2009-10	First Grade Limited Overs	Joel Burnett
2009-10	Fourth Grade	Matthew Hughston
2011-12	Third Grade	Chris Macnamara
ZU11-1Z	Fourth Grade	Aaron Phillips
	Poidevin-Gray Shield	Chris Macnamara
2014-15	Poidevin-Gray Shield	Adam Zampa
2017-13	1 ordevini-oray Sincid	Jack Leaning

# **FINALISTS**

Season	Team	Captain
1965-66	Poidevin-Gray Shield	Bruce Hopkin
1966-67	First Grade	Norm O'Neill / Ted Cotton
	Fourth Grade	Ross Longbottom
1968-69	Second Grade	Grant Le Huray
1969-70	Third Grade (draw - washed out)	Barry Pratt
	Poidevin-Gray Shield	Glen Bailey
1970-71	Fifth Grade (draw - washed out)	Stuart Hall
1971-72	Second Grade	Barry Pratt
1972-73	Third Grade	Ross Longbottom (Jnr)
1973-74	Fourth Grade	Grant Murphy
1974-75	Poidevin-Gray Shield	John Dyson
1978-79	A.W. Green Shield	Bill Perrott
1984-85	Fifth Grade	Kevin Rynne
1985-86	Fourth Grade	Tom Iceton
1987-88	Fifth Grade	Mick Jones
1989-90	Fourth Grade (draw - no play either day)	Tom Iceton
1992-93	Third Grade	Brett Johnson
	Fourth Grade	Mick Jones
1994-95	A.W. Green Shield	Daniel Godkin
1996-97	First Grade Limited Overs	Jason Young
2000-01	Third Grade	Mathew Duff
2002-03	Poidevin-Gray Shield	Adam Fleming
2006-07	Fifth Grade	David Givney
2009-10	First Grade	Matthew Hughston
	Second Grade	Joel Burnett
2012-13	First Grade	Phil Jaques / Adam Zampa
	A.W. Green Shield	Jonathan Rose
2013-14	A.W. Green Shield	Josh Horner

# **SEMI-FINALISTS (Top four introduced 1971-72)**

Season	Team	Captain
1972-73	Second Grade	Ian Napper
1973-74	Second Grade (draw - no play either day	Paul McDougall / Merv Black
1975-76	Second Grade	Barry Davison
1976-77	Second Grade	Bryan Dawson
1978-79	First Grade	Alan Campbell / Brian O'Dowd
1980-81	Fifth Grade	Bob Mills
1981-82	Third Grade	Grant Murphy
1984-85	Third Grade	Barry Davison
1985-86	Second Grade	Brett Johnson / Grahame Barry
	Fifth Grade	Craig Holden
1989-90	First Grade	John Dyson
1990-91	First Grade	John Dyson
1991-92	Second Grade	David Givney
	Third Grade	Paul Bourke
	Fifth Grade	Colin Christie
1993-94	Fifth Grade	Bob Duff
1995-96	Fifth Grade	David Givney
1997-98	Second Grade	Martin Carroll
	Third Grade	Gavin Kenny
	Fourth Grade	Adrian Craig
	Fifth Grade	David Costigan

# SEMI-FINALISTS (cont'd)

Season	Team	Captain
1999-00	Poidevin-Gray Shield	Phil Jaques
	A.W. Green Shield	Matthew Hughston
2000-01	Second Grade	Tony Clark
2001-02	Second Grade	Tony Clark
	Fifth Grade	David Givney
	A.W. Green Shield	Scott Pickering
	Poidevin-Gray Shield	Matthew Hughston
	First Grade	Matthew O'Brien
2007-08	Third Grade	Chris Williams
	Fourth Grade	Aaron Phillips
	Fifth Grade	David Givney / John Straker
2008-09		Steven Smith
	Second Grade	Jason Holley
	Fourth Grade	Ryan Chivers
	Third Grade	Aaron Phillips
2011-12	Fifth Grade	Greg Horner
	A.W. Green Shield	Trent Smith
2012-13	<b>,</b>	Phil Jaques / Adam Zampa
	Third Grade	Joshua Zywietz
2013-14	Fourth Grade	Chris Macnamara
	Fifth Grade	Greg Horner / Hayden Watson
2014-15	First Grade	Nathan Fitzgerald

# **QUALIFYING FINALISTS (Top six introduced 1998-99)**

Season	Team	Captain
1998-99	First Grade	Jason Young
	Fifth Grade	David Givney
2001-02	Third Grade	Mathew Duff
2003-04	A.W. Green Shield	Matthew Cork
2004-05	Fifth Grade	David Givney
2005-06	Third Grade	Lee Malin
	Fourth Grade	Brett Johnson
	A.W. Green Shield	Matthew Morgan
2009-10	A.W. Green Shield	Joel D'Imperio
2010-11	A.W. Green Shield	Jamie Brown
2013-14	Third Grade	Joshua Zywietz
2014-15	Third Grade	Kurt Brown

# QUARTER-FINALISTS (First Grade T20 introduced 2008-09, First Grade L/O, P-G Shield & AWG Shield introduced 2012-13)

Season	Team	Captain
2011-12	First Grade Twenty20	Matthew Hughston
2012-13	First Grade Limited Overs	Phil Jaques
	Poidevin-Gray Shield	Adam Zampa / Jamie Brown
2013-14	First Grade Twenty20	Phil Jaques
	Poidevin-Gray Shield	Ben Dwarshuis / Nathan Loder
2014-15	First Grade Limited Overs	Nathan Fitzgerald

# SUTHERLAND DCC - 1ST GRADE PLAYER NUMBERS

No.	Name	Debut	No.	Name	Debut	No.	Name	Debut
1	Norm O'Neill	25.9.65	56	Chris Russell	7.10.72	111	Gary Richardson	2.10.82
2	Bob Bain	25.9.65	57	Howard Reus	9.12.72	112	Harold Joseph	13.11.82
3	Merv Black	25.9.65	58	Alan Campbell	29.9.73	113	Graham Errington	27.11.82
4	Ted Cotton	25.9.65	59	Andrew Hilditch	29.9.73	114	Justin Kenny	18.12.82
5	Stan Gilchrist	25.9.65	60	Geoff Hilzinger	22.12.73	115	Gavin Kenny	29.1.83
6	Don Harkness	25.9.65	61	Ted Terone	22.12.73	116	Ken Williams	26.3.83
7	Bryan Hazell	25.9.65	62	Geoff Coleman	31.12.73	117	Tim Griffiths	24.9.83
8	Grant Le Huray	25.9.65	63	Bob Waddington	30.3.74	118	George Gazy	5.11.83
9	Ron Neill	25.9.65	64	John Henry	28.9.74	119	Jeff Steed	7.1.84
10	Jack Slattery	25.9.65	65	Peter Cox	28.12.74	120	Keith Meadows	28.1.84
11	Dick Taylor	25.9.65	66	Les Johns	27.9.75	121	Kevin Tuite	3.3.84
12	Bob Cartwright	23.10.65	67	Graham Rose	27.9.75	122	Phil Weatherall	24.3.84
13	Bruce Hopkin	23.10.65	68	David Russell	13.3.76	123	Scott Willis	24.3.84
14	Gary Parker	23.10.65	69	Andy Roberts	4.12.76	124	John Boyd	29.9.84
15	Stuart Toolin	6.11.65	70	Grahame Barry	8.1.77	125	David Niu	29.9.84
16	Laurie de Ville	3.1.66	71	Peter Mancell	12.2.77	126	Steve Funnell	3.11.84
17	Bevan Gardner	29.1.66	72	Lindsay Joyce	19.3.77	127	John O'Shaughnessy	5.1.85
18	John Philip	29.1.66	73	Warren Moodie	24.9.77	128	Mark Chapman	19.1.85
19	Les Ritchie	12.2.66	74	Eugene Nix	24.9.77	129	Andrew Walsh	26.1.85
20	Bob Wade	12.2.66	75	Alistair Daley	22.10.77	130	Evan Atkins	28.9.85
21	Colin Dodd	19.2.66	76	Bruce Malbon	22.10.77	131	David Coppock	28.9.85
22	Bob Every	5.3.66	77	lan Everett	17.12.77	132	Nigel Brookes	20.10.85
23	Gordon Shrubsole	5.3.66	78	Ken Hudson	17.12.77	133	Ben Connell	20.10.85
24	Mike Coleman	24.9.66	79	Fred Timbrell	4.3.78	134	David Simpson	2.11.85
25	Bryan Dawson	24.9.66	80	Paul Fisher	2.10.78	135	Richard Bennison	29.12.85
26	Barry Pratt	5.11.66	81	Bill Moffatt	2.10.78	136	Rodney Davison	29.12.85
27	Glen Bailey	12.11.66	82	Wayne Larkins	20.1.79	137	Nick Howard	29.12.85
28	Ron Erickson	26.11.66	83	Mark Ridge	27.1.79	138	Paul Prichard	11.1.86
29	Kerry Owen	2.10.67	84	Mark Preddey	17.2.79	139	Tony Clark	22.2.86
30	Graeme Stone	18.11.67	85	Steve Rixon	29.9.79	140	Rohan Shawl	15.3.86
31	Graeme Marston	20.1.68	86	Bob Jordan	20.10.79	141	Jason Horn	1.11.86
32	Brian Stephen	20.1.68	87	Wayne Heathcote	1.12.79	142	Martin Wood	13.12.86
33	Barry Davison	28.9.68	88	Richard Williams	1.12.79	143	Greg Fitzgerald	17.1.87
34	Warren Smith	28.9.68	89	Kerry Richards	29.12.79	144	David Givney	12.12.87
35	Kel Symons	7.12.68	90	Wayne Wishart	2.2.80	145	Greg Horner	24.1.88
36	Phil Atkins	11.1.69	91	Bob Buckland	27.9.80	146	Geoff Barron	24.9.88
37	Allen Humphries	11.1.69	92	Peter Ferguson	27.9.80	147	Paul Bourke	24.9.88
38	Adrian Worrell	11.1.69	93	David Pratt	18.10.80	148	Darrell Mann	24.9.88
39	Paul McCann	1.2.69	94	lan Moore	15.11.80	149	Greg Davison	14.10.89
40	Alan Griffiths	27.9.69	95	Malcolm McCool	22.11.80	150	Glenn McGrath	16.12.89
41	Peter Carpenter	6.10.69	96	lan Stephen	22.11.80	151	Shane Duff	3.11.90
42	Robert Thomas	8.11.69	97	Paul Clark	13.12.80	152	Craig Parsons	2.2.91
43	Graeme Warry	10.1.70	98	Kevin Humphreys	14.3.81	153	Jonathan Clark	23.2.91
44	Paul Venn	14.3.70	99	Matt Appleton	26.9.81	154	Trent Woodhill	16.11.91
45	John Bolster	3.10.70	100	Stephen Bray	17.10.81	155	Blake Hard	4.1.92
46	Bruce Warwick	3.10.70	101	Brett Johnson	24.10.81	156	Brett Kirby	15.2.92
47	Jim Ford	2.1.71	102	Mark Gardner	31.10.81	157	Tom Iceton	14.3.92
48	Paul McDougali	16.1.71	103	Robert Archibald	28.11.81	158	Stuart Clark	10.10.92
49	Bryan Gorman	23.1.71	104	Duncan Lang	28.11.81	159	Martin Carroll	28.11.92
50	Bob Duff	25.9.71	105	Peter Wilson	28.11.81	160	Jock Campbell	20.2.93
51	Alan Manzie	20.11.71	106	Stuart Keers	9.1.82	161	Tim Brennan	25.9.93
52	Ian Napper	20.11.71	107	Darren Smith	13.2.82	162	Matthew O'Brien	17.10.93
53	Steve Boehm	11.12.71	108	Graham Arnold	6.3.82	163	Jason Holley	30.10.93
54	John Dyson	7.10.72	109	Ken Rose	20.3.82	164	Jason Packer	31.10.93
55	Brian O'Dowd	7.10.72	110	Len Pascoe	2.10.82	165	Linton Ball	27.11.93

# SUTHERLAND DCC - 1ST GRADE PLAYER NUMBERS

No.	Name	Debut	No.	Name	Debut	No.	Name	Debut
166	Jamie Hall	3.1.94	197	Peter Wooden	28.9.02	228	Nic Maddinson	27.9.08
167	Danny Johnson	30.1.94	198	Daryl Tuffey	5.10.02	229	Michael Maclennan	27.9.08
168	Darren Holley	12.2.94	199	Matthew Hughston	9.11.02	230	Joe Yovich	27.9.08
169	Duncan Coots	24.9.94	200	Brad Roach	10.11.02	231	Ben Marciante	26.10.08
170	Darren Mitchell	24.9.94	201	Wes Croese	27.9.03	232	Chad Gilmour	15.11.08
171	Daniel McLauchlan	19.11.94	202	James Franklin	27.9.03	233	Nathan Whittingham	28.2.09
172	Matthew Bradley	4.2.95	203	Luke Fleming	4.10.03	234	Andre Adams	5.10.09
173	Stuart MacGill	23.9.95	204	Cameron Belshaw	12.10.03	235	Adam Zampa	25.9.10
174	Mathew Duff	9.3.96	205	Mark Powell	15.11.03	236	Joel Brockley	9.10.10
175	Daniel Godkin	9.3.96	206	Nathan Fitzgerald	29.11.03	237	Kurt Brown	18.10.10
176	Brad Guthrie	28.9.96	207	Daniel Rixon	21.12.03	238	Matthew Hopkins	22.1.11
177	Jason Young	28.9.96	208	Tim Freeburn	25.9.04	239	Mitch Brown	24.9.11
178	Phil Jaques	4.10.97	209	Michael Hansen	25.9.04	240	James Bills	22.10.11
179	Scott Manning	2.11.97	210	James Benning	7.11.04	241	Kerrod White	23.10.11
180	Paul Byrom	11.10.98	211	Shane Wallace	7.11.04	242	Shayne Smith	4.12.11
181	Chris Lake	18.10.98	212	Matthew Parker	13.11.04	243	Shane Watson	11.2.12
182	Matthew Probert	12.12.98	213	Joel Tuccia	12.3.05	244	Kyle Brockley	13.10.12
183	David Celep	9.1.99	214	Peter Dugmore	24.9.05	245	Jamie Brown	14.10.12
184	Paul Sutherland	25.9.99	215	Tim Bresnan	15.10.05	246	Ben Dwarshuis	14.10.12
185	Graeme Warren	29.1.00	216	Steven Smith	19.11.05	247	Grant Davies	4.11.12
186	Adrian Ezquerro	12.2.00	217	John Derwent	25.3.06	248	Daniel Fallins	28.9.13
187	Andrew Northridge	12.2.00	218	David Binggeli	14.10.06	249	Michael Holmes	28.9.13
188	Adam Fleming	24.2.01	219	Chris Williams	14.10.06	250	Peter Saroukos	28.9.13
189	Richard King	22.9.01	220	Anthony Clarke-Bruce	29.10.06	251	Riley Ayre	12.10.13
190	Robert Smith	22.9.01	221	David Murphy	29.10.06	252	Jack Leaning	27.10.13
191	Nathan Rosser	20.10.01	222	Nathan Rowe	22.9.07	253	Adam Whatley	3.11.13
192	Luke Dudman	3.11.01	223	Joel Burnett	18.11.07	254	Tom Pinson	14.12.13
193	Kurt Thessman	2.12.01	224	Jasem Rafique	9.12.07	255	Jonathan Rose	8.3.14
194	Greg Lambert	2.12.01	225	Louis Talay	15.12.07	256	Dylan Smith	20.12.14
195	Jess Hancock	8.12.01	226	Stephen Cush	16.2.08	257	Devlin Malone	10.1.15
196	Grant Roden	28.9.02	227	Scott Pickering	1.3.08			

# NORM O'NEILL CUP & MEDAL WINNERS

Season	Winner	Match Result	Medal Winner
2008-09 2009-10 2010-11 2011-12 2012-13	Sutherland Sutherland Sutherland St.George Sutherland	Sutherland won by 143 runs (L/O) Sutherland won by 53 runs on 1st inns Match drawn (Cup retained by Suth) St.George won by 28 runs on 1st inns Sutherland won by 9 wickets (L/O)	Stephen Cush (Suth – 149*) Steven Green (StG – 7-43) Phillip Wells (StG – 134*) Trent Copeland (StG – 33 & 6-46) Phil Jaques (Suth – 120)
2013-14 2014-15	N/A Sutherland	No match played Sutherland won by 3 wickets (L/O)	Matthew Hughston (Suth – 79*)

# **SUTHERLAND DCC - 1ST GRADE CAPTAINS**

No.	Name	1st Season	Matches Captained		ned	
		Captained	1sts	L/O *	T20 *	Total
1	Norm O'Neill	1965-66	28	1		29
2	Bryan Hazell	1965-66	7	'		7
3	Ted Cotton	1966-67	42	5		47
4	John Bolster	1970-71	30	2		32
5	Jack Slattery	1971-72	2	_		2
6	Barry Pratt	1972-73	15	3		18
7	lan Napper	1973-74	45	7		52
8	Alan Campbell	1975-76	45	•		45
9	Brian O'Dowd	1978-79	22			22
10	Peter Ferguson	1980-81	15			15
11	Steve Rixon	1981-82	35	2		37
12	Grahame Barry	1981-82	8			8
13	Barry Davison	1982-83	8			8
14	Graham Errington	1983-84	33			33
15	Len Pascoe	1985-86	13			13
16	Justin Kenny	1985-86	1	4		5
17	Paul Prichard	1986-87	14	2		16
18	Mark Chapman	1987-88	3			3
19	John Dyson	1988-89	77	3		80
20	Phil Weatherall	1989-90	4			4
21	Evan Atkins	1993-94	15	8		23
22	Rodney Davison	1995-96	15	4		19
23	Darren Mitchell	1995-96	14			14
24	Jason Young	1996-97	66	10		76
25	Shane Duff	2001-02	39			39
26	Phil Jaques	2003-04	40		7	47
27	Matthew Bradley	2003-04	15			15
28	Matthew O'Brien	2003-04	37			37
29	Michael Hansen	2004-05	19			19
30	Jason Holley	2006-07	19			19
31	Steven Smith	2008-09	6		5	11
32	Michael Maclennan	2008-09	3			3
33	Matthew Hughston	2008-09	61		2	63
34	Adam Fleming	2010-11	1			1
35	Adam Zampa	2012-13	7		2	9
36	Mitch Brown	2013-14	1			1
37	Nathan Fitzgerald	2014-15	18		4	22

<sup>\*</sup> Limited overs & T20 matches not part of main 1st Grade competition.

# BATSMEN SCORING CENTURIES IN FIRST GRADE AT GLENN McGRATH OVAL

Season	Player	Score	Opponent	Season	Player	Score	Opponent
1967-68	Norm O'Neill	123	Sydney	1999-00	Phil Jaques	100	Sydney Uni
	Colin Dodd	101 *	Sydney		Jason Young	102 *	Eastern Subs
1969-70	Alan Griffiths	102	Banks-Cant	2000-01	Matt Bradley	157	Uni of NSW
	Les Ritchie	101	Banks-Cant	2001-02	Matt Bradley	121	Nth Syd (L/O)
	Ted Cotton	125	Western Subs		Jason Young	141	Camp'town
1971-72	Glen Bailey	100 *	Sydney Uni		Phil Jaques	100	Eastern Subs
1974-75	John Dyson	100 *	Randwick	2003-04	Phil Jaques	151	Blacktown
	Brian O'Dowd	108	Sydney Uni		Mark Powell	109 *	Hawkes (L/O)
	Andrew Hilditch	118 *	Western Subs	2004-05	Matt O'Brien	111 *	Western Subs
1975-76	Brian O'Dowd	102	North Sydney		Matt O'Brien	118 *	St.George
1976-77	Andrew Hilditch	103 *	Western Subs	2005-06	Phil Jaques	155 *	Hawkesbury
1977-78	Andrew Hilditch	127 *	Gordon		Phil Jaques	128 *	Penrith
1980-81	Steve Rixon	110 *	St.George		Phil Jaques	144	Blacktown (L/O)
	Paul Clark	123	Sydney		Matt Hughston	155 *	Blacktown (L/O)
-	Paul Clark	109	Central Cumb		Luke Dudman	140	North Sydney
	Paul Clark	129 *	Waverley		Phil Jaques	108	Northern Dist
1984-85	Les Johns	166	Western Subs	2006-07	Matt Hughston	100 *	Penrith (L/O)
	Paul Clark	123	Petes-Marr		Phil Jaques	183 *	Parramatta
	Paul Clark	112	Sydney		Phil Jaques	131	Western Subs
1985-86		164 *	Hawkesbury		Steven Smith		Western Subs
	Paul Prichard	101	Manly-Warr		Steven Smith	116	Sydney Uni
	Justin Kenny	128 *	Manly-Warr	2007-08		125 *	Manly-Warr (L/O)
	Les Johns	101	Northern Dist	2008-09	Matt Hughston	124	Univ of NSW
1986-87		113	St.George		Steven Smith	158	Blacktown
1987-88		101	Sydney Uni	0000 40	Steven Smith	115	Rand Petes
1988-89		142	Parramatta	2009-10	Phil Jaques	114 *	Fairfield-Liv
	Greg Horner	153 136 *	Parramatta		Phil Jaques	136	Gordon
	Rod Davison	100	North Sydney		Nic Maddinson	142 105 *	Parramatta Northern Dist
	Rod Davison	141 130	Penrith Penrith		Andre Adams Steven Smith	171 *	Hawkesbury
1000.01	Steve Rixon Justin Kenny	157	Randwick		Matt Hughston	184	Syd Uni (Q. Fin)
1990-91	Justin Kenny	104 *	Hawkesbury		Nic Maddinson	137	East Subs (S-F)
	Tony Clark	113	Balmain		Matt Hughston	166	East Subs (S-F)
	Tony Clark	118 *	Parramatta	2010-11	•	121	Mosman
	Duncan Coots	105	Gordon	2010 11	Luke Dudman	117	Mosman
	Rod Davison	149	Fairfield-Liv	2011-12	Nic Maddinson	225	Penrith
1996-97		112	Camp'town		Phil Jaques	105 *	
1000-01	Jason Young	139	Gordon	2012 10	Phil Jaques	120	St.George (L/O)
1998-99	•	117	Balmain		Matt Hughston	107	Bankstown
1998-99	•	116	Manly-Warr	2014-15	-	122 *	Sydney
	Jason Holley	102	Banks-Cant		Mitch Brown	104	North Sydney
1999-00	•	212 *	Hawkesbury				•

# WICKETKEEPERS WITH 5 DISMISSALS IN AN INNINGS IN FIRST GRADE AT GLENN McGRATH OVAL

Season Player	Ct/St	Opponent	Season	Player	Ct/St	Opponent
1971-72 Bob Bain 1981-82 Brett Johnson 1982-83 Brett Johnson 1997-98 Linton Ball	5c 5c 5c/1st 5c	Mosman-MH Petes-Marr Sydney Uni Parramatta	2008-09	Linton Ball Linton Ball Daniel Rixon Daniel Rixon	5c 4c/1st 4c/1st 6c	Western Subs Banks-Cant Penrith (L/O) Camp-Camden
		-,, -				,

# BOWLERS TAKING FIVE WICKETS IN AN INNINGS IN FIRST GRADE AT GLENN McGRATH OVAL

Season	Player	Figures	Opponent	Season	Player	Figures	Opponent
1965-66	Merv Black	5-55	Mosman-MH	1990-91	Mark Chapman	7-108	Penrith
	Merv Black	5-61	Sydney		Phil Weatherall	7-57	Mosman-MH
	Ted Cotton	5-29	Balmain		Glenn McGrath	5-24	Randwick
1966-67	Merv Black	5-29	North Sydney		Mark Chapman	6-27	Waverley
	Merv Black	5-16	Sydney Uni		Phil Weatherall	6-44	Northern Dist
	Ted Cotton	5-16	Sydney Uni		Mark Chapman	5-53	Petes-Marr
	Merv Black	6-50	Randwick	1991-92	Glenn McGrath	6-64	Hawkesbury
1967-68	Ted Cotton	5-68	Randwick		Tony Clark	6-53	Fairfield-Liv
	Bob Every	5-63	Randwick		Phil Weatherall	6-56	Penrith
	Ted Cotton	6-46	North Sydney	1993-94	Glenn McGrath	7-47	North Sydney
1968-69	Brian Stephen	5-58	Sydney		Geoff Barron	5-21	Penrith (L/O)
1000 00	Ted Cotton	5-27	Sydney	1995-96		5-84	Randwick
	Glen Bailey	5-22	Northern Dist		Stuart Clark	6-62	North Sydney
1969-70	Ted Cotton	5-39	Northern Dist		Stuart MacGill	( 5-51	Parramatta
1000 10	Jack Slattery	6-67	Petes-Marr			( 6-44	Parramatta
	Ted Cotton	5-23	Sydney (L/O)	1996-97	Tony Clark	5-60	Uni of NSW
	Ted Cotton	5-90	Western Subs	1997-98	Brad Guthrie	5-36	Parramatta
1970-71	Jack Slattery	5-39	Sydney		Dan McLauchlan	7-97	Parramatta
101011	Bruce Warwick	5-28	Randwick		Dan McLauchlan	5-29	Petes-Marr
	Jack Slattery	9-66	Randwick	1998-99	Daniel Godkin	5-51	Balmain
	Jack Slattery	5-36	Petes-Marr	.000 00	Stuart Clark	6-51	Eastern Subs
	Allen Humphries	6-67	North Sydney		Jason Holley	5-17	Western Subs
	Bryan Gorman	5-39	Central Cumb		Paul Byrom	5-11	Uni of NSW
	Jack Slattery	5-41	Central Cumb	1999-00	Stuart Clark	6-77	Parramatta
1971-72	Bryan Gorman	5-48	Petes-Marr		Paul Sutherland	5-89	Hawkesbury
	Bryan Gorman	5-69	Manly-Warr		Stuart Clark	5-16	North Sydney
1973-74	•	5-6	Waverley (L/O)		Dan McLauchlan	5-82	Penrith
	lan Napper	5-32	St.George (L/O)		Dan McLauchlan	5-114	St.George
	lan Napper	6-63	Northern Dist	2000-01	Dan McLauchlan	6-80	Gordon
	Bryan Gorman	5-33	St.George	2001-02	Graeme Warren	5-52	St.George
1974-75	Bryan Gorman	5-28	Sydney		Adam Fleming	5-46	Rand Petes
1975-76	Graham Rose	5-50	North Sydney	2002-03	Scott Manning	6-22	Hawkesbury
	Bryan Gorman	5-48	Northern Dist		Grant Roden	5-95	UTS-Balmain
1976-77	Merv Black	5-46	Western Subs	2003-04	Stuart Clark	5-45	Blacktown
1977-78	Eugene Nix	6-36	Western Subs		Cam Belshaw	6-41	Hawkes (L/O)
1980-81	Wayne Wishart	6-45	Western Subs	2004-05	Cam Beishaw	5-53	Gordon (L/O)
	Bob Buckland	5-60	Mosman-MH		Tim Freeburn	6-19	Rand Petes
	Grahame Barry	5-34	Banks-Cant		Grant Roden	6-58	Camp-Camden
1981-82	Duncan Lang	6-55	Balmain	2005-06	Tim Bresnan	6-35	Mosman
	Robert Archibald		Petes-Marr		Luke Dudman	5-84	Northern Dist
	Mark Gardner	5-39	Penrith		Luke Fleming	7-20	Western Subs
	Grahame Barry	9-82	Sydney	2007-08	Daryl Tuffey	5-39	Bankstown
1982-83	Harold Joseph	5-67	Sydney Uni		Nathan Fitzgerald	5-54	Fairfield-Liv
	Harold Joseph	5-60	Randwick		Joel Tuccia	5-38	Hawkesbury
1984-85	Mark Gardner	5-67	Univ of NSW	2009-10	Andre Adams	6-46	Parramatta
	Grahame Barry	5-49	Parramatta		Nic Maddinson	5-95	East Subs (S-F)
1985-86	Mark Chapman	6-71	Waverley	2010-11	9	5-60	Mosman
	Tony Clark	5-71	Northern Dist		Adam Fleming	5-39	Blacktown (L/O)
1986-87	•	6-117	St.George		Adam Fleming	5-56	Sydney Uni
4655	David Coppock	5-33	Parramatta		Adam Fleming	( 6-27	Camp-Camden
1988-89		5-58	Parramatta	0044.45	Adam Fleming	( 5-43	Camp-Camden
	Darrell Mann	5-92	North Sydney	2011-12	_	5-37	St.George
	Mark Chapman	5-80	Balmain	2012-13	Nathan Fitzgerald	5-46 5-79	Blacktown
	Mark Chapman	6-42	Hawkesbury	0040 44	Nathan Fitzgerald	5-78	Bankstown
4000.00	Mark Chapman	6-30	Western Subs		Nathan Fitzgerald	6-32	Sydney Uni
1989-90		6-29	Parramatta	∠014-15	Nathan Fitzgerald	9-102	Sydney
	Tony Clark	5-53	Banks-Cant				

# AWARD WINNERS EACH SEASON

	Bob Every Encouragement Award			Joel Tuccia Chad Gilmour Joel Brockley Liam Casey Shayne Smith Ben Dwarshuis Tom Pinson Jamie Brown
1978-79 Gary Rose 1983-84 Paul Clark 1988-89 Kevin Tuite 1993-94 Tony Clark	"Tradies" SDCC AW Green Shield f Encouragement Award		Alec Judd Nick Sharman	Shayne Smith Adam Whatley Ben Dwarshuis Brendan Drury Daniel Fallins Jonathan Rose Colin D'Arcy Alex Lee
Steve Wishart Paul Clark Geoff Coleman Tony Clark	Ken Gardner Memorial Award (Under 16 Player of the Year)	Troy Fenech Michael Culkoff Luke Dudman Luke Dudman Matthew Hughston	Michael Elliott Chris McCarron Jay Davis Daniel Simpson Steven Smith Grant Davies Ben Marciante	Mark Rice Dylan Smith Shayne Smith Jamie Brown Trent Smith Tom Doyle Josh Horner
Bruce Booker 1977-78 Grahame Barry 1982-83 Geoff Coleman 1987-88 Tony Clark 1992-93	Margaret Mann Memorial Award (Under 21 Player of the Year)	Jamie Hall Andrew Northridge Matthew Bradley Daniel McLauchlan Philip Jaques Philip Jaques	Adrian Ezquerro Luke Dudman Adam Fleming Luke Dudman Steven Smith Steven Smith Steven Smith	Steven Smith Ben Marciante Joel Brockley Kerrod White Joel Brockley Ben Dwarshuis Jack Leaning Jamie Brown
76-77 81-82 86-87 11-92	James A. Daly Memorial Award (Player of the Year)	Jason Packer Phil Purcell Adrian Craig Jason Holley Andrew Northridge Jason Dunbar	Tony Clark David Eaglesham Tony Clark David Celep Steven Smith Luke Dudman Steven Smith	Steven Smith Steven Smith Scott Dawes Adam Fleming Joel Brockley Matthew Hughston Chris Macnamara Mitch Brown
James A. Daly Memorial Award (Player of the Year)         1974-75 Alan Campbell       1975-76 Geoff Glover       1979-80 Robert Noyes       1980-81 Ken Rose       198         1984-85 Barry Davison       1985-86 Barry Davison       198         1989-90 Blake Hard       1990-91 Phil Weatherall       199	Ted Cotton Memorial Award (Players' Player of the Year)		David Eaglesham Tony Clark Brody Harwin Matthew O'Brien Luke Dudman Mathew Earley	Steven Smith Matthew Bradley Scott Dawes Adam Fleming Luke Dudman Nathan Fitzgerald Chris Macnamara Mitch Brown
James A. Daly Memori 1974-75 Alan Campbell 1979-80 Robert Noyes 1984-85 Barry Davison 1989-90 Blake Hard	Tom Iceton Club Person of the Year Award	lan Lumb Kevin Tuite Tom Iceton Greg Ball Geoff & Maureen	John Houston Tony Clark Tom Iceton Ray Brennan Grant Roden Bob Manning Allan & Helen Morgan	Tom lecton Philip Jaques Nathan Fitzgerald Lee Prescott Kylie Smith Allison Brockley Paul Brockley Susan Whatley
		1994-95 1995-96 1996-97 1997-98 1998-99 1999-00	2000-01 2001-02 2002-03 2003-04 2004-05 2005-06	2007-08 2008-09 2009-10 2010-11 2011-12 2012-13 2013-14

# **OFFICE BEARERS**

PATRON		DEPUTY	PRESIDENT
1965-67	Arthur Mailey	1965-66	Bryan Hazell
1967-77	Arthur Bombell	1966-68	Arthur Bombell
1977-88	Ross Cribb	1968-69	Ron Neill
1988-02	Alan Cramond	1969-72	Mort Edson
2002-12	Geoff Coleman	1972-76	Gordon Anderson
2012-15	Bob Every	1976-78	Bryan Hazell
		1978-79	Grant Murphy
PRESIDENT		1979-80	Gordon Anderson
		1980-92	Geoff Glover
1965-66	Don Stewart	1992-94	Kevin Humphreys
1966-76	Bryan Hazell	1994-95	John Dyson
1976-88	Alan Cramond	1995-00	Harry Peters
1988-94	Tom Iceton	2000-04	Bob Duff
1994-00	Geoff Coleman	2004-15	Mathew Duff
2000-06	Brett Johnson		
2006-15	Steve Rixon	TREASU	RER
SECRETARY		1965-71	Len Gillam
	ANI	170571	Den Omam
		1971-78	Kevin Fennell
1965-79	John Smythe	1971-78 1978-79	Kevin Fennell Reg Hobden
1979-81	John Smythe Grant Murphy	1971-78 1978-79 1979-80	Kevin Fennell
1979-81 1981-82	John Smythe Grant Murphy Ken Lamb	1971-78 1978-79 1979-80 1980-83	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton
1979-81 1981-82 1982-83	John Smythe Grant Murphy Ken Lamb Don Masters	1971-78 1978-79 1979-80 1980-83 1983-84	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan
1979-81 1981-82 1982-83 1983-88	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed
1979-81 1981-82 1982-83 1983-88 1988-92	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney
1979-81 1981-82 1982-83 1983-88 1988-92 1992-94	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys Kevin Holley	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95 1995-02	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney Adrian Craig
1979-81 1981-82 1982-83 1983-88 1988-92 1992-94 1994-95	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys Kevin Holley Colin Christie	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95 1995-02 2002-04	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney Adrian Craig Tom Iceton
1979-81 1981-82 1982-83 1983-88 1988-92 1992-94 1994-95 1995-06	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys Kevin Holley Colin Christie David Givney	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95 1995-02 2002-04 2004-06	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney Adrian Craig Tom Iceton Bob Manning
1979-81 1981-82 1982-83 1983-88 1988-92 1992-94 1994-95 1995-06 2006-09	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys Kevin Holley Colin Christie David Givney Mark Chapman	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95 1995-02 2002-04	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney Adrian Craig Tom Iceton
1979-81 1981-82 1982-83 1983-88 1988-92 1992-94 1994-95 1995-06	John Smythe Grant Murphy Ken Lamb Don Masters Tom Iceton Kevin Humphreys Kevin Holley Colin Christie David Givney	1971-78 1978-79 1979-80 1980-83 1983-84 1984-89 1989-95 1995-02 2002-04 2004-06	Kevin Fennell Reg Hobden Fred Malbon Tom Iceton John Hannigan Stan Steed David Givney Adrian Craig Tom Iceton Bob Manning

# DELEGATES TO N.S.W.C.A. / S.C.A.

N.S.W.C.A.		S.C.A.	
1965-67	Don Harkness	1986-89	Geoff Glover
1965-78	Bryan Hazell	1986-15	Tom Iceton
1967-68	Norm O'Neill	1989-90	John Dyson
1968-69	Ted Cotton	1990-92	Mark Chapman
1969	Ron Neill	1992-95	Kevin Humphreys
1969-79	John Smythe	1995-01	Mathew Duff
1978-84	Alan Cramond	2001-10	Ray Brennan
1979-85	Grant Murphy	2010-11	Craig Rice
1984-86	Tom Iceton	2011-15	Evan Atkins
1985-86	Geoff Glover		
1990-15	Tom Iceton		

There were no delegates from clubs to N.S.W.C.A. from 1986-87 to 1989-90. Tom Iceton served as a delegate from S.C.A. to N.S.W.C.A. 1987-90.

# **CHAIRMAN OF SELECTORS**

1970-72	Mort Edson	1982-83	Steve Rixon
1972-73	Ross Longbottom, Snr	1983-84	Ken Lamb
1973-76	Gordon Anderson	1984-92	Tom Iceton
1976-77	Bob McDonald	1992-94	John Dyson
1977-79	Gordon Anderson	1994-04	Bob Duff
1979-81	Grant Murphy	2004-13	Evan Atkins
1981-82	Barry Davison	2013-15	Phil Weatherall

# OTHER COMMITTEE POSITIONS

Gordon Anderson Brian Ansell Evan Atkins Bill Bailey Bob Bain Linton Ball Grahame Barry Merv Black Geoff Blundell Steve Boehm John Bolster Arthur Bombell Geoff Bradley Matthew Bradley Ray Brennan Paul Burg Joel Burnett Alan Campbell Peter Carpenter Mark Chapman Colin Christie Graham Chudleigh Geoff Coleman Malcolm Condon Ted Cotton Andrew Cover David Cush Jim Daly Barry Davison	1976-79 1968-69 1990-94, 2000-11 1970-71 1969-70 1994-95 1982-90 1967-69 1965-69 1973-74 1971-72 1965-66 1997-00 2007-08 1995-98, 2000-10 2013-15 2009-14 1975-77 1971-75 1989-94, 2002-06 1990-93 1972-73, 1980-81 1978 1994-95 1965-71 1979-80 2010-15 1965-72 1986-88	Ken Hatherly Andrew Hilditch Reg Hobden Jason Holley John Houston Matthew Hughston Kevin Humphreys Tom Iceton Brett Johnson Lindsay Joyce John Kenny Rex King Ken Lamb Duncan Lang Des Lawrence Grant le Huray Ian Lumb Fred Malbon Claude Mann Bob Manning Geoff Marston Graeme Marston Bob McDonald Paul McDougall Carl McGinn George Merritt Grant Murphy Ian Napper Ron Neill	1966-70 1979-81 1965-68 2007-10 2001 2011-13 1987-88 1978-80, 1994-02, 2004-06 1993-94 1978-81 1983-87, 1988-89 1965-67 1980-81, 1982-84 1988-89 1968-69 1967-70 1995-97 1974-78 1989-94 2002-04, 2010-15 1971-75 1971-73 1974-79 1972-73 1969-71, 1973-75 1967-70 1974-78 1971-76 1965-68
		Ian Napper	
Bryan Dawson Bob Duff Mathew Duff	1973-75, 1976-77 1993-00, 2004-05 1995-04	Brian O'Dowd Norm O'Neill Peter O'Rourke	1973-74, 1979-81 1965-68 1995
Jason Dunbar John Dyson Mort Edson	1998-01 1989-93 1968-69	Harry Peters Barry Pratt Ken Prendergast	1994-95 1972-74 1970-75
John Fleming Murray French Bob Gamble Ken Gardner	2001-02 1970-71 1969-70 1982-86	Lance Ray Howard Reus Les Ritchie Steve Rixon	1969-70 1975-76 1968-70, 1972-73 1979-81, 1989-90
David Gazzard Stan Gilchrist David Givney Geoff Glover	1970-71 1965-66, 1969-70 1987-89, 2006-07 1974-76, 1978-80	Kevin Rynne Gordon Shrubsole Jack Slattery Peter Smith	1979-81, 1989-90 1986-89 1970-71 1970-72 2006-11
Bryan Gorman Brian Hall Stuart Hall John Hannigan Don Harkness	1971-72, 1976-77 2011-15 1969-72 1982-83, 1984-86 1965-68, 1969-71	Kel Symons Paul Venn Graham Warry Nathan Whittingham	1969-70 1977-78, 2005-07 1972-74 2014-15

# ANNOUNCEMENT OF "BEST TEAM OF THE 50 YEARS"

As part of the celebrations of the Club's 50th season, the Committee decided that a "Team of the First 50 Years" should be selected. The only criterion for selection was that players should have played a minimum of 25 matches for the Club. The selection panel was Evan Atkins, Bob Duff and Tom Iceton, who have a combined 27 years' experience as Chairmen of Selectors between 1984 and 2013.

The team (in batting order) is:

#### JOHN DYSON

John played 143 first grade matches for the club, scoring 4331 runs at 36.70. In first class cricket, he played 156 matches for 9935 runs at an average of 40.22, while his Test career spanned 30 matches, in which he scored 1359 runs at 26.65, with two centuries.

#### ANDREW HILDITCH

Andrew played 93 first grade matches before he moved to Adelaide, scoring 3107 runs at 32.71. In first class cricket, he played the same number of matches as John, 156, and marginally eclipsed him with 9962 runs at 37.88. He played 18 Test matches for 1073 runs at an average of 31.56, with two centuries.

#### NORM O'NEILL

After playing for St.George for the bulk of his career, Norm joined Sutherland when the club was formed, as the inaugural first grade captain. He played 28 matches and scored 1087 runs at an average of 37.48. When combined with his St.George stats, his first grade record is 4966 runs at 53.98. He played 188 first class matches and scored 13859 runs at 50.95 with 45 centuries, while in 42 Tests, he scored 2779 runs at 45.56, with 6 centuries.

# PHIL JAQUES

Phil is the leading first grade run-scorer for Sutherland, with 9383 runs in 203 matches at an average of 45.77. This includes 21 centuries, the highest being his remarkable 321 which is referred to in tonight's program. He played 200 first class matches and scored 16035 runs at 48.30, with 44 centuries. His Test career, disappointingly cut short by injury, comprised 11 matches in which he scored 902 runs at 47.47, with three centuries.

# • STEVEN SMITH

Steve has played 68 first grade matches so far, scoring 3149 runs at an average of 49.20 – the highest average of any player to have scored at least 1000 runs in first grade for the club. He has also taken 96 wickets in first grade at 28.77. His first class career currently stands at 69 matches for 5536 runs at 51.26 with 17 centuries, plus 58 wickets. In his 26 Tests, he has scored 2304 runs at an average of 52.36, with 8 centuries.

#### RODNEY DAVISON

The captain of the club's initial first grade premiership side, Rodney played 97 first grade matches for the club, in which he scored 4030 runs at 40.30. For all clubs in Sydney & Brisbane, he scored 13583 runs in first grade, with 30 centuries. He played 39 first class matches for NSW, scoring 2300 runs at 35.38, including a century on debut.

#### STEVE RIXON

Steve played 69 first grade matches for the club, scoring 2210 runs at 31.13 and effecting 117 dismissals as wicketkeeper. He played 151 first class matches, scoring 4303 runs at 23.13 and making 460 wicketkeeping dismissals. This included 13 Tests for 394 runs and 47 dismissals.

# TED COTTON

Ted joined the new club from Paddington and played 77 matches. He scored 1799 runs at 25.34 and took 179 wickets at 15.60. This included a first grade century and 9-24, the best bowling figures in first grade for the club. When his Paddington figures are added, he had the remarkable record of 7568 runs at 28.03 and 587 wickets at 18.12. In an era when NSW was extremely dominant during the 1950s, Ted played 6 first class matches for NSW.

#### MARK CHAPMAN

Mark played 158 first grade matches for the club, scoring 1344 runs at 16.19 and taking 296 wickets at 26.38 with his left arm spinners.

# STUART CLARK

Stuart played 123 first grade matches for Sutherland, scoring 1076 runs at 11.96 and taking 332 wickets at 16.81. He played 113 first class matches, taking 393 wickets at 27.53. This included 24 Tests in which he took 94 wickets at 23.86.

# • GLENN McGRATH

Glenn played 56 first grade matches for the club, scoring 129 runs at an average of 6.79 and taking 140 wickets at 16.81. He played 189 first class matches, in which he took 835 wickets at 20.86. He played 124 Test matches, taking 563 wickets at an average of 21.64 – the highest aggregate by a pace bowler in Test history.

# • **TONY CLARK** (12th Man)

Tony played 214 first grade matches for Sutherland (the most first grade matches played for the club), scoring 4392 runs at 22.07 and taking 360 wickets at 21.68. He made his first grade debut on the 22nd of February 1986 and is still playing first grade 29 years later, for the Blacktown club (having also played for Campbelltown-Camden after he left Sutherland). He became only the second player to play 400 first grade matches in Sydney grade cricket earlier this season and his career record now stands at 410 matches, 7231 runs and 623 wickets.

#### PHOTOGRAPH CREDITS

Front Cover: Steve Smith waiting for the coin toss before the 4th Test

(courtesy of Getty Images)

Inside Front: Poidevin-Gray Shield premiers (courtesy of Allina Brown)

Inside Back: Mitch Brown, winner of the Ted Cotton & James A Daly Memorial

Awards (courtesy of St.George & Sutherland Shire Leader)

Nathan Fitzgerald leaving the field after taking 9-102 on the Player

Reunion Day (courtesy of Sue Whatley)

Back Cover: "Team of the Half Century" – Mark Chapman, Steve Smith, Phil Jaques,

Steve Rixon, Stuart Clark, Tony Clark, John Dyson, Lisa Griffiths (daughter of Ted Cotton), Kristen Davidson (daughter of Norm O'Neill),

Rodney Davison. Absent: Andrew Hilditch, Glenn McGrath.

(photo courtesy of Ineke Zondag Photography)

50th Dinner: Alan Jones, Brian Booth & Stan Gilchrist, Shane Watson & Steve Smith

and Michael Clarke (all courtesy of Ineke Zondag Photography)
Tom Iceton presenting honour cap to Steve Smith and Life Members
(both courtesy of John Veage, St.George & Sutherland Shire Leader)

1st Grade: Photo courtesy of Allina Brown

Life Members present at the 50th Anniversary Dinner were:

Harry Peters, Steve Rixon, Kevin Tuite, Bob Duff, Brett Johnson, Geoff Coleman, Julia Coote, Tony Clark, Grahame Barry, Geoff Glover, Bryan Hazell, John Smythe, Mathew Duff, Keith Meadows, Tom Iceton, Evan Atkibns & David Givney.





